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1 Z= B fn i B Ly KA KR 1 340
9 1hAE A Bl A AL A RATIEAR 1 340
3 F4HH R A EA AL KA AR 2 680
4 EES BEaE Y KA AR 1 400
5 215 WEHE WE KA KR 2 680
6 =B R WEHE HE RAT R AR 3 1020




7 THER BEHE WE KA R AR 4 1360
8 KR & BEHE WE KA EAR 2 680
9 e BEHE W KA R AR 1 400
10 A FF BEEHE NE KA EAR 3 1200
11 EFEM BEHE WE KA R AR 2 680
12 #EA BEHE WE KA R AR 2 680
13 TR X BWEHE HiE RAT KR 1 460
14 MEW BEHE WE KA EAR 2 800
15 x| & BoEHE YiE KA R AR 1 400
16 KT BEHE ME KA R AR 2 680
17 R BEHE WE KA R AR 1 400
18 FHY BEHE WE KA EAR 1 400
19 AFE BEEE YE KA R AR 3 1020
20 EFX BEHE WE KA EAR 5 1700
21 X &% BEHE WE KA R AR 1 400
22 X X B BoEaE Y KA R AR 1 340
23 K F A BEHE M KA R AR 3 1020
24 =4k BEHE WE KA EAR 1 460
25 TRE BEEE YE KA R AR 2 800
26 7k B F %&%ﬁ%ﬁ "? RAT KR 2 800
27 7K F R BEHE b KA R AR 1 400
28 fic BE A b KA EAR 4 1360
29 AR BE A b KA R AR 4 1360
30 K& 7 BEHE = KA EAR 1 460
31 FER BE R4 KA EAR 1 340
32 e BE & KA R AR 2 800
33 F#E ¥E HE RAT KR 1 340
34 A% BEEE KA EAR 1 400




35 R a BEEE =X KA R AR 1 340
36 L BEHE =X KA EAR 2 920
37 KA A BEEE =F RAT KR 1 340
38 KEE BEEE =X KA EAR 2 680
39 218 4 BEHE =X KA R AR 1 400
40 ] BEEE =% RAT KR 2 680
41 7K At WEHE =F RAT KR 2 800
42 LEN BEEE =X KA EAR 1 400
43 KA BEEE =% RAT KR 3 1020
44 e WEHE =F RAT KR 1 400
45 T IF 4 BEEE =X KA R AR 3 1020
46 F ¥4 BEHE =X KA EAR 1 340
47 Tk AR 3 BEEE =F RAT KR 2 800
48 ¥ X% BEEE =X KA EAR 2 680
49 B AL BEHE =X KA R AR 3 1020
50 = A E BEEE =% RAT KR 2 920
51 L E A RAE A& RAT KR 4 1360
52 2 AN BAEHE A1k KA EAR 1 340
53 /A RAE A& RAT KR 1 460
54 P o RACE A& RAT KR 1 400
55 =15 RAEE % KA R AR 5 1700
56 H A H REE Mk KA EAR 6 2040
57 B X RAE Ak RAT KR 3 1200
58 F4&F RAEE % KA EAR 2 920
59 Bt 5 RAEHE % KA EAR 1 400
60 EIF1F RACE Ak RAT KR 1 340
61 M EA AL RAE A& RAT KR 4 1360
62 i S RAEE % KA EAR 4 1360




63 B fR 2 RAEE % KA R AR 2 680
64 i REE Mk KA EAR 1 340
65 KA REE g KA R AR 1 400
66 ¥Rz RAEE % KA EAR 2 680
67 B B4R RAEHE % KA R AR 1 340
68 TR RAE Ak RAT KR 1 400
69 GLES BALE Ak KA R AR 1 340
70 2 AR RAEE % KA EAR 1 340
71 & e-F RAE Ak RAT KR 1 340
72 EE 3 RAEHE AR KA R AR 2 680
73 X B B BALHE Ak KA R AR 5 1700
74 Exl=l RAEHE % KA EAR 4 1600
75 # He BALLE ATk KA R AR 1 400
76 A E RAEE % KA EAR 1 340
77 Jaliotca BAEE Kk KA R AR 1 460
78 A A K RAE EE RAT KR 2 680
79 & E % RAE EE RAT KR 1 340
80 S BEE EE KA EAR 2 680
81 B IF % RAE EE RAT KR 1 340
82 Z 4 REE EE KA R AR 2 680
83 FX# BEE B KA R AR 2 680
84 TAHE RAEHE EE KA EAR 1 340
85 s BRAE EE RAT KR 1 340
86 % E &b BRAEE EE KA EAR 1 340
87 H B X R EE KA EAR 1 340
88 B fn 4 RAHE EE RAT KR 1 340
89 K i B4 EE KA R AR 2 800
90 MEA K BEE EE KA EAR 3 1020




91 B BiEE Xk KA R AR 1 460
92 F¥= REHE Xk KA EAR 2 680
93 MBRA RAELE Xk RAT KR 3 1020
94 ZinK BEE Xk KA KR 1 460
95 A RAEHE Xk KA R AR 1 340
96 [ RAE Xk RAT KR 2 800
97 M X & RAEE Xk RAT KR 2 800
98 Bin g BRAEHE Xk KA EAR 4 1840
99 A RAELE Xk RAT KR 1 340
100 Kk 7 BREE X KA R AR 1 340
101 BB BiEE Xk KA R AR 2 680
102 KA RAEHE Xk KA EAR 1 340
103 TR RAELE Xk RAT KR 1 400
104 B BEE Xk KA EAR 3 1200
105 FH= REHE X KA R AR 2 680
106 7 25 A RAE Xk RAT KR 2 800
107 HEE RAEE Xk RAT KR 1 400
108 PR 4 BEE Xk KA EAR 3 1020
109 B o RAELE Xk RAT KR 1 400
110 KEA RAHE Xk RAT KR 2 800
111 FR%Z BiEE Xk KA R AR 3 1380
112 IR RAEHE Xk KA EAR 2 680
113 =5 RAELE Xk RAT KR 1 340
114 BEA BEE Xk KA EAR 3 1020
115 TR A REHE X KA EAR 4 1360
116 e HtE =T KA R AR 1 400
117 XB A AR H#iE =T KA R AR 1 460
118 Fx= A#iE £ T KA EAR 1 400




119 HAE A#iE £ T KA AR 3 1200
120 THEZ At =T KA & AR 3 1020
121 # 1F T HEiE =T KA R AR 1 400
122 # 71 B A £T KA EAR 5 2300
123 =K AgrE 2T KA R AR 1 400
124 e M AF H#E =T KA R AR 3 1380
125 ik A =21 KA R AR 1 400
126 T ERA A#E =T KA AR 1 460
127 £ 0 ¢ H#iE =T KA R AR 3 1200
128 % 7 R H#iE &1 KA R AR 2 920
129 & AgrE 21 KA AR 1 460
130 £ F R A#iE £ T KA EAR 2 680
131 Bk AT =T RAT KR 2 920
132 AAE A £ T KA EAR 1 400
133 e AgrE =21 KA R AR 2 680
134 FTHEE H#E =T KA R AR 1 340
135 G I At =T KA R AR 1 340
136 ok 4 % A £ T KA AR 3 1020
137 FER HEE =T KA R AR 1 340
138 x4k H#E &1 KA R AR 3 1200
139 &K At £ T KA & AR 6 2040
140 Y HE A £ T KA EAR 1 340
141 RS HtE =T KA R AR 3 1020
142 [ AT =T KA EAR 1 340
143 W o R T KA EAR 1 340
144 JE AR 3 B REE H KA R AR 1 400
145 KRS FRE W RAT KR 1 340
146 7 o R T KA EAR 1 340




147 ESiES o R4 T KA R AR 1 340
148 FE& R T KA EAR 1 340
149 % W FRE W RAT KR 1 460
150 Z & g0 o R W KA EAR 1 340
151 F 4R o R T KA R AR 2 680
152 FH¥ RE KA R AR 1 340
153 EN FRE W RAT KR 1 340
154 IS o R W KA EAR 1 340
155 X F 4R T RE W RAT KR 3 1200
156 x| IF % T RE W RAT KR 1 340
157 e H R4 T KA R AR 1 400
158 kE o R T KA EAR 2 680
159 &AW FRE W RAT KR 1 340
160 ik oA T KA EAR 2 680
161 Bz A HHT KA R AR 1 340
162 F AL R It KA R AR 1 340
163 itk FRE W RAT KR 2 680
164 e o R T KA EAR 1 340
165 FH FRE W RAT KR 1 340
166 2oL T RE W RAT KR 1 340
167 Kk 'E o R T KA R AR 1 340
168 Tk o HE ¥ RE HHT KA EAR 1 340
169 AL A, FRE W RAT KR 2 680
170 Tz H A W KA EAR 2 680
171 X IF 12 A HHT KA EAR 1 340
172 B FRE W RAT KR 1 340
173 B kA& FRE W RAT KR 1 400
174 AR o R T KA EAR 1 340




175 B I FRE T KA R AR 1 340
176 kER R T KA EAR 2 800
177 JA# T FRE W RAT KR 1 340
178 e o R W KA EAR 1 340
179 Py 3 A HHT KA R AR 1 340
180 HHF T RE W RAT KR 2 680
181 RHEE FRE KA R AR 1 340
182 EEES o R W KA EAR 1 340
183 = PE T RE W RAT KR 2 680
184 K7 T RE W RAT KR 1 340
185 i H R4 T KA R AR 1 340
186 7k IF AX o R T KA EAR 1 340
187 7k 7 3 FRE HH KA R AR 1 400
188 KR oA T KA EAR 1 340
189 X B F o R4 T KA R AR 2 680
190 e T RE W RAT KR 1 340
191 X B BTFEE BT KA R AR 1 460
192 I R BFESE BT KA KR 1 400
193 X R E BTEHE R KA R AR 4 1840
194 2= BT EHE B RAT KR 5 1700
195 eSS BFEE BT KA R AR 2 800
196 AR A BFEE BT KA EAR 3 1020
197 FRY¥ BTEE KT RAT KR 5 1700
198 X A 1E RFIEE R KA EAR 1 340
199 Edikss BFEE BT KA EAR 2 800
200 Z ¥ BT EHE R KA R AR 3 1200
201 F A% BT EHE BT RAT KR 1 400
202 I & BTFEE PR KA EAR 3 1200




203 X3 BTFEE PR KA R AR 1 400
204 £ BFEE PR KA EAR 2 800
205 i FIEE P XRIT RAT KR 1 400
206 F 4k RFEE PRI KA EAR 3 1200
207 (AT BFEE PR KA R AR 1 400
208 He = wFIEE P XRIT KA R AR 1 400
209 # 21 )R wFIEE P XRIT RAT KR 1 400
210 X1 B X BTFEE PR KA EAR 2 680
211 X B AL wFIEE P RIT KA R AR 1 400
212 KF= wFIEE P XRIT KA R AR 1 400
213 K & BFEE PR KA KR 1 400
214 B Jn 4R BFEE AR KA EAR 1 460
215 FhFE BFIEE P XRIT RAT KR 1 400
216 B IE A WEEE PRI KA EAR 2 800
217 X A WTFEE PR KA R AR 2 920
218 BER wFIEE P XRIT KA R AR 2 800
219 R IEfE wFIEE P XRIT RAT KR 2 800
220 X X % BFEE PR KA EAR 3 1200
221 R BFIEE P XRIT RAT KR 1 460
222 M X2 wFIEE P XRIT RAT KR 1 400
223 AEES BFEE PR KA R AR 1 400
224 R IEAE BFEE PR KA EAR 1 400
225 FIEH FIEE P XRIT RAT KR 1 400
226 AFE BRI KA EAR 1 400
227 HER BFEE PR KA EAR 2 800
228 EXES BREE AR RAT KR 2 800
229 7K R R BREE AR RAT KR 2 800
230 H T BAREE AR KA EAR 2 920




231 FHE BARBEE ANR KA R AR 2 680
232 J 4 BAREE AR KA EAR 4 1360
233 = HEF BAREE AR RAT KR 1 460
234 W5 BAREE AR KA EAR 4 1360
235 & 4o BAREE AR KA R AR 3 1200
236 BAHE BAREE AR RAT KR 2 800
237 e TN BREE AR RAT KR 3 1200
238 EER BAREE AR KA EAR 2 680
239 KAZ BREE AR RAT KR 1 400
240 EJ=ES BAREE AR RAT KR 1 400
241 7K KR BAREE AR KA R AR 2 680
242 T T BAREE AR KA EAR 2 800
243 7K & A BREE AR RAT KR 1 400
244 T 4HH BAREE AR KA EAR 2 800
245 x| IF % BAREE AR KA R AR 1 400
246 T BAREE AR RAT KR 3 1200
247 EHA BREE AR RAT KR 3 1200
248 KB BAREE AR KA EAR 5 1700
249 7K T BREE AR RAT KR 1 460
250 TR BREE AR RAT KR 1 460
251 D BAREE AR KA R AR 2 800
252 T A A BAREE AR KA EAR 1 340
253 KEF BREE AR RAT KR 3 1200
254 K E X BARBEE AWK KA EAR 2 800
255 REA BREE AR KA EAR 4 1600
256 e B REE P AT KA R AR 2 680
257 MAB = BARESE P KA R AR 2 800
258 FEZ BERESE P4 KA EAR 3 1020




259 B BRESE P4 KA R AR 1 340
260 e kia BEARESE P4 KA EAR 1 400
261 E B RAEAE AT KA R AR 1 400
262 PR 4 5AREE AR KA EAR 1 340
263 PR BA R 5 AREE HEE KA R AR 1 400
264 B 5 REE K ERD RAT KR 1 400
265 H A B RBE LEEN RAT KR 4 1360
266 PR F e 5ARESE AEE KA EAR 1 340
267 EE B REE AEE RAT KR 2 800
268 77 74 5 REE A ERD RAT KR 2 680
269 BRR 5RESE BEE KA R AR 1 400
270 B 5 AREE BEE KA EAR 2 800
271 M7 B REE KER RAT KR 3 1020
272 Elidas B RIBAE KRR KA EAR 1 400
273 AT 5 AREE HEE KA R AR 3 1020
274 ES 2 5 REE A ERp RAT KR 2 680
275 X A < 5 REE AER RAT KR 1 400
276 TIER B RES KB KA AR 3 1020
277 5 B REE AR RAT KR 1 400
278 Bk E 5 R EE K ERp RAT KR 2 680
279 X AR AR 5ARESE BEE KA R AR 1 340
280 £ M BB S KX KA EAR 2 800
281 = Rk B KK RAT KR 1 400
282 TR AL S KX KA EAR 2 800
283 1T RAX BB S KX KA EAR 1 340
284 7K K 5 B S REK KA R AR 2 800
285 REH# B S REK KA R AR 1 400
286 & HK AL S KX KA AR 3 1380




287 LN B S KX KA R AR 1 400
288 KX F BB S KX KA EAR 1 340
289 Y% % B KK RAT KR 1 340
290 BF = 3 AL S KX KA EAR 1 340
291 A= By KK KA R AR 1 340
292 =5 Vil RS RAT KR 3 1380
293 REFFE B KK RAT KR 1 340
294 EES NEs HE KA EAR 2 800
295 RER NEs H1E KA R AR 1 400
296 F¥e NE S niE RAT KR 2 680
297 S WEs H& KA R AR 2 800
298 7 Fm X WEs 7 KA EAR 1 400
299 FEA NES RAT KR 1 400
300 EFR NEs H1& KA EAR 2 800
301 ZF AL WEs HE KA R AR 2 800
302 FERRE NEs 7HE KA R AR 1 400
303 F AR NE S niE RATEAR 1 400
304 2 NEs HE KA EAR 1 340
305 RS WES i RAT KR 1 400
306 A=A NE S niE RATRAR 2 800
307 R IF 4 WEs H& KA R AR 4 1600
308 & IF WEs 7 KA EAR 3 1020
309 X8 ME s 71& RATRAR 3 1200
310 REM NEs H1& KA EAR 2 800
311 X PA NE S H1E KA EAR 6 2040
312 B K NES niE RATRAR 2 800
313 KKZ WE S RATERAR 1 400
314 K NEs H1& KA EAR 1 400




315 X R KA R AR 1 340
316 RUAR KA EAR 5 2000
317 K IF T RAT KR 1 400
318 RS KA EAR 1 400
319 TR KA R AR 2 800
320 A1) KA R AR 2 800
321 e RATRAR 2 800
322 FEX KA EAR 2 800
323 T i KA R AR 1 400
324 BE A RAT KR 1 400
325 F e KA R AR 1 400
326 B it KA EAR 1 400
327 X 7T FH RAT KR 1 400
328 AR KA EAR 1 400
329 B % KA R AR 1 400
330 X XA RAT KR 2 800
331 23 RAT KR 1 400
332 eV KA EAR 3 1200
333 EXA RAT KR 1 400
334 X X 7T RAT KR 1 340
335 A T A KA R AR 4 1600
336 = A KA EAR 1 400
337 HEL RAT KR 1 400
338 W F KA EAR 2 800
339 B KA EAR 1 400
340 Vb e RAT KR 1 400
341 TAE D KA R AR 1 400
342 ZEX KA EAR 1 400
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371 I K MNE S Al KA R AR 1 400
372 SES NE S Al KA EAR 1 400
373 XE= ME S gL RAT KR 1 400
374 = e WE S a4l KA EAR 1 400
375 AR A WE S Al KA R AR 2 800
376 ¥ ok WE S apl KA R AR 1 400
377 L% Flhs BARHZES KA R AR 2 800
378 JE AR Fhs BARNZS KA EAR 1 400
379 FHR FLy HARMTZS RAT KR 2 800
380 Z[5] & FiLy HwARNTZS RAT KR 1 400
381 FAL A FLs BARHZES KA R AR 1 400
382 A& Fhs BARNZS KA EAR 2 800
383 & FLy HARMZS RAT KR 2 800
384 RS FLs BARHZES KA EAR 1 400
385 D Flhs BARNZES KA R AR 2 800
386 ekl FilLy HARMZS RAT KR 1 400
387 xF Ty BARMTZS RAT KR 1 400
388 Eib FLs BARNZS KA EAR 2 800
389 RFHE FiLy HARMTZS RAT KR 2 800
390 B Fhs BARHZES KA R AR 1 400
391 i FiLs BARHZES KA R AR 2 800
392 THFE FLs BARNZES KA EAR 2 800
393 R FiLy HARMAZS RAT KR 2 800
394 e FLs BARNZES KA EAR 2 800
395 L E Flhs BARNZES KA EAR 1 400
396 FRE FiLy HARMTZS RAT KR 2 800
397 BRI A Ty HwARMTZS RAT KR 1 400
398 ZIFAE FLs BARNZS KA EAR 3 1200




399 7K % E FlLs BARKZES KA R AR 2 800
400 = FLs BARNZES KA EAR 3 1200
401 = F FLy HARMTZS RAT KR 2 800
402 IR AR FLs BARNZES KA EAR 2 800
403 e Flhs BARNKZES KA R AR 2 800
404 & A FiLy HARMZS RAT KR 1 400
405 HeZ Ty HwARTZS RAT KR 1 400
406 ERe2 Fhs BARNZS KA EAR 1 400
407 x| [E 3 FLy HARMTZS RAT KR 1 400
408 R = Fhs BARHZES KA R AR 1 400
409 ¥ a7t FLs BARHZES KA R AR 1 400
410 1 B ¥ FiLy HwARMNZS KA EAR 1 400
411 IR = FLy HARMZS RAT KR 1 400
412 MEE Fiby HwARMNZS KA EAR 1 400
413 iy FLy BwARMNZS KA R AR 1 400
414 oI FilLy HARMZS RAT KR 1 400
415 i oF 3 FLs BARKZES KA R AR 1 400
416 KERM FLs BARNZS KA EAR 1 340
417 i FiLy HARMTZS RAT KR 1 340
418 T FiLy HwARMTZS RAT KR 1 400
419 BRE = Ty BwARMNZS KA R AR 1 400
420 FAE FiLy BwARMNZS KA EAR 3 1020
421 =& FiLy HARMAZS RAT KR 1 340
422 (= 5EX % eHNZL KA EAR 2 800
493 e 5% % ¢uNES KA AR 1 400
424 Bk X% eHENZS KA R AR 2 800
425 K ER XS WA ZES RAT KR 1 460
426 e %4 W ZEL KA EAR 1 400




427 e 5% % W ZES KA R AR 1 400
428 ERiRid BE% % W Z2 KA EAR 1 400
429 =05 XS W ZES RAT KR 4 1600
430 & L F %4 W ZE4 KA EAR 1 340
431 Fhng 5% % eHNZEL KA R AR 2 800
432 FHE BXRY SN ES KA R AR 1 400
433 KA E XS W ZES RAT KR 1 400
434 EyIET BE% % W ZEL KA EAR 1 400
435 KR XS W ZES KA R AR 1 400
436 W IFAL X% ¢HRZES KA R AR 1 400
437 FLZ BX Y &N ZEL KA R AR 1 460
438 EX¥ E% % W Z2 KA EAR 3 1200
439 KK E XS W ZES KA R AR 2 800
440 e BE% 4 W Z4 KA EAR 2 800
441 BT 5% % ¢uNES KA AR 3 1380
442 Fin= XS WA ZES RAT KR 1 400
443 ERE X% ¢HRZES KA R AR 1 400
444 ZHER %4 W ZEL KA EAR 1 400
445 FEE XS W ZES KA R AR 2 800
446 e 5% % ¢HRZES KA R AR 1 400
447 XK # BX Y &N ZEL KA R AR 2 800
448 B k= BEX S eHNZL KA EAR 2 800
449 Rk X% ¢HRZES KA R AR 1 400
450 TEE b5y eHNES KA AR 2 680
451 7k A BxR Y &N ZEL KA EAR 1 400
452 7K X 4R 5% % eHRZES KA R AR 1 400
453 # 1E R XS WA ZES RAT KR 1 400
454 F=EH 5%y eHNES KA AR 1 400




455 s 5% % ¢uNES KA R AR 2 800
456 EEF b5 % ¢ENES KA EAR 2 920
457 =R A XS W ZES RAT KR 1 400
458 Tk AE b5y eHNES KA EAR 2 800
459 R F 5% % ¢uNES KA R AR 1 340
460 ZIFEH XS WA ZES KA R AR 1 400
461 kg XS W ZES KA R AR 1 400
462 Z A BE% % W ZEL KA EAR 1 460
463 &= WX X% eHENZ4S KA R AR 3 1200
464 T 2 R LEE R RAT KR 1 400
465 LAY 5% % eHNZL KA R AR 3 1200
466 BEA K E% % W Z2 KA EAR 1 400
467 X XS W ZES RAT KR 1 340
468 HED b5y eHNES KA AR 1 400
469 RS 5% 4 W ZE2 KA R AR 2 800
470 EAR 3 XS WA ZES RAT KR 2 800
471 RED X% ¢HRZES KA R AR 1 400
472 FHE %4 W ZEL KA EAR 1 400
473 ER X X% eHENAZ4S KA R AR 2 800
474 R 5% % ¢HRZES KA R AR 2 680
475 BEE 5% % W ZE2 KA R AR 2 800
476 Py BE% % W ZE2 KA EAR 2 800
477 F A XS W ZES RAT KR 1 400
478 X E 1R 5EX % eHNZL KA EAR 3 1200
479 kED 5% % ¢uNES KA EAR 1 400
480 #F IE A LEE R RAT KR 2 800
481 FHE XS WA ZES RAT KR 1 400
482 N 5% % mENAZS KA EAR 1 400




483 RAD 5% % mENAZS KA R AR 1 400
484 X\ 2 A 5% % mENAZS KA EAR 2 800
485 W Kb BXS mEAZS RAT KR 2 680
486 e 5% % mENZS KA EAR 1 400
487 7k 9t B 5% % mEAZS KA R AR 1 400
488 K ED BEXS mEAZS KA R AR 2 800
489 A B A BEXS mEAZS RAT KR 2 800
490 RER 5% % mENZS KA EAR 1 340
491 KR A BEXS% WEAZS KA R AR 1 340
492 PRk = BXS mEAZS RAT KR 3 1200
493 [ 5% % mENZS KA R AR 2 800
494 Gikis 5% % mENZS KA EAR 4 1360
495 x| & % BXS mEAZS RAT KR 1 340
496 [ 5% % mENZS KA EAR 2 920
497 x| FE 2 5% % mEAZS KA R AR 2 800
498 7K K fR LEER SN RAT KR 3 1200
499 FAR BEXS mEAZS RAT KR 1 400
500 F=HE BEX % mENZS KA EAR 2 800
501 FRAX BEXS wEAZS RAT KR 1 400
502 ER= BEXS mEAZS RAT KR 4 1840
503 7k i % 5% % mENAZS KA R AR 1 340
504 T 5% % mENAZS KA EAR 1 460
505 e BEXS mEAZS RAT KR 1 400
506 FHE 5% % mENZS KA EAR 1 400
507 FHAT 5% % mENAZS KA EAR 1 400
508 i BEXS mEAZS RAT KR 3 1020
509 AT 5% % wmENAZES KA R AR 1 400
510 7K B AR 5% % mENAZS KA EAR 1 340




511 K TF 5% % mENAZS KA R AR 1 400
512 iy 5% % mENAZS KA EAR 4 1600
513 KR BXS mEAZS KA R AR 2 800
514 A T A 5% % mENZS KA EAR 2 800
515 Z 7k [ 5% % mEAZS KA R AR 1 400
516 REA 5% % mEAZES KA R AR 1 340
517 AT = BEXS mEAZS RAT KR 1 400
518 ITHEFH 5% % mENZS KA EAR 1 400
519 FTE 5% % wmEAZES KA R AR 1 400
520 TR 5% % wmENAZES KA R AR 2 800
521 AL 5% % mENZS KA R AR 1 400
522 B 5% % mENZS KA AR 1 340
523 K Z 5% % wmEMAZES KA R AR 1 400
524 ZHEZ 5% % mENZS KA EAR 1 400
525 BB R 5% % mEAZS KA R AR 1 400
526 28 5% % mEAZS KA R AR 1 400
527 7k & 5% % mEAZES KA R AR 1 400
528 fli BEX % mENZS KA EAR 1 400
529 &R 5% % mEAZES KA R AR 1 400
530 MR BEXS mEAZS RAT KR 3 1200
531 & 5% % mENAZS KA R AR 2 920
532 7K FE AR 5% % mENAZS KA EAR 1 400
533 il BEXS mEAZS KA R AR 1 400
534 i A I 5% % mENZS KA EAR 1 400
535 BRI 5% % mENAZS KA EAR 1 400
536 LGS 5% % mEAZS KA R AR 1 400
537 He R 5% % wmENAZES KA R AR 1 400
538 T 5% % mENAZS KA EAR 3 1020




539 AARAL 5% % mENAZS KA R AR 1 400
540 ZRE 5% % mENAZS KA EAR 2 800
541 kKE R 5% % wmENAZES KA R AR 1 400
542 K % R 5% % mENZS KA EAR 1 340
543 IR X 5% % mEAZS KA R AR 1 400
544 7K A A b% 5 AERZES KA R AR 1 400
545 WA AR bRy AERZEL KA R AR 1 340
546 R H x5 AENZ L KA EAR 2 800
547 KN B LESE L i KA R AR 2 800
548 % 1F i LEEE L RAT KR 2 680
549 FE% x5 AENZE 4 KA R AR 1 340
550 I X x5 AeENZ 4 KA EAR 2 680
551 % AR bx o AERZES KA R AR 1 400
552 KR E x5 AERZ L KA EAR 3 1020
553 WA 8 I bx 5 AENZ L KA AR 1 340
554 7K 3 bx% o AERZES KA R AR 1 400
555 7k LESRE L ik RAT KR 2 800
556 BRE x5 AERZ 4 KA EAR 2 800
557 ¥ JaE LESE L i KA R AR 1 340
558 Lo iE b5x% 4 AERZEL KA R AR 1 400
559 x| B % bx 5 AENZE L KA R AR 1 400
560 Z AL x5 AeENZ 4 KA EAR 2 680
561 B bx s AERZES KA R AR 1 340
562 Sk IFAT 5% 5 AERZ L KA EAR 1 400
563 FH% bx % AENZ 4 KA EAR 5 1700
564 BRI bx% o AERZES KA R AR 6 2400
565 T A XS EEREZ 2 RAT KR 2 800
566 B x5 AENZ L KA EAR 1 400




567 7K I B 5% % KA R AR 2 920
568 BE= 5% % KA EAR 3 1200
569 T 5% % RAT KR 1 400
570 R AR 5% % KA EAR 5 2000
571 7K 9t 4E 5% % KA R AR 2 800
572 TR LES RAT KR 1 340
573 BAER A 5% % RAT KR 1 400
574 2 5% % KA EAR 1 400
575 wE= 5% 4 KA R AR 1 400
576 K=K 5% % RAT KR 2 680
577 kETF 5% % KA R AR 1 340
578 ERLES 5% % KA EAR 4 1600
579 = iR 5% % RAT KR 3 1380
580 F AR 5% % KA EAR 1 340
581 S 5% % KA R AR 1 340
582 W B A2 5% 4 RAT KR 1 340
583 Cibiica 5% % KA R AR 1 340
584 ¥ L AE 5% % KA EAR 2 800
585 &N 5% % KA R AR 1 400
586 FAER 5% % RAT KR 4 1360
587 = R 5% % KA R AR 1 340
588 F AR 5% KA KR 4 1600
589 & 5% % RAT KR 1 400
590 ITH= 5% 4 KA AR 3 1200
591 FEX 5% 4 KA EAR 1 340
592 YA B 5% 4 RAT KR 1 340
593 N 5% % RAT KR 1 400
594 KN 5% % KA EAR 1 400




595 AT x5 AENZE 4 KA R AR 1 340
596 TN x5 AeENZ 4 KA EAR 1 400
597 k& bx o AERZES KA R AR 1 400
598 HEW 5% % AERZ L KA EAR 3 1380
599 HRF x5 AENZ 4 KA R AR 4 1600
600 ZRAE b% 5 AERZES KA R AR 3 1380
601 ot LESE L RAT KR 3 1200
602 ZEF BhE BANZE2 KA EAR 1 340
603 =) 5 BhE BN ZEs RAT KR 3 1200
604 BRRE B BARNZE2 KA R AR 1 340
605 W E BRhE BEANZE2 KA R AR 1 340
606 KA HEE B Z 4 KA EAR 4 1600
607 M AE BhE BN ZEs RAT KR 2 800
608 I im BhE BEANZE2 KA EAR 2 680
609 % A HEE B Z4 KA R AR 1 340
610 ki BhE BN ZEe RAT KR 3 1380
611 EFE B BARZE2 KA R AR 1 340
612 nE® BhE BEANZE2 KA EAR 1 340
613 MR A BhE BN ZEs RAT KR 2 680
614 i B BANZE2 KA R AR 1 340
615 KA BRhE BEANZE2 KA R AR 1 340
616 MR X HEE BN Z 4 KA EAR 2 800
617 L BhE BN ZEe RAT KR 1 400
618 ITHE BhE BEANZE2 KA EAR 1 340
619 AT HEE B Z4 KA EAR 1 340
620 A HE B BARZE2 KA R AR 1 340
621 ELF B BARZE2 KA R AR 2 680
622 Bt EhE BEANZE2 KA EAR 1 400




623 o E AR ERhE BEANZE2 KA R AR 1 340
624 w5 HEE BN Z 4 KA EAR 2 680
625 =kl BhE BN ZEs RAT KR 2 680
626 ¥ H A BhE BEANZE2 KA EAR 1 400
627 # R X HEE BN Z 4 KA R AR 1 340
628 T B BARZE2 KA R AR 1 340
629 B AKX BhE B ZEe RAT KR 3 1200
630 i fE BhE BANZE2 KA EAR 3 1380
631 5 A BhE BN ZEs RAT KR 1 340
632 7k A e BhE BN ZEs RAT KR 5 2300
633 Z XAl BRhE BEANZE2 KA R AR 1 400
634 A AL HEE B Z 4 KA EAR 1 340
635 A A B BARZE2 KA R AR 1 460
636 FHE BhE BEANZE2 KA EAR 1 340
637 3oL R HEE B Z4 KA R AR 2 800
638 RIETX BhE BN ZEe RAT KR 1 340
639 ZHER B BARZE2 KA R AR 1 340
640 O E¥ BhE BEANZE2 KA EAR 3 1020
641 (k=] BhE BN ZEs RAT KR 5 1700
642 7kt & B BANZE2 KA R AR 2 680
643 7k B % BRhE BEANZE2 KA R AR 1 340
644 REKE HEE BN Z 4 KA EAR 2 920
645 it BhE BN ZEe RAT KR 1 340
646 7K H A BhE BEANZE2 KA EAR 1 340
647 X E HEE B Z4 KA EAR 1 340
648 YA K BhE BN ZEe RAT KR 1 340
649 O A B BARZE2 KA R AR 1 400
650 TREE EhE BEANZE2 KA EAR 1 400




651 B X ERhE BEANZE2 KA R AR 1 340
652 & =l HEE BN Z 4 KA EAR 1 340
653 ZI BhE BN ZEs RAT KR 2 800
654 AT BhE BEANZE2 KA EAR 3 1020
655 e HEE BN Z 4 KA R AR 1 400
656 EED B BARZE2 KA R AR 1 460
657 A F B BARZE2 KA R AR 4 1360
658 i BhE BANZE2 KA EAR 2 680
659 Z15 BhE BN ZEs RAT KR 2 680
660 THE BhE BN ZEs RAT KR 4 1600
661 K E AL BRhE BEANZE2 KA R AR 1 400
662 o HEE B Z 4 KA EAR 1 400
663 THEA BhE BN ZEs RAT KR 3 1020
664 ootE BhE BEANZE2 KA EAR 2 680
665 WA LA HEE B Z4 KA R AR 3 1020
666 X7 F B BARZE2 KA R AR 1 340
667 e BhE B ZEs RAT KR 4 1600
668 K EFH BhE BEANZE2 KA EAR 2 680
669 i 1F 75 BhE BN ZEs RAT KR 2 680
670 W ERE! BhE BN ZEs RAT KR 3 1020
671 17 B & BRhE BEANZE2 KA R AR 2 800
672 LT HEE BN Z 4 KA EAR 4 1600
673 FRE BhE BN ZEe RAT KR 3 1020
674 THER BhE BEANZE2 KA EAR 3 1020
675 B HEE B Z4 KA EAR 6 2040
676 0t = BhE BN ZEe RAT KR 1 340
677 EFAN B BARZE2 KA R AR 1 400
678 MRE EhE BEANZE2 KA EAR 1 400




679 2 [ e ERhE BEANZE2 KA R AR 1 400
680 Z i HEE BN Z 4 KA EAR 3 1020
681 B B BARZE2 KA R AR 1 400
682 F AT BhE BEANZE2 KA EAR 3 1200
683 X IE Wl HErE BHENZ4S KA R AR 1 400
684 FLEE R B BHENZES RAT KR 3 1020
685 7K i e BHANZES RAT KR 1 400
686 i A e BHANZES KA EAR 1 400
687 RS BrE BHANZES RAT KR 3 1380
688 e e BHANZER RAT KR 3 1200
689 Z X ¥hrE BHANZES KA R AR 3 1380
690 TKAE SR e REnZ 2 KA EAR 3 1020
691 4 1IF 1 B BHANZES RAT KR 1 400
692 7 ¥rdE BANZES KA EAR 1 400
693 & X i e RAENZ S KA R AR 1 400
694 KF & B BHANZES RAT KR 1 400
695 RO 5 e BHANZES RAT KR 3 1380
696 TEER BhdE BHNZ2 KA EAR 1 340
697 K= B e BHANZES RAT KR 1 400
698 e e BHANZER RAT KR 1 340
699 KR 2 BhE BHANZES KA R AR 2 800
700 X EH HErE BHENZS KA EAR 1 400
701 A e BHANZES RAT KR 2 800
702 Tk A= X ErdE BANZES KA EAR 2 920
703 ¥ HErE BAEANZS KA EAR 1 460
704 e B BHANZER RAT KR 2 680
705 KA e BHANZES KA R AR 2 800
706 HFIrHE B BHANZ2 KA EAR 1 400




707 7K F K BhE BHANZES KA R AR 2 800
708 SRR HErE BHENZS KA EAR 1 400
709 Fpae & B BHANZES RAT KR 1 400
710 T ¥rdE BANZES KA EAR 1 400
711 ED Y HrE RAENZ S KA R AR 2 800
712 e B BHENZES RAT KR 2 800
713 £ A e BHANZES KA R AR 2 800
714 e e BHANZES KA EAR 1 340
715 fEE SEHE AXE RAT KR 1 340
716 D SEGE AXE RAT KR 1 400
717 X AL SEME AXE KA R AR 2 680
718 I SEHE AXE KA EAR 2 680
719 A A SEHE AXE RAT KR 2 680
720 BREZE SEHE AXE KA EAR 4 1600
721 x| 7 FLfrE A EA NIL KA R AR 1 400
722 X4 A Bl A EA I RAT KR 1 400
723 FEIE Bl A EL SSIL RAT KR 1 400
724 W E Bl A EL RIT KA EAR 1 400
725 €S Bl A FEL KL RAT KR 1 400
726 B B A EA ST RAT KR 2 680
727 R FLEEAEL NI KA R AR 1 400
728 B E Bl EAL NIL KA EAR 1 340
729 AR A Bl A EL SSIL RAT KR 1 340
730 X % % Bl A EL RIT KA KR 1 340
731 FH¥ FlLfrE A EA NIL KA EAR 4 1600
732 K AES FlLEEAFL NIL KA R AR 1 340
733 FH= Bl A EL SSIL RAT KR 1 340
734 1 5% BH Bl A ER LR KA EAR 1 400




735 7k 4 B L A E A LR KA R AR 1 340
736 7K E A FL g A A AL ROF KA EAR 1 460
737 FEL Bl A EL LR RAT KR 5 1700
738 FTEH# FLEEAEL LR KA EAR 1 400
739 YA FL BT A AL AL ROF KA R AR 3 1200
740 7k A 2% Bl g EA LR RAT KR 2 680
741 FTEHK Bl A EL LR RAT KR 3 1200
742 EAE Rl AEL LR KA EAR 4 1600
743 # IF & B A EL LR RAT KR 2 800
744 KR Bl g EA LR RAT KR 5 2000
745 H 2 L A E A LR KA R AR 1 340
746 A Rl A EL FLRA KA EAR 3 1200
747 B FLEEAEL B R KA R AR 5 1700
748 kA Bl AEL LR KA EAR 3 1200
749 A % Bl pEA LR KA R AR 1 400
750 B Bl A EA LR RAT KR 1 340
751 KR E Bl A EL LR RAT KR 3 1200
752 AHEE L A ER LR KA EAR 1 340
753 WAL~ Bl A EL LR RAT KR 1 340
754 J& 4R 4 Bl g EA LR RAT KR 1 400
755 HEER BB A A LR RATRAR 5 1700
756 e FL g A A AL ROF KA EAR 1 400
757 FEZ Bl A EL LR RAT KR 1 340
758 K= Bl ApEL K KA EAR 1 340
759 o= FlLfE A EL KA KA EAR 1 400
760 K E FlLEEAEL XA KA R AR 1 340
761 Y= Rl AEL K RAT KR 3 1200
762 KA HE Bl ApEL K KA EAR 3 1020




763 oK Bl EL K KA R AR 4 1600
764 KA FRlgrEhFEL L5 KA EAR 1 400
765 F T FlLEEAEL XA KA R AR 1 400
766 I iE Rl AEL XA KA EAR 2 800
767 X E FLEEAEL R KA R AR 3 1020
768 M= I FlLEEAEL XA KA R AR 2 680
769 M %R Rl AEL KA RAT KR 1 400
770 S 7K I Rl AEL XA KA EAR 1 400
771 Tk & FlLEEAEL XA KA R AR 2 800
772 3 ig R Bl EL K RAT KR 1 340
773 K fm 77 Bl EL L KA R AR 1 340
774 BHE Rl A A R RALE R 1 340
775 HAEE FlLEEAEL XA KA R AR 1 340
776 1 £ 4R Rl AEL XA KA EAR 2 680
777 (S FlLfE A EL KA KA R AR 1 400
778 XK= FlLEEAEL XA KA R AR 1 400
779 FHF Rl AEL K RAT KR 1 340
780 Sk HE Bl ApEL K KA EAR 1 400
781 i FlLEEAEL XA KA R AR 1 400
782 i B T Bl EL K RAT KR 2 680
783 kA2 BEHE XZ KA R AR 1 400
784 RIS BEEE XL KA EAR 1 400
785 e BEEE Aw KA R AR 2 800
786 T A% BEHEE XL KA EAR 1 460
787 T FX BEHE X£L KA EAR 1 400
788 A7 R A BEEE x KA R AR 3 1200
789 ZERE BEHE X% RAT KR 5 2000
790 % IF #g BEHE X&Z KA EAR 2 800




791 T AH BEHE XZ KA R AR 1 340
792 =3 BEHE XZ KA EAR 2 800
793 KTz BEHE Aw KA R AR 1 460
794 I E BEHEE XL KA EAR 1 460
795 T ARG BEHE X£L KA R AR 2 800
796 X BEEE Ax KA R AR 4 1600
797 ek BEHE X% RAT KR 2 800
798 7K ¥ W BEREE XL KA EAR 1 340
799 7K AR BEHE ™ RAT KR 1 460
800 o E BEHE X% RAT KR 1 400
801 EFH WEHE XL KA R AR 2 680
802 JE B BEEE XL KA EAR 1 400
803 TR BEEE Aw KA R AR 1 400
804 ERE BEHE X&Z KA EAR 2 680
805 F I BEREE XL KA R AR 1 400
806 T & BEEE tx KA R AR 1 340
807 X % BEHE X% RAT KR 1 400
808 JE B BEHE XL KA EAR 1 400
809 X 345 BEEE Ax KA R AR 1 400
810 MEE BERE L% RAT KR 1 400
811 2 X BEREE XL KA R AR 1 400
812 [ BEEE XL KA EAR 1 400
813 KEE BEEE Aw KA R AR 2 680
814 T BEHEE XL KA EAR 2 680
815 JE R BEHE X£L KA EAR 2 800
816 AR BEEE x KA R AR 3 1020
817 XS BEHE X% RAT KR 2 680
818 BT BEHE X&Z KA EAR 2 800




819 R WEHE XL KA R AR 4 1360
820 KES BEHE X£& KA EAR 1 340
821 FHE BEHE Aw KA R AR 2 680
822 A BEHE X&Z KA EAR 2 680
823 LA BEHE X£L KA R AR 1 400
824 R BEEE Ax KA R AR 2 680
825 JE AR BEHE X% RAT KR 6 2040
826 I 4w BEHE XL KA EAR 4 1360
827 WER BEEE Bk RAT KR 1 340
828 AN BWEHE Bk RAT KR 1 400
829 7K R WEHE Bk KA R AR 2 800
830 X XA BEHE Bk KA EAR 1 340
831 7K X BEEE Bk RAT KR 1 340
832 TKAE T WEHE Bk KA EAR 2 800
833 BT A BEHE Bk KA R AR 2 680
834 ¥ T BEaE B KA R AR 2 680
835 7K UK BEEE B RAT KR 3 1200
836 KEZ BEHE Bk KA EAR 1 340
837 X 4R BWEHE Bk RAT KR 5 1700
838 BX 2 Ak BWEHE Bk RAT KR 3 1020
839 X WEHE Bk KA R AR 1 340
840 KX BEHE Bk KA EAR 1 340
841 B AR BEEE Bk RAT KR 1 400
842 7k X X BEHE Bk KA EAR 2 800
843 7k XX BEHE Bk KA EAR 3 1020
844 Tk A aE BEEE Bk RAT KR 2 680
845 M E A BWEHE Bk RAT KR 1 460
846 ZHE Rieg R4 KA EAR 1 340




847 A 7 4 Rieg R4 KA R AR 1 460
848 X A A BRAHE R4 KA EAR 1 340
849 X 48 7T Bipeq R RAT KR 1 400
850 = EHE Rieg R4 KA EAR 1 460
851 ZHZ R R4 KA R AR 1 400
852 VAl B R RAT KR 2 800
853 (2% Bipeq R RAT KR 1 340
854 AR LE1= BAE B KA EAR 2 800
855 7k R F4 KA R AR 2 680
856 {7 Fr 22 B R RAT KR 1 340
857 g Rieg R4 KA R AR 3 1020
858 Tk = RAHE R4 KA EAR 3 1020
859 g B R RAT KR 3 1020
860 Z L Rieg R4 KA EAR 1 340
861 FEZ RAHE R4 KA R AR 1 340
862 AR E > B R RAT KR 2 680
863 M\ B Bipeq R RAT KR 3 1020
864 LS Rieg R4 KA EAR 1 340
865 B 5 2 B R RAT KR 5 1700
866 RIF A B R RAT KR 1 400
867 RHA K Rieg R4 KA R AR 2 680
868 R RAHE R4 KA EAR 1 400
869 FEE Bipeq R RAT KR 1 340
870 KEE Rieg R4 KA EAR 3 1020
871 7K & RAHE R4 KA EAR 2 680
872 J& Fu B R RAT KR 2 680
873 17 TR 3€ R R4 KA R AR 2 680
874 7 5 F Rieg R4 KA EAR 3 1020




875 xR Rieg R4 KA R AR 1 340
876 T IE 2 R R KA EAR 1 340
877 x| 1IF 3 R FH KA R AR 1 340
878 THZ Rieg R4 KA EAR 1 340
879 kAR R R4 KA R AR 1 340
880 R % B R RAT KR 1 340
881 R Bipeq R RAT KR 4 1360
882 Es Rieg R4 KA EAR 2 680
883 kK% B R RAT KR 1 340
884 KT F B R RAT KR 1 340
885 KE % Rieg R4 KA R AR 2 680
886 A RAHE R4 KA EAR 1 340
887 F R B R RAT KR 1 400
888 X Rieg R4 KA EAR 2 680
889 X[ A 42 RAHE R4 KA R AR 2 680
890 W= B R RAT KR 4 1360
891 FH Bipeq R RAT KR 2 680
892 L7 RAEHE F& KA EAR 1 340
893 EEN RACE B RAT KR 2 920
894 AN AL A RAT KR 1 460
895 FEHH RAiEE 4 KA R AR 3 1020
896 rx= RAE Fae KA EAR 1 460
897 7k [E IE BAEHE FE KA R AR 2 680
898 R BAHE A& KA EAR 2 680
899 2 JF B RAHE Frae KA EAR 3 1020
900 EPive RALE B RAT KR 2 680
901 e RAHE FrA RAT KR 2 680
902 7k 5] B RAEE L KA EAR 2 800




903 el B 3 KA R AR 2 680
904 & F 2 RHEHE 3 KA EAR 2 680
905 7K A A BALE % RAT KR 1 340
906 WFHE RAEE % KA EAR 1 460
907 e RAEHE Z KA R AR 2 680
908 i RALE 3 KA R AR 2 680
909 2= B BALE % RAT KR 4 1360
910 EZ BAEE 3 KA EAR 1 340
911 B & BALE % RAT KR 1 340
912 EHH BALE % RAT KR 5 1700
913 AR BEE 3 KA R AR 1 340
914 &% A4 i1 5 KA EAR 3 1020
915 EEEES M4 155 KA R AR 1 460
916 E A4 i1 5 KA EAR 2 920
917 MEE A4 15 5 KA R AR 3 1200
918 M= H 48 15 5 RAT KR 2 920
919 FEM #4815 5 RAT KR 1 400
920 LS A4 11 5 KA EAR 3 1020
921 Bl 48 15 5 RAT KR 3 1020
922 X K <F H 48 15 5 RAT KR 2 920
923 =g A4 15 5 KA R AR 1 400
924 i A4 1 5 KA EAR 2 800
925 X 224 H#4E 15 5 RAT KR 4 1360
926 FE A48 15 5 KA EAR 1 340
927 xR H &4 2 5 KA EAR 2 800
928 X5 &R H 48 15 5 RAT KR 3 1380
929 RARAE #4815 5 RAT KR 3 1020
930 7K A4 15 5 KA EAR 1 340




931 7k 4 B A4 15 5 KA R AR 1 340
932 AN A4 1 5 KA EAR 3 1020
933 I a5 #4815 5 RAT KR 1 340
934 XEH Ae#E 5 KA AR 6 2040
935 T A4 15 5 KA R AR 1 340
936 RS AEE Rk RAT KR 1 460
937 7K AT AEE Rk RAT KR 1 460
938 E&E| AeE Rl KA EAR 1 340
939 e AEE Rk RAT KR 2 920
940 AR AHE Rk RAT KR 1 400
941 AEW H#E Filk KA R AR 1 340
942 KFE AeE Rl KA EAR 1 340
943 e AHE Rk RAT KR 2 680
944 E%51E AeE Rl KA EAR 1 340
945 RAF AeE Rl KA R AR 2 680
946 FARR AEE Rk RAT KR 1 340
947 A AEE Rk RAT KR 2 680
948 Fh= AeE Rl KA EAR 1 340
949 7K AE B AEE Rl KA R AR 2 680
950 EAD AEE Rk RAT KR 1 460
951 B AEE Kk KA R AR 1 400
952 e ia AfE Kk KA EAR 1 400
953 F K AHE Rk RAT KR 2 680
954 ReH AeE Rl KA EAR 1 340
955 /A=ES AEE Kk KA EAR 1 400
956 AT 5 AeE Rl KA R AR 3 1020
957 RFA AHE Rk RAT KR 1 340
958 X & T AeE Rl KA EAR 1 340




959 B T RE TR KA R AR 1 340
960 &N FRE TR KA EAR 2 680
961 X B R v RE R RAT KR 1 340
962 ERZ T RE TR KA EAR 1 340
963 K E & T RE TR KA R AR 1 340
964 A ¥ RE TR RAT KR 1 400
965 X F IR v RE R RAT KR 2 680
966 e FRE TR KA EAR 1 340
967 ¥RE v RE TR RAT KR 1 340
968 R 5% v RE TR RAT KR 2 680
969 K X A= T RE TR KA R AR 1 340
970 ;333 T RE TR KA EAR 1 340
971 T = v RE TR RAT KR 1 340
972 % Ed T RE TR KA EAR 1 400
973 RMEZ T RE TR KA R AR 1 340
974 BR XK ¥ RE TR RAT KR 2 800
975 REFZ v RE TR RAT KR 2 680
976 X 4H VL FREE TR KA EAR 2 680
977 kAL v RE TR RAT KR 1 340
978 eIt v RE TR RAT KR 1 340
979 EEPS T RE TR KA R AR 1 340
980 X e ZE FRE TR KA EAR 1 340
981 TEE v RE TR RAT KR 1 340
982 ik T RE TR KA EAR 2 800
983 FTAHE T RE TR KA EAR 2 680
984 Z o fE ¥ RE TR RAT KR 1 400
985 X B = v RE TR RAT KR 1 340
986 = T REE TR KA EAR 1 340




987 KA F T RE TR KA R AR 1 340
988 5 5 FRE TR KA EAR 1 340
989 ot v RE R RAT KR 2 680
990 Tk AR T RE TR KA EAR 2 680
991 FLE T RE TR KA R AR 2 680
992 WES S ¥ RE TR RAT KR 1 340
993 F 2 v RE R RAT KR 1 340
994 X BH T RE TR KA EAR 2 680
995 7K K # v RE TR RAT KR 2 680
996 S v RE TR RAT KR 1 340
997 S HE T RE TR KA R AR 1 340
998 X T RE TR KA EAR 1 340
999 MR F v RE TR RAT KR 1 340
1000 FHE T RE TR KA EAR 1 340
1001 T # T RE TR KA R AR 1 340
1002 a1t ¥ RE TR RAT KR 1 340
1003 R #5 [H v RE TR RAT KR 1 340
1004 K F R T RE TR KA EAR 1 340
1005 A v RE TR RAT KR 1 340
1006 X BRAR v RE TR RAT KR 3 1020
1007 x| I B T RE TR KA R AR 4 1360
1008 Frts T RE TR KA EAR 1 340
1009 KFHE v RE TR RAT KR 3 1020
1010 Z W% T REE LE KA EAR 2 680
1011 F A4 FREE LR KA EAR 1 400
1012 2 B v REE LR RAT KR 2 680
1013 KEAR +RE LR RAT KR 2 800
1014 MexE T RE LE KA EAR 1 340




1015 FEE +REE LE KA R AR 1 340
1016 WO E T REE LE KA & AR 3 1200
1017 F v RE LR RAT KR 2 680
1018 249 1t HRE LR KA AR 1 400
1019 i FREE LRE KA AR 2 800
1020 B A HRE LR KA AR 1 460
1021 £ X v RE LR RAT KR 1 340
1022 7k & I T RE LE KA EAR 2 800
1023 M EAE FREE LRE RAT KR 2 680
1024 T WA v REE LR RAT KR 2 680
1025 ESEDS FRE LR KA AR 2 800
1026 BT v REE LR KA EAR 1 340
1027 A B v RE LR RAT KR 1 460
1028 # 1 Jz T REE LE KA EAR 1 400
1029 # %X FRE LR KA AR 1 340
1030 il v REE LR RAT KR 1 400
1031 7K ¥ 7t v RE LR RAT KR 1 400
1032 K F T RE LE KA EAR 2 800
1033 7K F 3k BEEE s _HREZS KA R AR 2 680
1034 2 4R LAREE ¢ _HEXEZ S RAT KR 3 1200
1035 FIEE LEBEE 2 _HREZS KA AR 1 400
1036 EALHE LEBEE 2 _HREZS KA AR 3 1020
1037 K LAREE ¢ _HEXEZ S RAT KR 4 1360
1038 & 3% LEBEE 2 _HREZS KA AR 1 400
1039 V& fm IE LAREE ¢ _HEXEZ S KA EAR 2 800
1040 T F LAREE ¢ _HEXEZ S RAT KR 2 800
1041 XFH % LAREE ¢ _HEXEZ S RAT KR 4 1360
1042 = kS iE KA AR 1 460




1043 KR W% HhiE KA R AR 2 920
1044 W IF 1 Wh S hiE KA EAR 1 400
1045 7K R N WS hiE RATRAR 1 400
1046 FR#F Wk % HhiE KA EAR 2 800
1047 KK = Wh S HiE KA R AR 1 460
1048 B A WS HhiE RATRAR 1 400
1049 vk WS ThiE KA R AR 1 400
1050 KK F WS HhiE KA EAR 1 400
1051 TER WS ThiE KA R AR 2 800
1052 B WS THhiE KA R AR 1 400
1053 AT W% HhiE KA R AR 2 800
1054 % IF & WS HhiE KA EAR 2 800
1055 Kok = WS hiE RAT KR 1 340
1056 B XE Wk % HhiE KA EAR 1 400
1057 FRE WS HhiE KA R AR 1 340
1058 L Wh s hiE RATRAR 2 920
1059 fE WS hiE RAT KR 2 800
1060 M X E WS HhiE KA EAR 1 400
1061 TIEH WS ThiE KA R AR 1 400
1062 EEY Wh s HhiE RATRAR 1 340
1063 EAFE W% HhiE KA R AR 1 460
1064 BB X WS HhiE KA EAR 2 680
1065 X &% Ko ThiE RATRAR 1 340
1066 WIE Wk S HhiE KA EAR 1 340
1067 i WS HhiE KA EAR 1 400
1068 7k 7 3 WS THhiE KA R AR 1 400
1069 EX R WS THhiE KA R AR 2 800
1070 MER WS HhiE KA EAR 2 800




1071 BRI 1 KA R AR 1 400
1072 B F g KA EAR 1 400
1073 FRZ HiE RAT KR 1 400
1074 M5 IR o1& KA EAR 1 400
1075 ED S I & KA R AR 1 400
1076 R I I 1E RATRAR 1 400
1077 BENR HiE RAT KR 1 400
1078 X g o1& KA EAR 1 400
1079 ] & RAT KR 1 400
1080 AIE HAE RAT KR 3 1380
1081 AR AE A E KA R AR 2 920
1082 B E #HAE KA EAR 2 920
1083 M R HAE RAT KR 1 400
1084 ERak #HAE KA EAR 1 400
1085 RAX #HAE KA R AR 2 920
1086 BUR 2 #AE RAT KR 2 800
1087 XN E AR RAT KR 1 400
1088 EA HAE KA EAR 1 400
1089 7K & A #AE RAT KR 3 1380
1090 k] HAE RAT KR 2 920
1091 R #HAE KA R AR 2 680
1092 75 B HAE KA EAR 1 400
1093 E X HAE RAT KR 1 400
1094 R E #HAE KA EAR 2 920
1095 i #HAE KA EAR 1 400
1096 el HAE KA R AR 1 340
1097 A HAE RAT KR 2 920
1098 el HAE KA EAR 1 400




1099 F=-= NE S #HAE KA AR 3 1200
1100 FRE NE S #HAE KA EAR 1 400
1101 mET NE S HAE KA R AR 1 400
1102 T ¥ NES #HAE KA EAR 1 400
1103 B AE NE S #HAE KA R AR 1 400
1104 R IEAT NE S #HAE RAT KR 1 340
1105 e ME S #HAE RAT KR 1 400
1106 BEA NE s #HAE KA EAR 1 400
1107 A NE S #HAE RAT KR 2 800
1108 el NE S HAE KA R AR 2 800
1109 BIFE NE s #HAE KA R AR 1 400
1110 b A NE S #HAE KA EAR 2 800
1111 BR T NE S #HAE RAT KR 1 400
1112 FXRZ NE S #HAE KA EAR 1 400
1113 HEE NE S HAE KA R AR 2 800
1114 B ME S WwAE RAT KR 1 400
1115 B E 5k ME S #HAE RAT KR 1 400
1116 R % NE S #HAE KA AR 3 1200
1117 AL AR WE S #HAE RAT KR 1 400
1118 MEY ME S WwAE RAT KR 1 400
1119 ) a NE s #HAE KA R AR 1 400
1120 X X NE S #HAE KA EAR 1 400
1121 RIEE NE S #HAE RAT KR 1 340
1122 wE_Z NE S #HAE KA EAR 1 340
1123 A NE S #HAE KA AR 3 1200
1124 KA FLs xRN ES KA R AR 2 800
1125 TR E Filby XN ES RAT KR 1 400
1126 F At FLs XN ES KA EAR 2 800




1127 FE FLs RN ES KA R AR 1 400
1128 BHEN Fihs XN ES KA EAR 1 400
1129 A AR FLs xRN EL KA R AR 1 340
1130 H I = Fhs XN ES KA EAR 2 800
1131 T AR Fihs RN ER KA R AR 2 800
1132 ek FLs XN ES KA R AR 2 800
1133 A Filby XN ER RAT KR 3 1200
1134 L E Fhs XN ER KA EAR 4 1600
1135 H W % Fiby XN ES KA R AR 1 400
1136 B fE FLy XN ER RAT KR 1 400
1137 e Fhs RN ER KA R AR 1 400
1138 B % Fhs XN ES KA EAR 1 400
1139 ARXK FLs xRN EL KA R AR 3 1020
1140 T4 Fhs XN ES KA EAR 1 400
1141 B Ty bRXNESL KA R AR 2 800
1142 I % FiLy XN ER RAT KR 1 400
1143 TR = Filby bAxXNES RAT KR 2 800
1144 = Fhs XN ER KA EAR 2 800
1145 B AL Fiby XN ES KA R AR 2 800
1146 BIF¥ FiLy b ER KA R AR 1 460
1147 LEE FiLs RN ES KA R AR 1 400
1148 MR FLs BN ER KA EAR 1 400
1149 X R AT FiLy XN ES RAT KR 3 1380
1150 EHEL FLs XN ES KA EAR 1 400
1151 TR FLs RN ER KA EAR 2 800
1152 HAE FLs xRN ES KA R AR 2 800
1153 BE FLs xRN EL KA R AR 1 400
1154 B FLs XN ES KA EAR 2 800




1155 KN E 5% % FHHaZE4S KA R AR 3 1200
1156 e 5% 4 fHitZ2 KA EAR 2 800
1157 )& BEX 4% ftZa RAT KR 2 800
1158 15 5% 5% 4 fHtZ4 KA EAR 1 340
1159 I Bt 5% % FHIRZES KA R AR 1 400
1160 BRE XS5 fHtZa RAT KR 2 800
1161 AR BEX S5 fHtZEa RAT KR 2 680
1162 5 5% FIRZES KA EAR 2 800
1163 A E BEx 4% fHtZa KA R AR 2 800
1164 FHRE 5% % FHIHZES KA R AR 1 400
1165 x| 37 4 5% % FHHaZE4S KA R AR 3 1200
1166 FRHE 5% FIRZES KA EAR 1 400
1167 WHRE 5% % FHIRZES KA R AR 2 800
1168 R T 5% 4 fHitZe KA EAR 2 800
1169 W& 5% % FIRZES KA R AR 4 1600
1170 FHE 5% % FIRZES KA R AR 2 800
1171 R A EES IR IS RAT KR 1 400
1172 EZA M 5% 4 fHitZ4 KA EAR 2 800
1173 F )& BEx 4% fHtZa KA R AR 1 400
1174 ¥ e 5% % FHIRZES KA R AR 3 1200
1175 KA A 5% % FIRZES KA R AR 1 400
1176 B FR 5% FIRZES KA EAR 1 400
1177 45 IF # BEX 4% ftZa RAT KR 1 400
1178 =52 b5 FIRZES KA EAR 2 800
1179 T % 5% % FIRZES KA EAR 2 800
1180 FRE 5% % FHIRZES KA R AR 7 2800
1181 M IE % BEX S5 fHtZEa RAT KR 1 400
1182 X ER 5% 5 FHHZ4S KA EAR 6 2400




1183 ZRE 5% % FIRZES KA R AR 1 400
1184 LEF 5% 4 fHitZ2 KA EAR 1 340
1185 D& BEX 4% ftZa KA R AR 3 1200
1186 FHE 5% 4 fHtZ4 KA EAR 2 800
1187 EOUK 5% % FHIRZES KA R AR 2 800
1188 P XS5 fHtZa RAT KR 2 800
1189 FE = 5% % FHIRZES KA R AR 1 400
1190 x| 2 = 5% FIRZES KA EAR 1 400
1191 K= BEx 4% fHtZa KA R AR 2 800
1192 T B 5% % FHIHZES KA R AR 2 800
1193 =N E 5% % FIRZES KA R AR 1 340
1194 e 5% 4 fHtZ2 KA EAR 1 400
1195 A R X% ftZEa KA R AR 2 800
1196 & kA 5% FIRZES KA EAR 1 340
1197 e 5% % FIRZES KA R AR 1 400
1198 = Eg BEX 45 ftZEa RAT KR 1 400
1199 =7 5% % FHIRZES KA R AR 2 680
1200 EaEa 5% % FIRZES KA EAR 2 680
1201 vk BEx 4% fHtZa KA R AR 2 800
1202 KA A 5% % FHIRZES KA R AR 1 460
1203 biki=E3 5% % FIRZES KA R AR 2 800
1204 A 5% S FHHZES KA EAR 1 400
1205 g4 5% % FHIRZES KA R AR 1 400
1206 ZAW 5% 4 fHitZ4 KA EAR 1 400
1207 ROt 5% 4 fHAZ2 KA EAR 3 1200
1208 ZRE 5% % FHIRZES KA R AR 1 400
1209 KM= 5% % FHIRZES KA R AR 1 400
1210 FEAE 5% % FIRZES KA EAR 1 400




1211 Ny 5% 4% fAZ2 KA R 1 340
1212 W IF & 5% 4 fHitZ2 KA EAR 1 400
1213 A BRI BEX 4% ftZa RAT KR 1 460
1214 YT E 5% % FIRZES KA AR 3 1020
1215 Eid 5% 4 fHAZ2 KA R AR 2 800
1216 L1595 5% % FHIRZES KA AR 1 400
1217 X FE X BEX S5 fHtZEa RAT KR 3 1020
1218 kI B ERE CRENZS KA EAR 3 1380
1219 Y& BhE CREAZS RAT KR 1 400
1220 AN BhE CREAZS RAT KR 2 800
1221 AR ERE ERENES KA R AR 2 800
1222 Exiin R ERENES KA EAR 2 800
1223 IEE BhE CREAZS RAT KR 3 1020
1224 KK E ERE CRENZS KA EAR 2 800
1225 EX &l R ERENES KA R AR 2 800
1226 X IF A BhE CREAZS RAT KR 2 800
1227 S BrE CREAZS RAT KR 1 400
1228 L iPaY A ERENES KA EAR 1 340
1229 XX A& BhE CREAZS RAT KR 2 800
1230 Mt = BhE CREAZS RAT KR 2 800
1231 K2 ERE CRENES KA R AR 3 1380
1232 178k R ERENES KA EAR 2 920
1233 KAl BhE CREAZS RAT KR 1 400
1234 # IF 4 A ZRENES KA EAR 2 800
1235 KA Z R ERENES KA EAR 2 800
1236 A BhE CREAZS RAT KR 2 800
1237 AxT BhE CREAZS RAT KR 1 400
1238 7k IF 7k ERE CRENZEZS KA EAR 1 340




1239 X 3% JE BhE TRETIHRZS KA R AR 2 800
1240 FLE HEE THETHZS KA EAR 3 1020
1241 S BhE TR ZS RAT KR 1 400
1242 B A BhE TRETIHRZS KA EAR 3 1200
1243 R4 tE HEE TETHZS KA R AR 2 920
1244 S & BhE TR ZS KA R AR 1 460
1245 A e vETRHZS RAT KR 2 800
1246 7K R BhE TRETHRZS KA EAR 3 1200
1247 R BhE TR ZS RAT KR 2 920
1248 Z I BrhE TR ZS KA R AR 1 400
1249 TZA B BhE TRETRZS KA R AR 2 800
1250 RIETE HEE THETHZS KA EAR 2 800
1251 FXE BhE TR ZS KA R AR 1 400
1252 M A AR EhE TRETIHRZS KA EAR 1 400
1253 7K AE ) HEE THETHZS KA R AR 2 800
1254 Zi & BhE TR ZS KA R AR 2 800
1255 AT e TR ZS RAT KR 1 400
1256 2FX BhE TRETHRZS KA EAR 1 400
1257 TZAH BhE TR ZS KA R AR 1 400
1258 TAF R BhE v THZS RAT KR 3 1200
1259 =BT BhE TRETIHRZS KA R AR 2 800
1260 AT HEE THETHZS KA EAR 1 400
1261 EREES BhE TR ZS KA R AR 1 400
1262 FA EhE TRETIHRZS KA EAR 1 400
1263 Ten HEE THETHRZS KA EAR 1 400
1264 Z ik BhE TR ZS KA R AR 1 400
1265 X & e TR ZS RAT KR 1 400
1266 FLH BhE TRETHRZS KA EAR 1 400




1267 A BhE TRETIHRZS KA R AR 2 800
1268 X <A HEE THETHZS KA EAR 2 800
1269 M >k BhE TR ZS RAT KR 3 1020
1270 M A SEEE B KA AR 6 2040
1271 By SEEE Bt KA R AR 1 400
1272 2 SEMTE A RAT KR 1 340
1273 ED SN SEEE M KA R AR 1 400
1274 H B AR SEEE Bt KA EAR 1 340
1275 EXETD SEME At RAT KR 2 680
1276 EvaN] SEMTE A RAT KR 2 680
1277 £S5 SEEE Bt KA R AR 1 400
1278 H E it SEGE Bt KA EAR 1 400
1279 YA SEME At RAT KR 1 400
1280 ok 1IF SEEE B KA AR 3 1020
1281 M E SEEE Mt KA R AR 1 460
1282 B E & SEMTE A RAT KR 1 340
1283 ER SEME At RAT KR 1 400
1284 7K 7 SEHE Bt KA EAR 1 340
1285 TH = SEME At RAT KR 1 340
1286 = SEMTE A RAT KR 3 1020
1287 1 ¥ SEEE Bt KA R AR 1 340
1288 WEEE SEGE Bt KA EAR 1 400
1289 Mm% = SEME At RAT KR 1 340
1290 RS SEEE B KA EAR 1 340
1291 Hx%& SEEE B KA EAR 1 400
1292 & SEATE W KA R AR 6 2400
1293 FER SEME I RAT KR 1 340
1294 7 B RlLBTEAEL B KA EAR 2 800




1295 AT FlLEEAEL B KA R AR 2 800
1296 KA RlLEEhEL B KA EAR 1 340
1297 i Bl A EL EE RAT KR 1 400
1298 #A A Rl AEL B KA EAR 1 400
1299 s — FlLEEAEL FH KA R AR 1 340
1300 B Bl hEL EE RAT KR 1 400
1301 HIEE Bl A EL EE RAT KR 1 400
1302 A X A RlLBTEAEL B KA EAR 1 400
1303 LN Bl A EL EE RAT KR 1 400
1304 EERd FlLEEAEL FE KA R AR 1 400
1305 JE FlLEEAEL FE KA R AR 1 400
1306 KE A FRLE KL KA EAR 1 340
1307 7 &4 FELE Rl RAT KR 1 400
1308 M A RLE KL KA EAR 1 400
1309 x| £ & LE KL KA R AR 1 340
1310 VA FELE R RAT KR 1 400
1311 A A kL Rl RAT KR 1 340
1312 B kLE KL KA EAR 1 400
1313 FAEF FELE Rl RAT KR 2 680
1314 FARE FLE Rl KA R AR 2 800
1315 o4 LR R KA R AR 2 680
1316 I Fl RLE KL KA EAR 2 680
1317 X 78 FELE Rl RAT KR 1 340
1318 & A LR R KA EAR 1 400
1319 YR AL R KA EAR 1 340
1320 2 FEAL4E E L KA R AR 1 340
1321 X F FELE Rl RAT KR 1 400
1322 =X F RLE KL KA EAR 2 680




1323 = A ELE KL KA R AR 2 800
1324 e L R KA EAR 2 800
1325 e FELE Rl RAT KR 2 800
1326 Z H I FRALE R KA EAR 2 680
1327 = AT kLE KL KA R AR 1 340
1328 XK FELE R RAT KR 1 340
1329 e IF F7 L Rl RAT KR 1 340
1330 748 kLE KL KA EAR 2 680
1331 VS FELE KL RAT KR 3 1200
1332 LA E FELE R RAT KR 1 340
1333 %7 kLE KL KA R AR 1 340
1334 & FZHE FRLE KL KA EAR 2 800
1335 ko= FLE KL RAT KR 3 1020
1336 X K3 AL R KA EAR 1 340
1337 &7t LE KL KA R AR 2 800
1338 RELL FELE R RAT KR 1 340
1339 FE X kL Rl RAT KR 1 340
1340 = A kLE KL KA KR 1 340
1341 B A H FELE Rl RAT KR 1 340
1342 L R FELE R RAT KR 3 1020
1343 g RA kLE KL KA R AR 1 340
1344 BFEH RLE KL KA EAR 4 1360
1345 PR A& FELE Rl RAT KR 1 340
1346 X\ A LR R KA EAR 1 340
1347 e FRAL4E R KA EAR 2 680
1348 KFE FOLE Rl KA R AR 1 340
1349 =3 FoLE Rl KA R AR 1 340
1350 = A LR R KA EAR 1 340




1351 Vi d €2 AL R KA R AR 1 340
1352 X FRLE KL KA EAR 1 340
1353 = BE Uk FELE Rl RAT KR 1 340
1354 A L R KA EAR 1 340
1355 = FRAL4E R KA R AR 1 340
1356 B FELE R RAT KR 1 340
1357 x| 8 & L Rl RAT KR 1 340
1358 2 LR R KA EAR 1 340
1359 ERE FELE KL RAT KR 1 340
1360 B E4 FILE KL RAT KR 1 400
1361 X B 2R AL R KA R AR 4 1360
1362 RE= AL R KA EAR 3 1020
1363 Rl FELE Rl RAT KR 1 400
1364 s R 1E KA EAR 1 460
1365 FXRE RAE 18 KA R AR 3 1020
1366 X BAE E RAT KR 6 2040
1367 Ex 3 BAE fE KA R AR 1 340
1368 A k1 BALE g KA EAR 3 1020
1369 e R BAE E RAT KR 3 1020
1370 a3k R4 /8 KA R AR 1 340
1371 EER B E KA R AR 2 680
1372 X = R /B KA EAR 1 340
1373 FRK BAE fE RAT KR 2 680
1374 ENEER RAHE 1E KA EAR 1 340
1375 KEX RAbE 18 KA EAR 4 1360
1376 EEAR BAE E RAT KR 1 340
1377 & 1F ¥ B4 fE RAT KR 5 1700
1378 = & BAHE E KA EAR 2 680




1379 AR B 1E KA R AR 2 680
1380 EVSS R /B KA EAR 4 1360
1381 KT B4 fE KA R AR 1 340
1382 EE A R E KA EAR 1 340
1383 &= B RAE 18 KA R AR 2 680
1384 F AR BAE fE RAT KR 3 1020
1385 el B4 fE RAT KR 3 1020
1386 e BALE g KA EAR 3 1020
1387 ERE RALE /& RAT KR 4 1360
1388 AT iE BAE fE RAT KR 3 1020
1389 F4W BALE /g KA R AR 3 1020
1390 it R /B KA EAR 3 1020
1391 M ER B4 E RAT KR 3 1020
1392 EHRE R 1E KA EAR 1 340
1393 R RAE 18 KA R AR 1 340
1394 7K F Al BAE E RAT KR 1 340
1395 I % BAE fE RAT KR 7 2380
1396 IR BALE g KA EAR 3 1020
1397 LR BAE E RAT KR 3 1020
1398 i RALE /& RAT KR 1 340
1399 = RE B E KA R AR 1 340
1400 FR¥ R /B KA EAR 2 800
1401 FXR BAE fE RAT KR 2 800
1402 7K 4 R BALE g KA EAR 1 340
1403 B REE G E KA EAR 1 400
1404 KIFE BAEE G E RAT KR 2 680
1405 T & BAE G E RAT KR 2 800
1406 L BEE JEE KA EAR 1 400




1407 LA BALE G E KA AR 3 1380
1408 FHER RAEE JEE KA EAR 1 340
1409 . F A RAEHE I E KA R AR 1 460
1410 T A¥ RAEHE GEEF KA EAR 2 800
1411 AR RAEHE JEE KA R AR 1 340
1412 KA B FEE KA R AR 2 800
1413 Y7+ BAE G E RAT KR 2 680
1414 e BEE gEE KA EAR 1 340
1415 KA R BALE v E RAT KR 1 340
1416 & IR AR BAEE G E RAT KR 3 1020
1417 MED BEE gEE KA R AR 1 400
1418 kEFE RAEE G E KA EAR 2 680
1419 HEX RAEHE I E KA R AR 2 800
1420 i BAEE gEE KA EAR 1 400
1421 EEE REE G EH KA R AR 2 680
1422 TR E A FRE EF RAT KR 4 1360
1423 fv= T RE EE RAT KR 2 800
1424 R =% T REE HE KA EAR 1 340
1425 H R FRE EH RAT KR 3 1020
1426 KA B v RE FF RAT KR 2 680
1427 Tk 4k F T RE HE KA R AR 2 680
1428 EXiES T RE HE KA EAR 1 340
1429 KRB T RE EE RAT KR 1 340
1430 F T REE EE KA EAR 3 1020
1431 ek T RE HE KA EAR 3 1020
1432 = A FRE EE RAT KR 1 340
1433 =X T RE EH RAT KR 1 340
1434 7K X # T REE HE KA EAR 2 680




1435 FitE T RE HE KA R AR 2 680
1436 X B R T RE HE KA EAR 1 460
1437 7k IF %% TRE EF RAT KR 2 680
1438 KA T RE EE KA EAR 1 340
1439 4T T REE HE KA R AR 3 1020
1440 7K RCBR T RE TF RAT KR 1 340
1441 FFiE T RE EH RAT KR 3 1020
1442 Fx#H P RE TF KA EAR 1 340
1443 e FRE EH RAT KR 1 340
1444 S Y RE FF RAT KR 1 340
1445 WEES T RE HE KA R AR 3 1020
1446 EZ T RE HE KA EAR 1 340
1447 KR A T RE EF RAT KR 1 340
1448 T4 & T REE EE KA EAR 1 340
1449 A& E P RE TF KA R AR 2 680
1450 ZHF FRE EF RAT KR 1 340
1451 R 2 WTFEE KEH RAT KR 1 460
1452 Ey R BTFEE KEH KA EAR 1 460
1453 7K IF 7T BTFEE KEH RAT KR 2 800
1454 FHF WTFEE KEH RAT KR 1 400
1455 L BTFEE KEH KA R AR 2 800
1456 B X E BTFEE KEH KA EAR 2 800
1457 B8 A )i BTFEE KEH RAT KR 4 1360
1458 B FEAT wFEE KEH KA EAR 1 340
1459 7K X BTFEE KEH KA EAR 1 400
1460 KHEZ WTFEHE KEH KA R AR 2 800
1461 i TFEE KEH RAT KR 1 400
1462 7KK A BTFEE KEH KA EAR 2 800




1463 K HH BTFEE KEH KA R AR 1 400
1464 KAZ LREE pE KA EAR 1 340
1465 FAE b REE iE KA R AR 3 1020
1466 & 4R BARESE & KA EAR 1 460
1467 FEY LREE pE KA R AR 1 400
1468 LR bR E RAT KR 1 340
1469 R b REE iE KA R AR 1 340
1470 F K BARESE gt KA EAR 2 800
1471 KEE BREE g RAT KR 2 800
1472 2[5 & bR e RAT KR 3 1020
1473 RMEF LREE pE KA R AR 1 460
1474 Tk A& LREE gE KA EAR 1 340
1475 APE bR E RAT KR 2 800
1476 K IEFH LREE pE KA EAR 1 400
1477 H IF A} LREE gE KA R AR 1 400
1478 e BREE pE KA R AR 1 340
1479 FRE bR E RAT KR 3 1020
1480 KAt = BARESE gt KA EAR 2 800
1481 E=5HE K b REE iE KA R AR 1 340
1482 FHE bR E RAT KR 2 680
1483 EEX BARESE gt KA R AR 3 1020
1484 FF LREE g KA EAR 2 800
1485 R AR BARESE s KA R AR 2 680
1486 HEE BAREE g KA EAR 1 400
1487 K IF 2 L RBE e KA EAR 1 400
1488 KX BREE pE RAT KR 3 1200
1489 MR F b REE iE KA R AR 1 340
1490 7K T HE BAREE gt KA EAR 1 340




1491 F35At % XAk KA R AR 1 340
1492 RS k5 XAk KA EAR 3 1200
1493 7K R X WS XA RAT KR 1 340
1494 KR % XAk KA EAR 1 340
1495 AR S % XAk KA R AR 1 340
1496 7K N ik WS XM RAT KR 1 340
1497 ZEE WS XM RAT KR 1 340
1498 F A k5 XAk KA EAR 2 680
1499 FrE WS XA RAT KR 6 2400
1500 4k WS XM RAT KR 1 340
1501 7k A B 5 XAk KA R AR 3 1020
1502 AR 5 XAk KA EAR 3 1020
1503 e WS XA RAT KR 2 680
1504 P % XAk KA EAR 1 340
1505 F X% 5 XAk KA R AR 2 920
1506 KX E S XA KA R AR 2 680
1507 7 7= 77 W5 XM RAT KR 1 340
1508 EE S k5 XAk KA EAR 1 340
1509 (a3 S XA KA R AR 2 920
1510 KA F WS XA RAT KR 2 800
1511 KI5 % 5 XAk KA R AR 1 340
1512 EiA 5 XAk KA EAR 1 340
1513 FELF WS XA RAT KR 1 340
1514 BT WS XA KA EAR 1 340
1515 KA WG XA KA EAR 2 680
1516 M2k WS XM RAT KR 3 1020
1517 R aE S5 XM RAT KR 3 1380
1518 K K18 k5 XAk KA EAR 2 680




1519 Z W WS XA KA R AR 1 400
1520 I IF % k5 XAk KA EAR 1 340
1521 X WS XA RAT KR 2 680
1522 JRNEGS % XAk KA EAR 2 800
1523 ELEES % XAk KA R AR 1 340
1524 7K R A RS XA KA R AR 1 460
1525 % WS XM RAT KR 1 400
1526 7k IE WS XA KA EAR 2 920
1527 KR E WS XA RAT KR 1 340
1528 =R WS XM RAT KR 1 340
1529 Eaiid WS XA KA R AR 1 340
1530 i & 5 XAk KA EAR 1 340
1531 Tk = % WS XA KA R AR 1 340
1532 =& % XAk KA EAR 4 1360
1533 FEA 5 XAk KA R AR 1 340
1534 KA EE WS XM RAT KR 1 340
1535 T teg W5 XM RAT KR 1 400
1536 TKAIEE k5 XAk KA EAR 1 340
1537 KITE WS XA RAT KR 3 1020
1538 WX 5 WS XA RAT KR 1 340
1539 K He 5 XAk KA R AR 2 680
1540 Fing 5 XAk KA & AR 6 2040
1541 7K o N WS XA RAT KR 1 340
1542 ZEY k% XAk KA EAR 1 340
1543 kAR % XAk KA EAR 1 340
1544 Egia WS XM RAT KR 1 400
1545 B S5 XM RAT KR 1 400
1546 KA R k5 XAk KA EAR 1 340




1547 KoL & % XAk KA R AR 1 340
1548 F oG k5 XAk KA EAR 1 340
1549 EES WS XA RAT KR 2 680
1550 KAEF % XAk KA EAR 2 680
1551 7K fm 82 % XAk KA R AR 1 400
1552 EiiES WS XM RAT KR 1 340
1553 KKE WS XM RAT KR 1 400
1554 7K X R k5 XAk KA EAR 2 680
1555 TKIE G WS XA RAT KR 2 800
1556 7K fm RS XA KA R AR 5 1700
1557 A W5 FH KA R AR 1 460
1558 =FFE W5 FH KA EAR 2 680
1559 2 E AR WS FRH KA R AR 1 340
1560 =W, W5 FH KA EAR 4 1600
1561 THRE k5 FH KA R AR 1 400
1562 kAL WS B RATRAR 1 340
1563 7k Bk At WS BRH RATEAR 1 340
1564 TEZ W5 KA KA EAR 1 400
1565 X &% WS HRH KA R AR 1 460
1566 HEM WS FRH KA R AR 1 400
1567 R F W5 FH KA R AR 4 1600
1568 K& A Wk 5 FH KA EAR 1 340
1569 Z=F & WS B RAT KR 1 340
1570 JE BRI W5 KA KA EAR 1 400
1571 DR W5 FH KA EAR 4 1600
1572 AR WS B KA R AR 3 1200
1573 x1 WS FRH KA R AR 3 1200
1574 ARE W5 FH KA EAR 1 400




1575 # 2% R W5 FH KA R AR 1 400
1576 JE 3% B W5 FH KA EAR 1 400
1577 (bR WS HH KA R AR 1 460
1578 7 [ BR Wk 5 FH KA EAR 3 1200
1579 ERiky W5 FH KA R AR 2 800
1580 EHE WS B RATRAR 2 680
1581 Y &R S FRH RATRAR 2 920
1582 H AT Wk 5 KA KA EAR 3 1020
1583 k& F WS HRH KA R AR 1 340
1584 T AE 7% WS B RAT KR 1 340
1585 7K R & W5 FH KA R AR 1 340
1586 TEHR W5 FH KA EAR 1 340
1587 HEE WS FRH KA R AR 1 400
1588 B 4 W5 FH KA EAR 5 2000
1589 AR A k5 FH KA R AR 1 340
1590 KR % R RATRAR 1 400
1591 J& Bi Bl WS BRH RAT KR 1 340
1592 iG] W5 KA KA EAR 2 800
1593 % WS HH KA R AR 1 400
1594 e WS FRH KA R AR 2 800
1595 M F X RS R KA R AR 1 400
1596 I a1 3 Wk 5 FH KA EAR 1 400
1597 o F % WS FH KA R AR 1 400
1598 s W5 KA KA EAR 1 400
1599 JE A W5 FH KA EAR 2 680
1600 & KA % R RATRAR 1 340
1601 kS WS = RAT KR 1 460
1602 KA WS = KA EAR 1 460




1603 K B R Wk 5 = KA R AR 1 400
1604 A AE A WH S = KA EAR 1 460
1605 X H AR W5 = RAT KR 2 680
1606 X B Wk S = KA EAR 2 680
1607 FHEFE WH S = KA R AR 2 920
1608 &5 & WS = RAT KR 1 400
1609 KR A WS = RAT KR 1 340
1610 i WS = KA EAR 4 1840
1611 EZrhE WS = RAT KR 1 340
1612 = ks = RAT KR 3 1380
1613 ki RS = KA R AR 1 400
1614 s WS = KA EAR 1 460
1615 i WS = RAT KR 1 400
1616 X\ fF 3% Wk S = KA EAR 1 460
1617 MR E Wk S = KA R AR 1 460
1618 i B % kS = RAT KR 3 1380
1619 K& WS = RAT KR 1 340
1620 7k ARt WS = KA EAR 1 400
1621 A= WS = RAT KR 3 1380
1622 7k IF £ W% =" RAT KR 2 680
1623 ER g Wk 5 = KA R AR 2 800
1624 AR Wk S = KA EAR 2 680
1625 7K % 1R WS = RAT KR 1 400
1626 KA B WS = KA EAR 2 800
1627 7K IE AT Wk S = KA EAR 2 800
1628 7K W% =" RAT KR 1 400
1629 7K R, Wk = RAT KR 2 680
1630 7K X8 WS = KA EAR 3 1020




1631 W EF Wk 5 = KA R AR 2 680
1632 KEE Wk S = KA EAR 1 400
1633 &5 = W% =" RAT KR 2 800
1634 & EE Wk S = KA EAR 1 340
1635 iRl Wk S = KA R AR 1 340
1636 Tk ¥ WS = KA R AR 2 800
1637 MR Wk = RAT KR 1 400
1638 WA WS = KA EAR 1 400
1639 2R WS = RAT KR 1 400
1640 i WS = KA R AR 1 400
1641 7K Bt Wk 5 = KA R AR 1 460
1642 K E Wk S = KA EAR 3 1020
1643 KA WS = KA R AR 3 1020
1644 E2HE Wk S = KA EAR 1 400
1645 VRES Wk S = KA R AR 1 460
1646 FHE kS = RAT KR 3 1020
1647 B LEEs HoE RATEAR 1 340
1648 F DEES HEE KA EAR 1 340
1649 X IF A LEEs HoE RAT KR 1 340
1650 ek a3 LEES #HEHE KA R AR 2 680
1651 = DEES #EE KA R AR 1 340
1652 M RY DEES #EE KA EAR 2 680
1653 A LEES #HEE RAT KR 3 1200
1654 x| IF # DEES #EE KA EAR 1 340
1655 iG] DEES #EE KA EAR 3 1020
1656 7K B LEEs HoE RAT KR 1 340
1657 F X LREs HoE RAT KR 2 680
1658 EER DEES HEE KA EAR 1 340




1659 EE= DREES #HEHE KA R AR 2 680
1660 FIEA DEES #EE KA EAR 2 680
1661 K E % LEEs HoE KA R AR 1 400
1662 FEL DEES #EE KA EAR 1 340
1663 KA = DEES HEE KA R AR 1 340
1664 ER N LEEs HoE RAT KR 1 340
1665 e LEES #HEA KA R AR 2 680
1666 E4HHH DEES HEE KA EAR 1 340
1667 R X LEEs HoE RAT KR 2 680
1668 e LEES #HEHE KA R AR 1 340
1669 % gk DEES HEE KA R AR 2 680
1670 e DEES #EE KA EAR 1 400
1671 y bl LEEs HoE KA R AR 1 340
1672 RS DEES #EE KA EAR 2 680
1673 ED S DEES #EE KA R AR 1 340
1674 7K IF 4% LEEs BoE RAT KR 1 340
1675 FE LEES #HEE KA R AR 1 340
1676 ez DREES IR KA EAR 1 340
1677 B LEES #HEA KA R AR 3 1200
1678 R FHE B LEES #HEHE KA AR 2 680
1679 X\ 8 2 DEES #EE KA R AR 2 680
1680 x| IF £ DEES #EE KA EAR 1 340
1681 kK ER LEES #HEE KA R AR 1 340
1682 EGES DEES #EE KA EAR 2 680
1683 17 IF X DEES #EE KA EAR 1 400
1684 AT aE LEES #HEHE KA R AR 1 340
1685 HEF DRES #HoH KA R AR 1 400
1686 7K B 2 DREES IR KA EAR 2 800




1687 FIEF D EES HEE KA R AR 2 800
1688 T DEES #EE KA EAR 1 400
1689 E£IFH LEEs HoE RAT KR 4 1360
1690 B A DEES L@ KA EAR 2 680
1691 # B DEES E1E KA R AR 1 340
1692 i Fr Ly E4E RAT KR 1 340
1693 M A LT LEEs L4 RAT KR 1 340
1694 ZH¥ DEES EE KA EAR 1 400
1695 oL LEEs L4 KA R AR 1 340
1696 PR 2 LEEs L4 KA R AR 1 400
1697 WEFH D EES E1E KA R AR 1 340
1698 MR X DEES E1E KA EAR 1 340
1699 X 4 Ly L4 RAT KR 1 400
1700 HEZ DEES L@ KA EAR 1 340
1701 FHA DEES L1E KA R AR 1 340
1702 I+ Loy E4E RAT KR 1 340
1703 e = LEEs L4 RAT KR 1 340
1704 KRG DEES EE KA EAR 1 400
1705 EGES Ly L4 RAT KR 1 400
1706 W EE LEEs L4 KA R AR 1 400
1707 Al EE DEES LE KA R AR 1 340
1708 % & K DEES L1E KA EAR 1 400
1709 2k RAL Oy LA RAT KR 1 460
1710 F e DEES L@ KA EAR 1 340
1711 I 1o DREES L8 KA EAR 1 340
1712 PR E Ly E4E RAT KR 1 340
1713 & B LEEs L4 KA R AR 1 340
1714 = DEES LE KA EAR 4 1360




1715 S i KA R AR 1 400
1716 E! T 1E KA EAR 1 340
1717 X 4L & RAT KR 2 680
1718 BRiT A i KA EAR 1 400
1719 XE K T & KA R AR 1 340
1720 KN K & RAT KR 1 340
1721 5= I T KA R AR 2 680
1722 BRER L& KA EAR 1 460
1723 i BR A & RAT KR 1 400
1724 ERZ LA KA R AR 1 340
1725 H T ¥ i KA KR 1 340
1726 R E AT T 1E KA EAR 1 340
1727 x| & & RAT KR 1 340
1728 il i KA EAR 1 340
1729 BRI T & KA R AR 1 340
1730 H IF 5% & RAT KR 1 340
1731 & H T KA R AR 1 400
1732 ZXE T & KA EAR 3 1020
1733 7k K L5 KA R AR 1 340
1734 2K LA KA R AR 1 340
1735 X B T T & KA R AR 1 400
1736 FER T & KA EAR 1 340
1737 2= & RAT KR 1 400
1738 5 Jim it R KA EAR 1 400
1739 i R KA EAR 1 340
1740 e & RAT KR 1 400
1741 x| it R KA R AR 2 680
1742 PN = i KA EAR 1 340




1743 (k% D EES EE KA R AR 1 340
1744 K E R DEES L1E KA EAR 3 1020
1745 Mz Ly L4 RAT KR 1 340
1746 ZH2 DEES L@ KA EAR 1 340
1747 PRAH 2% DEES AR KA R AR 4 1600
1748 PR 2 A LRES AR RAT KR 1 340
1749 EEEN LREES AR RAT KR 2 920
1750 I % DEES AR KA EAR 1 340
1751 FRE LEES AR RAT KR 2 920
1752 7k IF #% LEES AR RAT KR 1 400
1753 e DEES AR KA R AR 1 460
1754 rF = DREES AR KA EAR 1 340
1755 BB LEES Ak RAT KR 2 680
1756 E X DEES HIlK KA EAR 2 680
1757 FmE DEES AR KA R AR 1 400
1758 7k IF AX LEES AR RAT KR 1 400
1759 SR E LEES AR RAT KR 1 340
1760 Ji & % DEES AR KA AR 3 1380
1761 Gy LREES AR RAT KR 2 680
1762 CESS LEES Ak RAT KR 4 1360
1763 Fh¥ DEES BhA KA & AR 3 1020
1764 HE DEES BhA KA EAR 2 680
1765 ] LEE S RA RAT KR 4 1600
1766 i DEES BhA KA EAR 4 1840
1767 B3 DEES BhA KA EAR 2 800
1768 L LEES BRA RAT KR 1 400
1769 5 a% LREE S RA RAT KR 3 1380
1770 ¥ DEES BhA KA EAR 1 340




1771 T E DEES BhA KA R AR 2 800
1772 i DEES BhA KA EAR 1 400
1773 T ohF NE S & RAT KR 2 680
1774 A WE S sl KA EAR 2 680
1775 It WE S sl KA R AR 1 400
1776 &= A NE S & RAT KR 4 1360
1777 M5 4a ME % RAT KR 1 340
1778 ME WE S sl KA EAR 1 400
1779 FRTT WE S & RAT KR 1 340
1780 A A WE % 3 RAT KR 4 1600
1781 & FE WE S sl KA R AR 2 800
1782 EIT R WE S sl KA EAR 1 340
1783 A A WE S %l KA R AR 1 340
1784 EI A ME S & KA KR 1 340
1785 E2EA WE S sl KA R AR 1 340
1786 R TE NE S & RAT KR 3 1020
1787 2 Tt Tt ME % RAT KR 1 340
1788 ANl WE S sl KA EAR 2 680
1789 &= /% NE S & RAT KR 1 340
1790 3wy WE % %Wl KA R AR 2 680
1791 B WE S sl KA R AR 1 340
1792 F X3 WE S sl KA EAR 5 2000
1793 EKE WE S & RAT KR 3 1020
1794 X 48 it WE S sl KA EAR 1 340
1795 < WE S sl KA EAR 1 400
1796 5 NE S & RAT KR 1 460
1797 il ME % RAT KR 1 400
1798 HIEF WE S sl KA EAR 1 340




1799

340

1800

340

1801

400

1802

340

1803

340

1804

340

1805

340

1806

400

1807

340

1808

2040

1809

340

1810

340

1811

340

1812

680

1813

340

1814

340

1815

340

1816

340

1817

400

1818

680

1819

1360

1820

680

1821

400

1822

1020

1823

400

1824

400

1825

1200

1826

all EPCH Rl el KON i BN RN SN B GOl e e i e e NI e I e NPT e e e W e I e e B

400




1827

400

1828

400

1829

1020

1830

400

1831

400

1832

1020

1833

680

1834

400

1835

400

1836

800

1837

680

1838

680

1839

460

1840

1020

1841

1020

1842

400

1843

1200

1844

1020

1845

1600

1846

1360

1847

1360

1848

400

1849

800

1850

800

1851

400

1852

400

1853

400

1854

— ===l =SSl lwlw— NN N = =D == W]

400




1855 BT¥= WEs F£ KA R AR 2 800
1856 # IF B WEz F& KA AR 4 1360
1857 XK E ME s FX RAT KR 2 800
1858 2= H 21 NEs £ KA EAR 2 800
1859 5 M WEz & KA AR 1 400
1860 JA % — NEs % RAT KR 3 1020
1861 RS ME s FX RAT KR 3 1200
1862 = nEs F& KA EAR 4 1360
1863 * H NEs £ RAT KR 1 400
1864 TEZ BX % AEZHNZES KA R AR 1 400
1865 7K F W BXRY AFZHRNZES KA AR 1 340
1866 et 5% 9 KEHKNZES KA AR 2 800
1867 THAE X% AEZHNZES KA R AR 2 680
1868 F =) B% 4 AZHHEL KA EAR 2 680
1869 E=HFH 5% 9% KREHNES KA AR 1 400
1870 HEA X% KAEHNZS KA R AR 1 400
1871 B BRY AFZHNZS KA AR 1 400
1872 S 5%y KEHKNZES KA AR 2 800
1873 B K B BXRY AFZHNZS KA R AR 2 800
1874 AR BRY AZHNZS KA AR 1 400
1875 B BXRY KZHRNZES KA AR 1 400
1876 [ 5% 9 KEHKNZES KA AR 2 800
1877 TREE X% AEZHNZES KA R AR 1 400
1878 KB B5EX % KEHMNZES KA EAR 6 2400
1879 T F A 5% 9 KEHNZES KA AR 2 800
1880 I IE 5EX % AEHNZS KA R AR 2 800
1881 THEX LESNN & 0 KA R AR 2 680
1882 A HE B% 4 AEZHWHESL KA EAR 2 680




1883 =A% 5% 9 KEHNZES KA AR 2 800
1884 ok IF 3% 5% 9 KEHNZES KA AR 1 340
1885 AR AR 5EX % AEZHNZS KA R AR 1 400
1886 BR KA 5%y KEHANZES KA AR 2 800
1887 BRIk X 5% 9% KREHNZES KA AR 2 680
1888 B 5EX % KEHNZS KA R AR 1 400
1889 S BRY AFZHNZS KA AR 2 800
1890 RS B% 45 AEZHWHEL KA EAR 2 800
1891 A JE T LESNN & KA R AR 1 400
1892 B E BRY AZHNZS KA AR 2 800
1893 R E & 5% % KEHMNZES KA R AR 1 400
1894 ¥ EF 5% 9 KEHKNZES KA AR 1 400
1895 ¥t BRY AFZHNZS KA R AR 1 400
1896 GRS B5EX % KEHMNZES KA EAR 2 920
1897 Ve 5% 9% KREHNES KA AR 2 680
1898 2 2T X% KAEHNZS KA R AR 1 400
1899 & 4T 5X % AZHNZES KA R AR 2 680
1900 b X A B% 45 AEZHWHESL KA EAR 1 400
1901 WEE LESRN & KA R AR 1 400
1902 B IF & BRY AZHNZS KA AR 1 340
1903 A B 5% % KEHMNZES KA R AR 4 1360
1904 R 5% 9 KEHKNZES KA AR 1 400
1905 Bk X% AEZHNZES KA R AR 1 400
1906 =47 B% 4% AZHHEL KA EAR 1 400
1907 e 5% 9 KEHNZES KA AR 1 400
1908 T 1 BXRY AFZHNZS KA AR 1 340
1909 ¥ E% BX % AZHNZES KA R AR 2 800
1910 X EF 5% 9 KEHANZES KA AR 1 400




1911 TR = 5% % KEHMNZES KA R AR 3 1020
1912 EL S 5% 9 KEHNZES KA EAR 1 400
1913 KR AR 5EX % AEZHNZS KA R AR 2 800
1914 ZEK bRy KFZHANZES KA EAR 1 400
1915 F R 5% 9% KREHNZES KA R AR 2 800
1916 T AR 5EX % KEHNZS KA R AR 2 800
1917 KER 5X % AZHNZES KA R AR 2 800
1918 F L BRY AFZHANZES KA EAR 1 400
1919 K 3 e 5% % AEZHNZES KA R AR 2 800
1920 2= BX % AEZHNZES KA R AR 2 800
1921 R IEAT 5% 9 KREHNZES KA R AR 1 400
1922 E 5% 9 KEHKNZES KA EAR 2 800
1923 MEE X% AEZHNZES KA R AR 3 1200
1924 I B% 4 AZHHEL KA EAR 3 1200
1925 AT BXRY AFZHANZES KA R AR 2 680
1926 -2 X% KAEHNZS KA R AR 2 680
1927 x| 3 5X % AZHNZES KA R AR 4 1360
1928 FHER 5%y KEHKNZES KA EAR 1 400
1929 BT AE 5X % AEZHNZES KA R AR 2 800
1930 FEF 5X % AEZHNZES KA R AR 1 400
1931 =W AE 5% 9 KREHNZES KA R AR 1 340
1932 FHE HEE EHARZES KA EAR 1 340
1933 & IF B BhE B ZEe RAT KR 2 680
1934 KRIER BhE ERMRZES KA EAR 1 460
1935 SR HEE EHARZES KA EAR 2 680
1936 E X BrE B ZEa RAT KR 3 1020
1937 X BhE BT ZEe RAT KR 1 340
1938 Bk IE & BRhE BN ZES KA EAR 2 920




1939 AKX ERhE ERARZES KA R AR 3 1020
1940 FRA HEE ERHRZES KA EAR 2 920
1941 BX IF A7 BhE B ZEe RAT KR 1 340
1942 A E BhE BN ZES KA EAR 1 400
1943 S HEE ERHRZES KA R AR 2 680
1944 R X7 BrE B ZEe RAT KR 2 920
1945 SRk BRhE FhRftZEe RAT KR 1 340
1946 TEME BRhE BN ZES KA EAR 1 400
1947 MM E BhE B ZEe RAT KR 1 460
1948 & & R BhhE BT ZEe RAT KR 1 400
1949 7 E A ERhE BN ZES KA R AR 1 340
1950 I 1B HEE ERHRZES KA EAR 1 340
1951 kA BhE B ZEe RAT KR 2 680
1952 xR it I+ BhE ERARZES KA EAR 1 340
1953 HEZ HEE ERHRZES KA R AR 1 460
1954 KIFE BhE BT Ze RAT KR 2 920
1955 il BhE FhRAtZEe RAT KR 2 800
1956 s BhE BN ZES KA EAR 1 340
1957 ff 46 2 BhE B ZEe RAT KR 2 800
1958 ETE BhE FhiAZEe RAT KR 2 920
1959 £} BRhE BN ZES KA R AR 2 680
1960 EFA HEE ERHRZES KA EAR 2 800
1961 ED S BhE B ZEe RAT KR 4 1360
1962 BK IF & BhE ERMRZES KA EAR 3 1020
1963 R A= HEE ERHRZES KA EAR 2 680
1964 T BrE B ZEa RAT KR 2 800
1965 I = BhE BT ZEe RAT KR 1 340
1966 ER N BRhE BN ZES KA EAR 2 800




1967 AT ERhE ERARZES KA R AR 1 400
1968 IXH HEE ERHRZES KA EAR 2 680
1969 M KK BhE B ZEe RAT KR 1 340
1970 TN BhE BN ZES KA EAR 1 400
1971 A SEEE M KA R AR 1 340
1972 ERH SEfE WL RAT KR 2 920
1973 AT SEAHE M5 RAT KR 1 460
1974 7 XK. SEHE M KA EAR 1 340
1975 12 B AE *%iw%ﬁnﬁ % RAT KR 1 340
1976 B BT ML RAT KR 4 1600
1977 i KAk Tf—&fﬁ % KA R AR 1 340
1978 Z4 f*i/%xﬁ % KA EAR 2 920
1979 fEF BT % RAT KR 1 340
1980 nF= :%*%/%xﬁ % KA EAR 1 460
1981 B R SEAE WL KA R AR 2 800
1982 e E SEGE M5 RAT KR 3 1200
1983 EE P SEHE WS RAT KR 3 1200
1984 A E SEHE M KA EAR 3 1020
1985 7k I 4 SEHE M RAT KR 2 680
1986 = BB SEGE WL RAT KR 1 340
1987 7K T SEATE WS KA R AR 1 400
1988 EEW SEAE WS KA EAR 1 340
1989 5 3 3 SEHE M RAT KR 1 400
1990 & X % SEATE WS KA EAR 4 1600
1991 Ik E A SEHE M KA EAR 1 340
1992 AT SEGE WL RAT KR 3 1020
1993 BEE SEHE M RAT KR 3 1020
1994 =B E SEHE M KA EAR 2 680




1995 K E SEEE M KA R AR 3 1020
1996 ¥ R SEHE M KA EAR 1 340
1997 MR SEEE M KA R AR 1 340
1998 X X & SEHE M KA EAR 4 1360
1999 H EL SEAE WL KA R AR 1 460
2000 X SCER SEAE WL RAT KR 1 400
2001 X E SEEE WS RAT KR 1 340
2002 R EE BEEE FH KA EAR 2 800
2003 KX & BEHE A KA R AR 2 920
2004 = HIE BEHE FH RAT KR 2 680
2005 S BEHE ¥H KA R AR 1 460
2006 ¥R AR BEEE ¥H KA EAR 3 1020
2007 FER BEHE ¥ RAT KR 2 920
2008 ERiba BEEE $H KA EAR 1 400
2009 K % BEEE ¥H KA R AR 2 680
2010 ERLES BEHE ¥ RAT KR 1 400
2011 B BEHE ¥ RAT KR 1 340
2012 TEHE BEEE FH KA EAR 2 800
2013 # IE A BEHE A RAT KR 6 2400
2014 e BEHE FH RAT KR 1 400
2015 TE BEEE ¥ KA R AR 3 1020
2016 7k F AL BEEE ¥H KA EAR 3 1020
2017 7K 48T BEHE ¥ RAT KR 2 680
2018 A4 BEEE ¥H KA EAR 4 1600
2019 FRAEA BEEHE ¥H KA EAR 6 2040
2020 et BEEE B KA R AR 2 680
2021 A 3 Al BEHE FH RAT KR 4 1600
2022 7k F o BEHE £BE KA EAR 1 460




2023 7K X R WEHE EE KA R AR 1 460
2024 EP O BEHE £ KA EAR 2 920
2025 FLE BEHE EF RAT KR 2 800
2026 7k Aot BEHE B KA EAR 3 1200
2027 3 BEREE EF KA R AR 1 400
2028 JE BT BEEE EE KA R AR 3 1200
2029 2 41 3 ¥og e EE KA R AR 1 400
2030 KA H BEHE BE KA EAR 2 680
2031 KF A BEEE EF KA R AR 2 800
2032 7k & BEHE EE RAT KR 1 460
2033 KFE WEHE EE KA R AR 2 800
2034 5t BEHE £ KA EAR 1 400
2035 ek BEHE BE KA R AR 4 1360
2036 il BEHE BE KA EAR 1 400
2037 XK BEHE 2E KA R AR 1 460
2038 7K 4n A BEEE EE KA R AR 3 1020
2039 7k 4 BEHE EF RAT KR 1 400
2040 7K A AE BEHE EE KA EAR 2 680
2041 FEX BEHE BE KA R AR 1 460
2042 K X FH BEAEE BE KA R AR 1 340
2043 X ge BEHE AKX KA R AR 3 1020
2044 e BEHE X KA EAR 1 340
2045 E Ll BEEE X KA R AR 2 680
2046 AT BEHEE AKX KA EAR 4 1600
2047 EtE BEHE AKX KA EAR 3 1020
2048 R BEHE AKX KA R AR 2 680
2049 Tk &3k BEEE X KA R AR 1 460
2050 FARX BEHE AKX KA EAR 2 680




2051 T H % BEHEE AKX KA R AR 1 460
2052 I AT BEEE AKX KA EAR 1 340
2053 I o7& BEEE X KA R AR 3 1020
2054 1 ROt BEHEE AKX KA EAR 1 460
2055 4 2 BEHE AKX KA R AR 3 1200
2056 T XA BEEE AKX KA R AR 3 1200
2057 ITRE BEEE AKX KA R AR 3 1020
2058 7K R BEHEE AKX KA EAR 1 400
2059 REES BEEE X KA R AR 2 680
2060 B A BEEE XK KA R AR 1 400
2061 K E BEHEE AKX KA R AR 2 680
2062 HEZ BEEE AKX KA EAR 1 400
2063 T E BEHE AKX KA R AR 1 400
2064 ITRA BEHEE AKX KA EAR 1 400
2065 K Gk BEHE X KA R AR 1 400
2066 [E3 BEEE X KA R AR 1 400
2067 T F& BEEE AKX KA R AR 1 400
2068 2 BEHEE AKX KA EAR 1 340
2069 KFEE BEEE AX KA R AR 1 400
2070 Mg AH 4 BEEE XK KA R AR 5 1700
2071 7k 3 R BEEE ALK KA R AR 1 340
2072 K F 3 BEEE AKX KA EAR 3 1020
2073 K F A BEEE X KA R AR 4 1360
2074 B4 5 BEEE AKX KA EAR 1 400
2075 # IF 3 BEHE #HE5 KA AR 1 340
2076 ] BEHE #E£5 KA AR 2 800
2077 7K A BEEE B8 KA R AR 3 1020
2078 BRX BEHE #25 KA EAR 2 680




2079 B 4o B BEHE #2£5 KA R AR 2 800
2080 T R4 BEEE #HEL KA EAR 4 1360
2081 FTHF BEEE MEL KA R AR 2 680
2082 K R BEEE HED KA EAR 3 1020
2083 EIE BEEE #HEL KA R AR 1 400
2084 7K F 2% BEREE MEL KA R AR 1 460
2085 7K 48 i BEEE MEL RAT KR 2 800
2086 1 B BEHE #2£5 KA EAR 2 800
2087 BR%H BEEE MEL KA R AR 2 680
2088 1 It BEEE MEL RAT KR 2 680
2089 Mg MR BEHE #2£5 KA R AR 2 680
2090 B Gk BEEE HEL KA EAR 2 680
2091 7k IF 2% BEEE MEL KA R AR 4 1600
2092 I At BEHE #2£5 KA EAR 2 800
2093 7K fm 1k BEHE #HE5 KA R AR 1 340
2094 THEA BEREE MEL KA R AR 2 680
2095 Ex2 BEEE MEL KA R AR 1 400
2096 FRHE BEHE #2£5 KA EAR 3 1020
2097 ik BEEE MEL KA R AR 1 340
2098 F) o BEEE MEL RAT KR 2 680
2099 7K R AX BEEE #HEL KA R AR 1 340
2100 KB BEHE #E5 KA EAR 2 680
2101 KEE BEEE #MEL KA R AR 2 680
2102 it E BEEE B8 KA EAR 2 680
2103 A A BEHE #HE5 KA EAR 4 1600
2104 KFE BEREE MEL KA R AR 2 680
2105 KA i BEEE MEL KA R AR 1 400
2106 A HE B BEEE HEL KA EAR 1 340




2107 A BEHEE Bx5 KA R AR 2 800
2108 HE T BEHE #E5 KA EAR 1 400
2109 KA S BEEE MEL KA R AR 2 680
2110 TR BEEE B8 KA EAR 1 340
2111 e BEEE #HEL KA R AR 1 400
2112 AW BEREE MEL KA R AR 3 1020
2113 FXE BEEE MEL RAT KR 1 460
2114 THE BEHE 2= KA EAR 1 460
2115 350 BEEE 22 KA R AR 1 460
2116 TEA WEHE 22 RAT KR 3 1200
2117 T BEHE 2= KA R AR 1 400
2118 KX E BEHE 22 KA EAR 1 340
2119 EP BEEE 2 KA R AR 1 340
2120 THEHZ BEHE 2= KA EAR 4 1600
2121 Tk XA BEHE 2= R AT R 1 340
2122 EES BEEE 2 KA R AR 2 680
2123 X o WEHE == RAT KR 2 800
2124 KFEE BEEHE 2= KA KR 1 340
2125 KFE BEEE 22 KA R AR 2 680
2126 5 & BEHE 2= RAT KR 1 400
2127 e BEHE 2= KA R AR 2 680
2128 EX N BEHE 2= KA EAR 2 800
2129 kX% BEEE 22 KA R AR 1 400
2130 F R BEHE 2= KA EAR 2 680
2131 TR BEHE 2= KA EAR 2 680
2132 A BEEE 2 KA R AR 2 800
2133 =5EY BEHE 2= RAT KR 1 400
2134 x| # 48 BEHE 2= KA EAR 2 680




2135 E=XE BEHE 2= KA R AR 4 1360
2136 # IF 3% BEHE 2= KA EAR 1 460
2137 7k 2 ik BEHE 2= KA R AR 3 1200
2138 Wt 7o BEHE 2= KA EAR 1 400
2139 =K BEHE 2= KA R AR 1 400
2140 KET WEHE 2= RAT KR 1 340
2141 TEHEZ WEHE == RAT KR 1 400
2142 Y BEHE 2= KA EAR 1 400
2143 K E WEHE 22 RAT KR 1 400
2144 X R A WEHE 22 RAT KR 2 800
2145 7K AE R BEEHE 2= KA R AR 4 1360
2146 B IF ¢ BEHE 22 KA EAR 2 680
2147 7k 4 BEHE 2= KA R AR 3 1020
2148 x| E 4 BEEE 2= KA EAR 2 680
2149 7k >% A BEHE 2= KA R AR 1 340
2150 7k % BEHE -6 RAT KR 1 460
2151 X A 2% WEHE =4 RAT KR 1 400
2152 ik F BEEE =46 KA KR 2 680
2153 EED BEHE =6 KA R AR 2 680
2154 A WEHE =4 RAT KR 1 340
2155 # 1F B BEREE =46 KA R AR 4 1360
2156 ¥ ¥ L BEEE =46 KA EAR 1 400
2157 7K 4 ST BEEE =4 RAT KR 1 400
2158 2.0 BEHE =46 KA EAR 1 340
2159 A F BEHE =46 KA AR 3 1020
2160 kA BEHE =4 KA R AR 1 340
2161 X B A BEEE =4 RAT KR 2 680
2162 ¥ —48 BEHE =46 KA EAR 3 1020




2163 R BEHE =6 KA AR 3 1200
2164 KA = BEHE =4 KA EAR 1 400
2165 KEF BEEE =4 RAT KR 1 400
2166 i BEHE =46 KA EAR 1 460
2167 7k E 3 BEEE =46 KA R AR 1 400
2168 B X E BEEE =4 RAT KR 1 340
2169 RIE R BEHE =6 RAT KR 1 400
2170 K2 BEHEE =6 KA EAR 2 800
2171 7K AR BEEE =4 RAT KR 2 920
2172 K EE WEHE =4 RAT KR 1 460
2173 A4 BEREE =46 KA R AR 1 400
2174 # IE XC BEEE =46 KA EAR 1 340
2175 7K F BEEE =4 RAT KR 4 1360
2176 B BEEE =46 KA EAR 1 400
2177 HEX BEEE =46 KA R AR 1 400
2178 s BEEE =4 RAT KR 1 460
2179 &= FE BEHE =6 RAT KR 1 400
2180 e ikl BEHEE =6 KA EAR 2 800
2181 REk& BEEE =4 RAT KR 1 400
2182 i WEHE =4 RAT KR 2 920
2183 R4-F BEHEE =6 KA R AR 1 460
2184 ] X BEEE =46 KA EAR 3 1200
2185 7K I BEEE =4 RAT KR 1 400
2186 EEA FLE KR KA EAR 4 1360
2187 EEE *LE RRE KA EAR 1 400
2188 e *ILE R R RAT KR 5 1700
2189 I & & FLE KR KA R AR 1 400
2190 ik KLE KR KA EAR 2 920




2191 AW *LE RRE KA R AR 4 1360
2192 AR FLE KR KA EAR 2 680
2193 EH X HALE KRR RAT KR 2 800
2194 K HkLE RRE KA EAR 2 800
2195 K 18 FLE KR KA R AR 2 680
2196 K An BH HLE RR RAT KR 1 340
2197 e R HALE KRR RAT KR 1 400
2198 E Y FLE KR KA EAR 3 1200
2199 BB HALE KRR RAT KR 1 400
2200 K AE HLE KR KA R AR 1 340
2201 7K R L RRE KA R AR 2 800
2202 HREE FLE RR KA EAR 1 400
2203 2 KAE HALE KRR RAT KR 2 680
2204 B HkLE KRR KA EAR 2 800
2205 3 FLE RRE KA R AR 1 340
2206 WA AE 5 HLE KR KA R AR 1 460
2207 &= 4 HALE KRR RAT KR 1 340
2208 S FLE KR KA EAR 2 680
2209 i HALE KRR RAT KR 2 680
2210 F kAR HLE RR RAT KR 3 1020
2211 i L KR KA R AR 2 680
2212 EETH FLE RR KA EAR 1 460
2213 Eis HALE KRR RAT KR 1 400
2214 AT FLE KR KA EAR 2 680
2215 b A *LE RRE KA EAR 2 680
2216 R HLE RR RAT KR 2 800
2217 ik # HALE KRR RAT KR 1 340
2218 Mok = FLE KR KA EAR 2 680




2219 REZ FILE KR KA R AR 1 340
2220 A FLE KR KA EAR 1 400
2221 e *ILE RRE RAT KR 3 1200
2222 EW % HkLE RRE KA EAR 2 800
2223 7k % FLE KR KA R AR 1 400
2224 X AR HLE RR RAT KR 1 400
2225 FRMA HALE KRR RAT KR 1 400
2226 i & FLE KR KA EAR 1 400
2227 4 HALE KRR RAT KR 1 340
2228 B HLE RR RAT KR 2 680
2229 25 E L RRE KA R AR 2 680
2230 FTE¥ FLE KR KA EAR 3 1020
2231 & B *ILE R R RAT KR 1 400
2232 BB FLE KR KA EAR 1 400
2233 BHEZ FLE KR KA R AR 1 340
2234 & % 0k HLE RR RAT KR 1 400
2235 F&= FILE RR RAT KR 1 400
2236 L HkLE KR KA EAR 1 400
2237 B4 *ILE RR RAT KR 1 400
2238 KR FLE KR KA R AR 2 680
2239 BKCA AL L KR KA R AR 2 680
2240 EEE FLE KR KA EAR 3 1020
2241 7K R FEALE RAT KR 1 460
2242 KA L F*LE Fag KA EAR 2 800
2243 X T *ILE Fa KA EAR 1 400
2244 Tk HLE Fa RAT KR 2 800
2245 KR e HLE Fa KA R AR 2 800
2246 7k RAE F*LE Fag KA EAR 1 460




2247 #E 7 X F*LE g KA R AR 1 400
2248 e F*LE Fag KA EAR 2 680
2249 FI5 B, F*ILE Fa RAT KR 1 340
2250 F R F*LE Fag KA EAR 2 680
2251 &3 R F*LE g KA AR 3 1020
2252 # X B *ILE Fa RAT KR 1 340
2253 KR T FEALE RAT KR 2 800
2254 B F*LE Fag KA EAR 1 400
2255 EBAEA *ILE Fa KA R AR 2 800
2256 KE K FLE F 4 KA R AR 2 800
2257 Ji i = *ILE Fa KA R AR 1 400
2258 B F*LE Fag KA & AR 3 1200
2259 B E F*ILE Fa RAT KR 2 800
2260 e FLE Fag KA EAR 1 400
2261 V& ¢ fu F*LE g KA AR 3 1020
2262 B3 *ILE Fa RAT KR 1 340
2263 A= FEALE RAT KR 1 400
2264 et F*LE Fag KA EAR 2 800
2265 X M *ILE Fa KA R AR 2 800
2266 KFHA HLE Fa RAT KR 2 800
2267 Gikia F*LE g KA & AR 3 1200
2268 L E F*LE Fag KA EAR 2 800
2269 EL *ILE Fa RAT KR 3 1200
2270 XS F*LE Fag KA EAR 1 400
2271 k= *ILE Fa KA EAR 1 400
2272 it R *ILE Fa RAT KR 2 800
2273 Z A FEALE RAT KR 1 340
2274 & F*LE Fag KA EAR 1 340




2275 T EW *ILE Fa KA R AR 3 1200
2276 KAE F*LE Fag KA EAR 2 680
2277 EN: F*ILE Fa RAT KR 3 1020
2278 # F*LE Fag KA EAR 2 680
2279 £ F*LE g KA R AR 1 340
2280 GE HLE Fa RAT KR 3 1020
2281 &5 *ILE Fa RAT KR 1 400
2282 HEH F*LE Fag KA EAR 2 680
2283 7K R AT FILE F a4 KA R AR 2 800
2284 FRIE FEALE RAT KR 2 680
2285 T F*LE g KA R AR 1 400
2286 X = % F*LE Fag KA EAR 1 340
2287 RAXF F*ILE Fa RAT KR 1 340
2288 =k FLE Fag KA EAR 2 800
2289 AE X3 F*LE g KA R AR 1 400
2290 Z X R *ILE Fa RAT KR 2 680
2291 JE j1 4 *ILE Fa RAT KR 2 800
2292 FHE F*LE Fag KA EAR 2 800
2293 B *ILE Fa RAT KR 1 400
2294 HRER HLE Fa KA R AR 1 400
2295 7k FE F*LE g KA R AR 2 800
2296 &R E F*LE Fag KA EAR 1 400
2297 TR = *ILE Fa RAT KR 1 400
2298 HREE F*LE Fag KA EAR 2 680
2299 51 7 A F*LE g KA EAR 1 400
2300 &1z A *ILE Fa RAT KR 1 340
2301 e FLE F 4 KA R AR 1 400
2302 FH ok *kILE Fa KA EAR 1 340




2303 F kA F*LE g KA R AR 2 680
2304 ek F*ILE g KA EAR 1 340
2305 BKEE F*ILE g KA R AR 2 680
2306 FEHE F*ILE g KA EAR 4 1360
2307 FHF KL FE KA R AR 2 800
2308 R FLE Ly KA R AR 1 460
2309 &= F*ILE g RAT KR 2 680
2310 R FLE 5 KA EAR 2 680
2311 RE FkLE 5 RAT KR 4 1600
2312 e FILE 35 KA R AR 2 800
2313 EvEiil FILE g KA R AR 3 1020
2314 K FAL F*ILE g KA EAR 2 800
2315 Mm% = F*ILE 35 KA R AR 1 460
2316 ZEW FILE g KA EAR 2 680
2317 R F*ILE g KA R AR 1 400
2318 4k 1F B FILE g RAT KR 1 340
2319 R KLE FE KA R AR 1 340
2320 BB F*ILE g KA EAR 1 340
2321 i FLE g RAT KR 4 1600
2322 KA FILE 35 KA R AR 2 680
2323 Lk FILE g KA R AR 1 400
2324 2k B F*ILE g KA EAR 2 680
2325 D F*ILE 5 KA R AR 1 340
2326 M AR F*ILE g KA EAR 1 340
2327 SE FILE 35 KA EAR 2 680
2328 F R & kL g RAT KR 1 340
2329 B A KLE FE KA R AR 1 400
2330 A A FILE 35 KA EAR 1 400




2331 FFEM FILE g KA R AR 1 340
2332 FEZ F*ILE g KA EAR 1 340
2333 FEX F*ILE g KA R AR 2 680
2334 £ IF 7R F*ILE g KA EAR 2 680
2335 s F*ILE g KA R AR 1 340
2336 FE A FILE g KA R AR 1 400
2337 g s kL g KA R AR 1 340
2338 7K A A F*ILE g KA EAR 1 340
2339 MR FkLE 5 RAT KR 2 680
2340 KF= FILE 35 RAT KR 2 680
2341 X EY ZAEE ANE KA R AR 1 460
2342 A g RAEE AMNE KA EAR 2 920
2343 FE M RhE ANE RAT KR 1 460
2344 F A BEE ANE KA EAR 1 400
2345 *FER RAEE AMNE KA R AR 1 400
2346 AR 2 ANE RAT KR 2 800
2347 REZ B ANE RAT KR 2 680
2348 il BAEE G KA EAR 1 400
2349 B EZ BREE SHE RAT KR 1 340
2350 x| % R THE RAT KR 2 680
2351 X 4 BALE G KA R AR 1 340
2352 ey RAEHE UG KA EAR 2 680
2353 X K% R OHE RAT KR 4 1360
2354 pkERs BAEE a4 KA EAR 1 340
2355 VT RAEHE G KA EAR 2 680
2356 M 5 RAE A RAT KR 3 1020
2357 ZEH® R OhE RAT KR 1 340
2358 RIE BAEE G KA EAR 1 340




2359 FEZF BALE UG KA R AR 2 680
2360 255 RAEHE UG KA EAR 1 340
2361 I ho A B SHE RAT KR 3 1020
2362 XA & BAEE a4 KA EAR 1 400
2363 & 16 48 RALHE G KA R AR 1 400
2364 o K R SHE RAT KR 2 680
2365 K EE R OhE RAT KR 1 340
2366 X% BAEE G KA EAR 1 340
2367 Z &AL R SHE RAT KR 1 340
2368 v R SHE RAT KR 3 1020
2369 e BALE G KA R AR 1 340
2370 F & RAEHE UG KA EAR 3 1020
2371 L B SHE RAT KR 1 340
2372 & IR BAEE a4 KA EAR 2 680
2373 & R RALHE G KA R AR 3 1020
2374 TR R SHE RAT KR 1 340
2375 KZE R OhE RAT KR 2 680
2376 I AT BAEE G KA EAR 2 680
2377 BHEZ BREE SHE RAT KR 1 340
2378 & 7R & RAE Th RAT KR 1 340
2379 & JLE BALE G KA R AR 3 1200
2380 k=% RAEHE UG KA EAR 1 340
2381 H B R OHE RAT KR 1 340
2382 F ks BAEE a4 KA EAR 3 1020
2383 F g RAEHE G KA EAR 3 1020
2384 & LA R SHE RAT KR 2 680
2385 KR R OhE RAT KR 5 1700
2386 B BAEE G KA EAR 2 680




2387 X =3 BALE UG KA R AR 2 800
2388 Bk k77 RAEHE UG KA EAR 1 340
2389 B B SHE RAT KR 1 340
2390 ZIRi= BRAEHE OB E KA EAR 3 1020
2391 X T AR RALHE G KA R AR 2 680
2392 ENE R SHE RAT KR 1 340
2393 i R OhE RAT KR 4 1360
2394 # KB BAEE G KA EAR 4 1360
2395 A RE BRHEE OH S RAT KR 2 680
2396 JA B % R SHE RAT KR 1 340
2397 KAE BALE G KA R AR 5 1700
2398 P RAEHE UG KA EAR 1 340
2399 ¥ B SHE RAT KR 3 1020
2400 & 18 A, BAEE a4 KA EAR 3 1020
2401 F % RALHE G KA R AR 1 340
2402 e R SHE RAT KR 3 1020
2403 & & R OhE RAT KR 2 680
2404 X R = BAEE G KA EAR 1 400
2405 7K IF 5 FRE T RAT KR 1 340
2406 M E ¥ RE T RAT KR 1 340
2407 T o R ZAE KA R AR 3 1200
2408 % T HRE LR KA EAR 2 680
2409  BE T RE AR KA R AR 1 400
2410 7k = A T RE LG KA EAR 1 400
2411 FFH o RE LR KA EAR 3 1020
2412 A X ¥ RE T RAT KR 1 340
2413 kXK v RE T KA R AR 1 400
2414 rbE HRE AR KA EAR 2 680




2415 B o R LR KA R AR 4 1360
2416 FF R HRE AR KA EAR 1 400
2417 X fin Fu v RE T RAT KR 1 340
2418 EH oA AR KA EAR 1 340
2419 X R T RE A KA R AR 1 340
2420 2= 4 fn ¥ RE T RAT KR 2 680
2421 7K AE A v RE T RAT KR 1 340
2422 A A LR KA EAR 2 680
2423 FER FRE T RAT KR 2 800
2424 LEH ¥ RE T RAT KR 1 400
2425 # BA o R LR KA R AR 1 340
2426 KF 2 ¥ RE TH KA EAR 4 1360
2427 MR e T RE T RAT KR 1 340
2428 kKEZ HRE AR KA EAR 1 400
2429 M o R4 ERH KA R AR 1 340
2430 KEE R BRI RAT KR 2 680
2431 Z= 4 v RE BRIt RAT KR 1 340
2432 fT H X R ERH KA AR 5 2000
2433 A A HRE ERHt RAT KR 2 680
2434 & EX ¥ RE BRI RAT KR 2 680
2435 ERTF o R ERH KA R AR 1 340
2436 B 1 R ERH KA EAR 2 680
2437 KAEE FRE BRIt RAT KR 1 340
2438 FE5H R ERH KA EAR 1 340
2439 A o R ERH KA EAR 1 340
2440 TN ¥ RE ERH RAT KR 1 340
2441 FEF v RE BRIt RAT KR 1 400
2442 FHE R ERH KA EAR 1 340




2443 FATHE o R4 ERHE KA R AR 1 340
2444 Rk ¥ RE BERH KA EAR 2 680
2445 BKE FRE BRIt RAT KR 1 340
2446 M T R ERH KA EAR 1 340
2447 FH X o R ERS KA R AR 1 340
2448 BTN ¥ RE ERH RAT KR 1 340
2449 K IEVE v RE BRI RAT KR 1 400
2450 FHhE WTFESE KE KA EAR 1 460
2451 BR% BT EE KE RAT KR 3 1380
2452 FHE TFEE KE RAT KR 3 1200
2453 3t WTFEE KE KA R AR 1 460
2454 e ] WTFEE KE KA EAR 1 400
2455 Tk AF BT EHE KE RAT KR 1 400
2456 7K 4 REEE KE KA EAR 1 460
2457 kA X WTFEE KE KA R AR 2 920
2458 F# FEE KE RAT KR 2 800
2459 kit RTEHE KE RAT KR 4 1600
2460 TS RTFESE KE KA EAR 2 920
2461 KA BTEHE KE RAT KR 1 460
2462 B X TFEE KE RAT KR 2 680
2463 e WTFESE KE KA R AR 2 800
2464 TAM BTFEE KE KA EAR 3 1200
2465 Wt & BT EHE KE RAT KR 2 800
2466 7k B K RFEE KE KA EAR 1 400
2467 K g WTFEE KE KA EAR 2 800
2468 IS BREE P KA R AR 2 680
2469 ERES BARESE 1Y KA R AR 1 340
2470 F ke BARESE 1T KA EAR 2 680




2471 EEpn 5ARESE MY KA R AR 1 340
2472 BZ% BARESE 1T KA EAR 1 340
2473 &= F B 5 REE 1Y RAT KR 3 1020
2474 X 4 BARESE MY KA EAR 6 2040
2475 e 5ARESE MY KA R AR 3 1020
2476 2% BREE MY KA R AR 5 1700
2477 s BARESE 1Y KA R AR 2 680
2478 7K AR BARESE MY KA EAR 2 680
2479 PR ek B REE 1y RAT KR 1 400
2480 kil BARESE 1Y KA R AR 2 680
2481 Tk ik 5ARESE MY KA R AR 1 400
2482 e BARESE MY KA EAR 2 680
2483 A= 5 REE 1y RAT KR 1 340
2484 H 85 BARESE 1T KA EAR 3 1020
2485 [y 5ARESE MY KA R AR 1 400
2486 =B BREE MY KA R AR 3 1200
2487 E1H BARESE 1Y KA R AR 3 1200
2488 e BARESE MY KA EAR 2 680
2489 fNCE BREE Y KA R AR 4 1600
2490 Rk BARESE 1Y KA R AR 3 1020
2491 ¥ K iE LREE Y KA R AR 3 1020
2492 B AL BARESE MY KA EAR 3 1200
2493 TR BREE MY KA R AR 1 340
2494 Jaa:s BARESE 1T KA EAR 2 680
2495 Tk £ % B AREE 1T KA EAR 1 340
2496 Y IF 4 BREE P KA R AR 1 400
2497 el BREE MY RAT KR 2 680
2498 BRAE > BARESE 1T KA EAR 1 340




2499 X T A\ 5ARESE MY KA R AR 1 340
2500 WHE BARESE MY KA EAR 1 400
2501 EOEG] 5 REE 1Y RAT KR 1 340
2502 K E 5 BARESE MY KA EAR 2 680
2503 Tk A AE 5ARESE MY KA R AR 2 800
2504 =X 3 LAREE ¢ —HEXEZ S KA R AR 3 1200
2505 B 1F F LAREE ¢ —HEKXEZ S RAT KR 3 1200
2506 TEH LAREE ¢ HEXEZ S KA EAR 3 1200
2507 EFF LAREE ¢ HEKXEZ S RAT KR 3 1200
2508 3 LAREE ¢ —HEXKEZ S RAT KR 1 400
2509 A B LAREE ¢ HEXEZ S KA R AR 3 1200
2510 ED LEBEE 2 HREZS KA EAR 4 1600
2511 TEA kS W EBR KA R AR 2 800
2512 7k 4o WS W& KA EAR 1 340
2513 {3 k5 W aEp KA R AR 1 400
2514 4 1F 7T WS W& ER RAT KR 1 340
2515 & XA kS W EBR KA R AR 1 460
2516 I S DB KA EAR 2 800
2517 F G k5 W KA R AR 2 920
2518 Tk A AE kS DB KA R AR 1 400
2519 ZHE G R KA R AR 1 400
2520 % k5 W aEp KA EAR 1 340
2521 EhAE kS W EBR KA R AR 1 400
2522 kg e WG D EEp KA EAR 1 340
2523 7K 35 L k5 W aEp KA EAR 1 340
2524 JA K4 RS B KA R AR 1 400
2525 E K, kS DB KA R AR 1 460
2526 7K 8 S DB KA EAR 2 920




2527 T & WG R KA R AR 1 340
2528 X2 k5 W aEp KA EAR 1 340
2529 AL kS B KA R AR 1 400
2530 k¥ = k5 W EER KA EAR 1 400
2531 BR & vt Nk S WA Ep KA R AR 2 800
2532 KN kS DB KA R AR 2 920
2533 ] S W EBp KA R AR 1 340
2534 AR X S DB KA EAR 2 800
2535 ZEA kS W EBR KA R AR 2 680
2536 FR= s W& ER KA R AR 1 340
2537 = % JE] WG W& KA R AR 1 400
2538 A k5 W aER KA EAR 1 340
2539 ZEE kS W EBR KA R AR 1 400
2540 RS k5 W KA EAR 2 680
2541 FHT Nk S WA Ep KA R AR 1 460
2542 Tk K% kS W B KA R AR 1 400
2543 MR kS W EBR KA R AR 1 340
2544 HRHE S DB KA EAR 1 340
2545 S kS W EBR KA R AR 2 800
2546 HE B ks W& ER RAT KR 1 340
2547 % G R KA R AR 1 400
2548 FLHE Nk S W Ep KA EAR 1 340
2549 HHE kS W EBR KA R AR 1 340
2550 EHE WS W& KA EAR 1 340
2551 T+ k5 W aEp KA EAR 1 400
2552 7k A it WS W& RAT KR 1 400
2553 HAZ Nk & VB Ep KA R AR 1 400
2554 = k5 W aEp KA EAR 1 340




2555 K I & WG W& KA R AR 1 400
2556 F N k5 W aEp KA EAR 2 800
2557 7K L kS B KA R AR 1 340
2558 B RE WS W& KA EAR 1 340
2559 7 R k5 W aEp KA R AR 1 340
2560 J& 718 s B RAT KR 1 400
2561 E S s B3 RAT KR 1 460
2562 o> Wh sy Bk KA EAR 2 800
2563 I 2 3R s Bk RAT KR 1 460
2564 7K X HE s B RAT KR 1 460
2565 WA ks B3 KA R AR 3 1200
2566 At Wh s Bk KA EAR 4 1360
2567 # % s B RAT KR 2 680
2568 = ks Bk KA AR 3 1200
2569 e k5 Bk KA R AR 1 460
2570 J& T B s B RAT KR 1 400
2571 I Je N s B3 RAT KR 2 920
2572 Fr=F ks Bk KA AR 3 1020
2573 7K B AR s Bk RAT KR 1 460
2574 K F s B3 RAT KR 3 1380
2575 KH = ks B3k KA R AR 1 400
2576 WES Wh s Bk KA EAR 2 800
2577 IR s B3k RAT KR 1 340
2578 R A Wh s Bk KA EAR 2 800
2579 bl 75 ks B3 KA EAR 1 340
2580 R E s B RAT KR 1 400
2581 B s B3 RAT KR 2 800
2582 WL K s Bk KA EAR 1 400




2583 I 548 ks Bk KA R AR 2 680
2584 7k % FH Wk s Bk KA EAR 2 800
2585 ¥ E % s B RAT KR 1 400
2586 A% B, Wh s Bk KA EAR 1 400
2587 T R%E ks B3 KA R AR 1 400
2588 7k 9t = s B RAT KR 1 400
2589 AT s B3 RAT KR 1 340
2590 FMHEIF ks Bk KA & AR 5 1700
2591 KL E s Bk RAT KR 2 680
2592 e s B RAT KR 1 340
2593 FER Wk 5 A KA R AR 1 400
2594 Z B Wk 5 A KA EAR 1 400
2595 2= o A ks RAT KR 2 800
2596 P ik g Wk S A KA EAR 2 920
2597 EYi%~ Wr s KA R AR 1 400
2598 EXibg ks RAT KR 2 680
2599 Eit o WS RAT KR 2 920
2600 %2 Wk 5 A KA EAR 1 460
2601 EIFAT s RAT KR 1 460
2602 i ks RAT KR 1 400
2603 Exibw Wk 5 A KA R AR 3 1020
2604 BOEZF Wk 5 A KA EAR 2 800
2605 Ediiba ks RAT KR 1 460
2606 e Wk S A KA EAR 1 340
2607 NER Wk 5 KA EAR 2 680
2608 J& & & ks RAT KR 1 340
2609 =4 ks RAT KR 1 340
2610 £ Wk 5 A KA EAR 1 340




2611 7K KR Wk 5 N KA R AR 1 340
2612 EAE Wk s 4 KA EAR 1 340
2613 F it & WS KA R AR 1 340
2614 [ e, Wk S A KA EAR 1 340
2615 BEF Wk 5 & KA R AR 1 340
2616 2= 18 I ks RAT KR 1 340
2617 ¥ EX s RAT KR 1 340
2618 FHE Wk 5 A KA EAR 1 340
2619 2T 5 WS KA R AR 1 400
2620 ¥ HGE ks RAT KR 1 340
2621 EIF Wk 5 A KA R AR 1 340
2622 Al R Wk 5 A KA EAR 2 920
2623 FEH ks RAT KR 1 340
2624 kiR Wk S BREE KA EAR 1 400
2625 =2 WS HRBE KA R AR 1 400
2626 KI5 TE WS BEE KA R AR 2 920
2627 B WS HREE KA R AR 3 1020
2628 e Wk S HREE KA EAR 1 400
2629 7k K Wk s #5E KA R AR 2 800
2630 ARR Wk s #5E RAT KR 3 1380
2631 K X HE WS HREE KA R AR 1 400
2632 7K 12 B WS HRBE KA EAR 1 340
2633 7K o A WS BEE KA R AR 2 800
2634 M X WS HRBE KA EAR 3 1380
2635 i WS HREE KA EAR 1 460
2636 E At WS BEE KA R AR 3 1200
2637 7K F A& WS BEE KA R AR 2 800
2638 W R= Wk S HREE KA EAR 1 340




2639 i X WS BREE KA R AR 2 680
2640 e WS HRBE KA EAR 2 680
2641 IR A WS HREE KA R AR 2 680
2642 T EE Wk S HREE KA EAR 1 400
2643 N Wk S HREE KA R AR 1 400
2644 2= {it WS HREE KA R AR 1 340
2645 FHF WS BEE KA R AR 1 400
2646 7k B ik Wk S HREE KA EAR 3 1020
2647 # & It Wh s #5E RAT KR 1 340
2648 FR= WS BEE KA R AR 1 400
2649 A % /e WS HREE KA R AR 1 400
2650 7k 3 ¢ WS HRBE KA EAR 1 400
2651 B WS BREE KA R AR 1 400
2652 7K 35 AT Wk S BREE KA EAR 2 800
2653 L5 A WS HRBE KA R AR 2 800
2654 KA = WS BEE RAT KR 1 400
2655 ERZ WS HREE KA R AR 1 340
2656 K BB Wk S HREE KA EAR 1 340
2657 e Wk s #5E RAT KR 1 400
2658 FEW WS BEE KA R AR 3 1020
2659 7K 15 2 WS HREE KA R AR 3 1020
2660 k£ X k5 Ao KA EAR 1 400
2661 4 W% FiF RAT KR 1 400
2662 & B X k5 FoF KA EAR 1 340
2663 it & k5 FoF KA EAR 2 800
2664 i >3 WS FiF RATRAR 2 800
2665 FE WK% FuF RAT KR 2 920
2666 KR k5 FoF KA EAR 2 800




2667 K AXP k5 Ao KA R AR 1 460
2668 7K B AX k5 Ao KA EAR 1 400
2669 2 45 [y s Ao RAT KR 2 800
2670 L EE Wk 5 FoF KA EAR 1 400
2671 e k5 FoF KA R AR 4 1840
2672 Mk E WS i RAT KR 2 920
2673 M K= s FiF RATRAR 2 920
2674 KR k5 FoF KA EAR 1 400
2675 FTHRK k% FaF KA R AR 2 680
2676 A WS i RAT KR 1 340
2677 & F % k5 Ao KA R AR 2 800
2678 [ k5 Ao KA EAR 1 400
2679 Tk o4 s i RAT KR 2 800
2680 ik E Wk 5 FoF KA EAR 1 400
2681 ik k5 FoF KA R AR 2 800
2682 [AVES WS i RAT KR 1 340
2683 TS s Ao RAT KR 1 400
2684 WL A 3 k5 FoF KA EAR 1 340
2685 ES s FiF RAT KR 1 340
2686 R 2 WS i RAT KR 1 400
2687 KA Z WS FaF KA R AR 1 400
2688 T k5 Ao KA EAR 1 340
2689 ] s Ao RAT KR 4 1600
2690 kEZ k5 FoF KA EAR 1 340
2691 £ X k5 FoF KA EAR 2 680
2692 I SR WK% FuF RAT KR 2 680
2693 B s FiF RAT KR 2 800
2694 2 3 k5 FoF KA EAR 1 400




2695 kAT k5 Ao KA R AR 1 400
2696 ! k5 Ao KA & AR 6 2040
2697 FEMEF =Y &5 RAT KR 1 460
2698 EE% Zh% &5 KA EAR 1 460
2699 ki) BB S WA KA R AR 1 400
2700 Tk 4 5% Vil AR s RAT KR 1 460
2701 REgsE BB S WA RAT KR 3 1020
2702 7K o 5 BB S WA KA EAR 1 340
2703 BE 4 Vil AR s RAT KR 2 680
2704 K EF Vil AR s RAT KR 1 400
2705 EX & BER S R KA R AR 1 340
2706 KAER BB S WA KA & AR 3 1020
2707 RE A BB S WA RAT KR 1 340
2708 FE 4L B 5 AR KA EAR 1 340
2709 E BB S WA KA AR 3 1020
2710 7K T Vil AR s RAT KR 1 400
2711 Jikekia Vil AR s RAT KR 3 1200
2712 T FE BB S WA KA EAR 2 800
2713 i Vil AR s RAT KR 1 340
2714 74 & Vil s RAT KR 2 680
2715 B A BER S R KA R AR 2 800
2716 KX BB S WA KA EAR 2 680
2717 KFR BB S WA KA R AR 1 340
2718 K BE BB S WA KA EAR 2 680
2719 i BB S WA KA AR 3 1020
2720 il Vil AR s RAT KR 1 460
2721 KX HE Vil AR s RAT KR 2 800
2722 ERGEE BB S WA KA EAR 2 680




2723 R IF = Vil s KA R AR 2 680
2724 X & ViR i KA EAR 2 800
2725 BHF Vil AR s RAT KR 2 680
2726 K E 7 BB S WA KA EAR 1 340
2727 7k IF /2 B 5 AR KA R AR 1 340
2728 & E N Vil AR s RAT KR 1 340
2729 Y 4 BB S WA RAT KR 1 400
2730 K A48 FEF 5 AR KA EAR 1 340
2731 7 AE Vil AR s RAT KR 2 680
2732 A= Vil s RAT KR 1 340
2733 BF e & BB S WA KA AR 3 1020
2734 £MW BB S WA KA EAR 1 340
2735 & 1IF ot Vil AR s RAT KR 1 340
2736 WiES BB S WA KA EAR 1 340
2737 K AG BB S WA KA R AR 1 340
2738 K F R Vil AR s RAT KR 2 800
2739 M A& BB S WA RAT KR 1 400
2740 KEX BB S WA KA EAR 1 340
2741 7K FH BB S WA RAT KR 1 460
2742 FE K 1R Vil s RAT KR 2 680
2743 A T A5 BB S WA KA R AR 2 680
2744 78 X ViR i KA EAR 2 800
2745 B E Vil AR s RAT KR 1 460
2746 B R BB S WA KA EAR 1 400
2747 FHEZ R 5 AR KA EAR 2 800
2748 X S Vil AR s RAT KR 1 400
2749 KE I Vil AR s RAT KR 1 340
2750 XI5 BB S WA KA EAR 1 340




2751 K % 77 Vil s KA R AR 1 340
2752 RS BB S WA KA EAR 1 340
2753 7K A Vil AR s RAT KR 1 400
2754 B X B 5 AR KA EAR 1 340
2755 B X 3 BB S WA KA R AR 1 340
2756 kAT 3 Vil AR s RAT KR 1 340
2757 RAE¥ Vil AR s RAT KR 1 340
2758 AN BB S WA KA EAR 1 340
2759 7K B Vil AR s RAT KR 1 340
2760 Bl 44 5 Vil s RAT KR 1 340
2761 kA BB S WA KA R AR 2 680
2762 K FAL BB S WA KA EAR 2 680
2763 HEE Vil AR s RAT KR 1 340
2764 7k BB S WA KA EAR 1 340
2765 7K A8 BER S R KA R AR 2 680
2766 Z4hE Vil s RAT KR 1 340
2767 K AT Vil AR s RAT KR 1 340
2768 PR F BB S WA KA EAR 2 680
2769 REA R Vil AR s RAT KR 1 340
2770 RE T 4 Vil AR s RAT KR 1 340
2771 2 A% | BB S WA KA R AR 2 680
2772 kKA w BB S WA KA EAR 1 400
2773 e LR S i RAT KR 1 340
2774 R R A DS i KA EAR 2 680
2775 PR IF F© LEE S FiiE KA EAR 2 800
2776 BT LEE S 3t KA R AR 2 800
2777 FEX LRk S i RAT KR 1 400
2778 FALF DEE S il KA EAR 2 800




2779 RESE DS g KA R AR 1 400
2780 X E M LS i KA EAR 2 800
2781 JA % LEE S 3t KA R AR 1 340
2782 EE] DEE S i KA EAR 2 800
2783 TIEfr DS g KA R AR 1 340
2784 e LR S it RAT KR 1 340
2785 4 i LRk S ik RAT KR 1 400
2786 T R L EES g KA EAR 2 800
2787 KA LEE S 3t KA R AR 1 400
2788 A= LEE S g RAT KR 2 680
2789 e LS i KA R AR 2 680
2790 x| & & L EES g KA EAR 1 400
2791 b R LEE S 3t KA R AR 1 400
2792 = L EYES i KA EAR 1 400
2793 R AT LS i KA R AR 1 340
2794 EHZ LEE S g RAT KR 1 400
2795 ERR LRk S i RAT KR 1 400
2796 FE= D EES i KA EAR 1 400
2797 S LEE S i KA R AR 1 340
2798 RAK LEE S 3t KA R AR 2 680
2799 PR eeAE LS 3t KA R AR 1 400
2800 T E# LS i KA EAR 2 800
2801 ] LR S i RAT KR 1 400
2802 X R DREES HitE KA EAR 2 680
2803 X A DS i KA EAR 2 800
2804 Rt = LEE S HiE RAT KR 1 340
2805 BRI LEE S 3t KA R AR 2 680
2806 7k 3£ [E L EES i KA EAR 2 680




2807 x| 7 5% DS g KA R AR 1 400
2808 FHZ LS i KA EAR 1 400
2809 e LR S ik RAT KR 2 800
2810 T E R D EYES i KA EAR 2 800
2811 %> % DS g KA R AR 1 340
2812 ZRE LR S it RAT KR 2 800
2813 Lot % LRk S ik RAT KR 1 400
2814 Fk K L EES g KA EAR 1 400
2815 F #MA LEE S 3t KA R AR 2 800
2816 H I % LRk il RAT KR 1 400
2817 T % LEE S FiiE KA R AR 1 400
2818 FRZ L EES g KA EAR 1 400
2819 e LR S i RAT KR 2 800
2820 Y E 7 DEE S i KA EAR 1 400
2821 FHE LS i KA R AR 1 400
2822 E k= LEE S g RAT KR 2 680
2823 F g F LRk S i RAT KR 1 340
2824 ik DREES EAE KA EAR 2 800
2825 FE== LREES EAE RAT KR 1 340
2826 B LEES £AE KA R AR 1 400
2827 N F DEES EAE KA R AR 1 460
2828 i DEES EAE KA EAR 1 400
2829 A X DREES HEAE RATRAR 2 800
2830 B DEES EAE KA EAR 1 340
2831 K F A DEES EARE KA EAR 1 400
2832 T ¥2% LREEs HAE RATRAR 1 340
2833 F i LREES ZAE RAT KR 1 400
2834 EPIR DREES EAE KA EAR 1 340




2835 PRt = D EES KA R AR 1 400
2836 EES DEES KA EAR 1 400
2837 XA X LR S RAT KR 1 340
2838 K fH = DEES KA EAR 1 400
2839 M ED D EES KA R AR 1 400
2840 FEX LR S RAT KR 1 400
2841 REFE LR S RAT KR 1 400
2842 H X & DEE S KA EAR 2 800
2843 REFZ LR S RAT KR 1 400
2844 A B LR S RAT KR 1 400
2845 ih 75 LEE S KA R AR 1 400
2846 X e A DEE S KA EAR 1 400
2847 KeE LR S RAT KR 1 400
2848 TE= DEES KA EAR 1 400
2849 T & LR S KA R AR 1 400
2850 FER LR S RAT KR 1 400
2851 Fpik = LR S RAT KR 1 400
2852 * B DEES KA EAR 1 400
2853 ATE LR S RAT KR 1 340
2854 F¥E LR S RAT KR 3 1200
2855 i B xS NE KA R AR 3 1200
2856 Ik nEs NE KA EAR 3 1020
2857 X T AR ME 2 NE RAT KR 2 680
2858 GEN NE s NE KA EAR 2 920
2859 H R ME 2 NE KA EAR 1 400
2860 TR WE % RAT KR 1 340
2861 M= MEZ NE RAT KR 1 400
2862 E NE s NE KA EAR 1 340
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2947 M & JUES KA R AR 1 340
2948 ik UES KA EAR 1 340
2949 &= 1F A ES RATRAR 1 340
2950 AL JUES KA EAR 1 340
2951 Fpdm it UES KA R AR 1 340
2952 e ES RATRAR 1 340
2953 T X ES RATRAR 2 680
2954 X I X JUES KA EAR 1 400
2955 KK 3 1A KA R AR 2 800
2956 7K 4HBR 10 RAT KR 2 680
2957 Rl 1L KA R AR 4 1360
2958 L g T8 KA EAR 1 460
2959 K E i RATRAR 1 400
2960 F2 A KA EAR 1 340
2961 HEF 1L KA R AR 1 340
2962 F g4 T4 RAT KR 2 920
2963 BXE 10 RAT KR 1 400
2964 7K AL AX TEAR KA EAR 1 400
2965 K AT i RAT KR 1 340
2966 ] A0 RAT KR 2 920
2967 N 1L KA R AR 2 680
2968 i 1L KA EAR 1 340
2969 XI5 i RATRAR 2 680
2970 X R iR KA EAR 2 680
2971 PR IF 3% 10 KA EAR 1 340
2972 X I % T4 RATRAR 1 340
2973 HEY 10 RAT KR 1 340
2974 K X HR TEAR KA EAR 1 340
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1360
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340
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460
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340
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680
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340
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3003 M XA NESZ REE KA R AR 1 340
3004 =1z H NES RLE KA EAR 2 680
3005 Fra® NE s REFR RAT KR 1 400
3006 K IE NES REE KA EAR 1 340
3007 Z & fu NES RLE KA R AR 1 340
3008 M &) NEs REFE RAT KR 1 340
3009 F ¥ NE s REFR RAT KR 2 800
3010 % B NES RLE KA EAR 1 340
3011 & 4G AR NE s REFR RAT KR 2 680
3012 kAR NE s REFE RAT KR 2 920
3013 A= NESZ REE KA R AR 1 400
3014 B A NES RLE KA EAR 1 340
3015 M B NE s REFR RAT KR 1 400
3016 M ERE NES REE KA EAR 2 800
3017 # 1w A NES RLE KA R AR 1 340
3018 # A NEs REFE RAT KR 2 680
3019 BKE NES RELE KA R AR 1 340
3020 HET NES RLE KA EAR 1 400
3021 A AR NE s REFR KA R AR 1 400
3022 £ IF NE s REFE RAT KR 1 400
3023 £ B I NES REE KA R AR 1 340
3024 XFHA NES RLE KA EAR 1 340
3025 FHEE FLy HHNER RAT KR 2 920
3026 R FLs FHNES KA EAR 1 400
3027 B FIE FLs FHNER KA EAR 5 2000
3028 KA FlLy FRNEL KA R AR 1 400
3029 e FlLy FHREL KA R AR 2 800
3030 X i FLs FHNES KA EAR 3 1200




3031 B4 Kk FLs FHNEL KA R AR 3 1200
3032 = FLs FHNER KA EAR 1 400
3033 B F X FLy HHNER RAT KR 4 1600
3034 FRE FLs FHNES KA EAR 5 2000
3035 HRE FLs FHNER KA R AR 1 400
3036 B FLy HHNER KA R AR 1 400
3037 EXFE FlLy HHuNEL RAT KR 2 800
3038 KX FLs FHNES KA EAR 1 400
3039 B E% Flby HHNEE RAT KR 2 920
3040 ks FLy HHNER RAT KR 3 1200
3041 FEE FLs FHNEL KA R AR 3 1200
3042 HHE FiLy HuRNES KA EAR 2 800
3043 kil FLy HHNEL RAT KR 2 800
3044 Mgt FiLy HHuNES KA EAR 1 400
3045 HEA FLs FHNER KA R AR 2 920
3046 p&ES FLy HHNER KA R AR 2 920
3047 R & FlLy HHNER KA R AR 3 1200
3048 kS Flhs FHNES KA EAR 1 400
3049 J & K FlLy HHuNEE RAT KR 2 800
3050 J& & FLy HHuNER RAT KR 3 1200
3051 & 4k Fhs FHNEL KA R AR 2 800
3052 HAEFH Flhs FHNER KA EAR 1 400
3053 M 4 FLy HHNER RAT KR 4 1600
3054 R B FLs FHNES KA EAR 1 400
3055 AR Fhy HHuRNES KA EAR 1 400
3056 H R FLy HHNER RAT KR 2 800
3057 Z I % FLy HHNER RAT KR 1 400
3058 MR E FLs FHNES KA EAR 1 400




3059 F R FLs FHNEL KA R AR 2 800
3060 MIEE FLs FHNER KA EAR 2 920
3061 FEM FLy HHNER KA R AR 3 1200
3062 FEE FLs FHNES KA EAR 5 2000
3063 AR FLs FHNER KA R AR 2 800
3064 M 25 AL FLy HHNER RAT KR 2 800
3065 s FlLy HHuNEL RAT KR 1 400
3066 F RN FLs FHNES KA EAR 1 400
3067 & Flby HHNEE RAT KR 1 400
3068 T [E B FLy HHNER RAT KR 2 800
3069 FHRE FLs FHNEL KA R AR 1 400
3070 FWAE Fhs FHNER KA EAR 1 400
3071 M >k FLy HHNEL RAT KR 1 400
3072 JE & % FLs FHNEL KA EAR 2 800
3073 BaR FLs FHNER KA R AR 1 400
3074 J& £ A FLy HHNER RAT KR 7 2380
3075 FH g FlLy HHNER RAT KR 3 1200
3076 & I Flhs FHNES KA EAR 2 680
3077 HE & FlLy HHuNEE RAT KR 1 340
3078 XK XS FwRAZS RAT KR 1 340
3079 M 5% % EwRAZE4 KA R AR 1 400
3080 FRE BEX S EwRAZ4 KA EAR 1 400
3081 A= X% ETwRAZES KA R AR 1 400
3082 L Ex 5% % =wRAZE4 KA EAR 2 800
3083 KA XR 5% % EwRAZ4 KA EAR 1 340
3084 R AN BXS FRAZS RAT KR 1 400
3085 XN EF XS FwRAZS RAT KR 1 400
3086 RA % 5% % EwRAZ4 KA EAR 2 800




3087 KB 5% % =wRAZ4 KA R AR 2 800
3088 BK IF & 5% % EwRAZ4 KA EAR 2 800
3089 R F A BEXS FwRAZS RAT KR 2 920
3090 RER 5% % EwRAZE4S KA EAR 2 800
3091 RHEF 5% % EwRAZ4 KA R AR 1 340
3092 AN XS FRAZS RAT KR 1 400
3093 FRA XS FwRAZS RAT KR 1 400
3094 I 5 4 bEX % EwRAZ4 KA EAR 2 680
3095 ERE XS FwRAZS KA R AR 1 340
3096 FL L 5% % ETwRAZES KA R AR 1 400
3097 FEx 5% % =R Z4 KA R AR 1 340
3098 T EE bEX S EwRAZ4 KA EAR 1 340
3099 K It 5% % EwRAZES KA R AR 1 400
3100 Bt a 5% % TR ZE4 KA EAR 2 800
3101 %3 5% % TwRAZ4 KA R AR 1 400
3102 LN J5 BXS FwRAZS RAT KR 1 400
3103 KRR X% TwRAZES KA R AR 1 400
3104 RERE bEX % EwRAZ4 KA EAR 1 340
3105 e BrhE AN ZE2 RAT KR 1 400
3106 EEX e AANZ2 RAT KR 1 400
3107 i g EhE ATNZE2 KA R AR 3 1200
3108 ERaA HEE ATNZ4S KA EAR 3 1020
3109 5% BrE AANZ2 RAT KR 1 400
3110 Al BhE ATNZ2 KA EAR 1 340
3111 )b HEE ATNZ4S KA EAR 6 2400
3112 7K I 2 e AdNZ2 RAT KR 2 800
3113 K BrE AANZ2 RAT KR 2 800
3114 =k BhE ATNZE2 KA EAR 2 800




3115 xR & F EhE ATNZE2 KA R AR 1 460
3116 15 75 HEE ATNZ4S KA EAR 2 800
3117 P g BrE AANZ2 RAT KR 1 460
3118 TH% BhE ATNZ2 KA EAR 2 920
3119 BE=E HEE ATNZ4S KA R AR 3 1200
3120 i BEhE AANZS KA R AR 1 460
3121 L= BrE AN Z2 KA R AR 1 400
3122 A R ATNZE2 KA EAR 1 460
3123 EE3a BrhE AANZE2 RAT KR 1 400
3124 EE3: BrE AdNZ2 RAT KR 2 680
3125 e £ BhE ATNZE2 KA R AR 2 800
3126 R HEE ATNZ4S KA EAR 2 800
3127 A 7 Fa BrE AANZ2 RAT KR 2 800
3128 o 4 oy BhE ATNZ2 KA EAR 2 800
3129 FHH HEE ATNZ4S KA R AR 2 800
3130 L )vEas e AdNZ2 RAT KR 2 680
3131 &2 BrE AANZ2 KA R AR 2 800
3132 i X BhE ATNZE2 KA EAR 1 400
3133 5K K A BrhE AN ZE2 RAT KR 4 1600
3134 EES] e AANZ2 RAT KR 1 400
3135 i iRia EhE ATNZE2 KA R AR 3 1020
3136 EE RS HEE ATNZ4S KA EAR 3 1200
3137 #IF = B ATRZES RAT KR 2 800
3138 ZEM BhE ATNZ2 KA EAR 3 1020
3139 KA HEE ATNZ4S KA EAR 1 400
3140 =X SEAE D RAT KR 1 400
3141 e SEAE DA KA R AR 1 400
3142 K E 5 SEGE D8R KA EAR 1 340




3143 &P SEGE D8N KA R AR 1 400
3144 EREA SEGE DEF KA EAR 2 680
3145 & K*HE SEHE T EN RAT KR 6 2400
3146 K E SEGE D8R KA EAR 1 400
3147 AE A SEGE D8N KA R AR 1 400
3148 FH% SEAE D RAT KR 2 800
3149 EX Rl A EL ZR RAT KR 1 340
3150 &7 FLEEAEL M KA EAR 2 680
3151 LS FlLrE A EL ZR RAT KR 1 340
3152 7k 2 F FlLEEAEL M KA R AR 1 340
3153 4 #t B Bl A EL MR KA R AR 1 460
3154 INFE-F Bl AEL ZHR KA EAR 1 400
3155 7K ot AR FLEEAFL M KA R AR 1 400
3156 EHHF Bl AEL MR KA EAR 2 800
3157 *ER FlLfrE A EFL R KA R AR 1 400
3158 A Bl A EL ZR RAT KR 1 340
3159 &HEL FlLrEAEL ZR RAT KR 1 340
3160 b iia Bl AEL ZHR KA EAR 1 340
3161 K AFE FLEEAEL M KA R AR 3 1200
3162 T ¥ FLEEAFL M RAT KR 1 340
3163 Z 4 [H Bl A EL MR KA R AR 2 800
3164 e Bl AEL B KA EAR 1 400
3165 e FlLEEAEL ZR RAT KR 2 800
3166 T EE Bl AEL ZHR KA EAR 2 680
3167 ITEX FLEEAEL FR KA EAR 1 340
3168 FHEA Bl A EL ZR RAT KR 3 1200
3169 R FLEEAFL M RAT KR 1 460
3170 FIEX Rl AEL M8 KA EAR 4 1360




3171 BN e Bl A EL MR KA R AR 2 800
3172 i Bl AAEL ZHR KA EAR 2 680
3173 FE= FlLErEAEL ZR RAT KR 1 340
3174 At Bl AEL R KA EAR 1 340
3175 7K X FlLfrE A EFL G KA R AR 1 340
3176 B g A Bl A EL ZR RAT KR 2 800
3177 E S Rl A EL ZR RAT KR 2 680
3178 HARE Bl AEL ZHR KA EAR 1 400
3179 ¥ E7 FlLrE A EL ZR RAT KR 1 340
3180 & 7T FlLrEhEL ZR RAT KR 4 1600
3181 JU & Bl A EL MR KA R AR 2 800
3182 =5 FLEEAEL R KA EAR 1 400
3183 FH¥ FlLEEAEL ZR RAT KR 3 1020
3184 FEH Bl AEL MR KA EAR 1 400
3185 F#HD FlLfrE A EFL R KA R AR 1 340
3186 7k % Bl A EL ZR RAT KR 1 340
3187 £/ FlLrEAEL ZR RAT KR 1 400
3188 T 1E A FlLEEAEL B KA EAR 2 920
3189 # g FlLEEAEL B RAT KR 4 1360
3190 7K ST, FlLrEhEL B RAT KR 2 800
3191 R = FlLEEAEL B KA R AR 1 400
3192 EEF RlLEEAZEL KR KA EAR 2 680
3193 T RHE FlLEEAEL B RAT KR 3 1200
3194 K EH FlLEEpAEL B KA EAR 4 1360
3195 B FlLEEAEL KR KA EAR 3 1380
3196 X\ . Rl AEL B RAT KR 1 400
3197 A AL FlLErEAEL B RAT KR 1 340
3198 K F I FlLaEAEL B KA EAR 1 400




3199 & X T FlLEAEL B KA R AR 1 400
3200 7K X & RlLEEAEL KR KA EAR 1 400
3201 * AR FLEEAEL KR KA R AR 1 400
3202 wEF FlLEEAEL KR KA EAR 3 1200
3203 ®P% FlLEEAEL KR KA R AR 1 400
3204 7k &5 Rl AEL B RAT KR 1 400
3205 KEFA FlLErEAEL B RAT KR 4 1600
3206 T2 FlLEEpAEL B KA EAR 1 400
3207 % E 3 FLEEAEL KR KA R AR 1 400
3208 &R Bl AEFL T RAT KR 1 340
3209 i Bl hEL KA R AR 2 800
3210 * X R FLEEAEL T KA EAR 3 1020
3211 b FlLEEAFL T RAT KR 2 680
3212 EAR Bl hEL KA EAR 4 1360
3213 T B FlLEEEL TH KA R AR 2 680
3214 B T Bl A EFL T RAT KR 3 1020
3215 EENS FlLEEAEL T RAT KR 1 340
3216 KA A FLEEAEL T KA EAR 3 1020
3217 K E I Bl AEL TS RAT KR 2 800
3218 B OF R FlLEEAEFL T RAT KR 1 400
3219 1 R Bl hEL KA R AR 1 340
3220 H BA FlLEEAEFL TH KA EAR 4 1600
3221 KEF Bl AFL T RAT KR 3 1200
3222 AR Bl hEL T KA EAR 2 680
3223 HHIE B FlLEEAEL TH KA EAR 2 680
3224 B AR Bl A EFL T RAT KR 2 680
3225 xEH FlLEEAEFL T RAT KR 1 340
3226 B Fu FLEEAEL T KA EAR 3 1020




3227 KB FLEHEAEL T KA R AR 3 1020
3228 AR FlLEEAEFL TH KA EAR 1 340
3229 K ED FLEEAEL T KA R AR 3 1200
3230 MR FLEEAEL T KA EAR 3 1020
3231 EE R FlLEEEL TH KA R AR 1 400
3232 KEIE Bl AEFL T RAT KR 2 680
3233 W E FlLEEAEL T RAT KR 1 340
3234 ITEH Bl hEL T KA EAR 1 340
3235 kKE2 FlLEEAFL W RAT KR 1 340
3236 XSS FlLEEAEL T RAT KR 5 1700
3237 KEYD Bl hEL KA R AR 1 340
3238 EEA FLEEAEFL TH KA EAR 1 400
3239 T FLEEAEL T KA R AR 2 800
3240 HEAY Bl hEL KA EAR 2 800
3241 EAEE FlLEEEL TH KA R AR 1 400
3242 7k 2 &8 Bl A EFL T RAT KR 5 2000
3243 B FlLEEAFL TS RAT KR 2 680
3244 RER Bl hEL KA EAR 1 400
3245 M R AT Bl AEL TS RAT KR 1 340
3246 3% B A FlLEEAEFL T RAT KR 2 800
3247 AR Bl hEL KA R AR 5 2000
3248 BR FlLEEAEFL TH KA EAR 1 460
3249 X % FLEEAEL T KA R AR 1 400
3250 TES Bl hEL T KA EAR 2 680
3251 RS FlLEEAEL TH KA EAR 1 340
3252 Z H N Bl A EFL T RAT KR 1 340
3253 LS FlLEEAEL T RAT KR 1 340
3254 kAR Bl hEL KA EAR 1 340




3255 EEE FLEHEAEL T KA R AR 3 1020
3256 &5 FlLEEAEFL TH KA EAR 1 340
3257 i FLEEAEL T KA R AR 2 680
3258 Y Bl hEL KA EAR 1 340
3259 %A AE FLEEAEL T KA R AR 4 1600
3260 FIETT Bl AEFL T RAT KR 1 340
3261 7 FlLEEAFL T RAT KR 1 340
3262 EZW Bl hEL T KA EAR 2 680
3263 VE FlLEEAFL W RAT KR 1 340
3264 MR Bl AEFL T RAT KR 1 340
3265 k¥ 5w Bl hEL KA R AR 4 1600
3266 A FLEEAEFL TH KA EAR 1 340
3267 B FlLEEAFL T RAT KR 1 340
3268 W E Bl hEL KA EAR 5 1700
3269 ¥ IF 7 FlLEEEL TH KA R AR 1 340
3270 A Bl A EFL T RAT KR 1 340
3271 JE AT BEEE & KA R AR 2 800
3272 TR BEHE 8t KA EAR 4 1360
3273 X K E WEHE F6 RAT KR 2 680
3274 B2 WEHE F6 RAT KR 1 400
3275 X 4 E BERE =8 KA R AR 2 800
3276 X X F BEHE 8 KA EAR 1 400
3277 eI WEHE F6 RAT KR 1 400
3278 Xk & BEEE =8 KA EAR 1 400
3279 X\ 4 & BEHE 8 KA EAR 2 680
3280 WES WEHE Fit RAT KR 1 400
3281 x| g% BWEHE F6 RAT KR 1 400
3282 X BEHE 8t KA EAR 2 800




3283 X | BEHE 8t KA R AR 3 1380
3284 FHEW BEHE 8 KA EAR 1 400
3285 ZEG WEHE F6 RAT KR 2 800
3286 7k B BEHE 8t KA EAR 1 460
3287 & ¥ BEHE 8 KA R AR 1 400
3288 ZrE WEHE Fi RAT KR 1 400
3289 WL BWEHE F6 RAT KR 1 400
3290 RE A BEHE 8t KA EAR 5 2000
3291 FHE WEHE Fi RAT KR 1 400
3292 Y WEHE F6 RAT KR 2 800
3293 X 31 & BEHE 8t KA R AR 2 800
3294 = tE BEHE 8 KA EAR 2 920
3295 7K AL WEHE Fit RAT KR 1 400
3296 KA BEHE 8t KA EAR 1 340
3297 # 1IE X BEHE 8 KA R AR 1 400
3298 XA WEHE Fi RAT KR 1 400
3299 2ot WEHE F6 RAT KR 1 400
3300 B & BEHE 8t KA EAR 1 400
3301 77 WEHE F6 RAT KR 3 1020
3302 X BT BEEE & KA R AR 2 680
3303  BE BEHE 8t KA R AR 2 800
3304 WA BEHE 8 KA EAR 2 680
3305 FXE WEHE F6 RAT KR 2 800
3306 L~ BEHE 8t KA EAR 1 460
3307 =B R BEHE 8 KA EAR 1 340
3308 x| % F WEHE Fit RAT KR 2 680
3309 ¥ RXK BEHE 8 RAT KR 2 680
3310 X A % BEEE =8 KA EAR 2 920




3311 X35 % BEHE 8t KA R AR 4 1360
3312 X X % BEHE 8 KA EAR 3 1380
3313 &t WEHE F6 RAT KR 3 1020
3314 EWFH BEEE =8 KA EAR 4 1360
3315 MZE= BEHE 8 KA R AR 1 460
3316 REF WEHE Fi RAT KR 2 680
3317 FEHR BWEHE F6 RAT KR 1 400
3318 EES BEEE =8 KA EAR 1 400
3319 X AT & WEHE Fi RAT KR 2 800
3320 B K& WEHE F6 RAT KR 1 400
3321 'EHE BEHE 8t KA R AR 3 1200
3322 7k F X BEHE 8 KA EAR 4 1360
3323 XA WEHE Fit RAT KR 2 680
3324 X % BEEE =8 KA EAR 1 340
3325 kAT G BEHE 8 KA R AR 2 920
3326 A BEEE 2R KA R AR 3 1020
3327 M KK WEHE TR RAT KR 1 340
3328 7K F i BEEE B8 KA EAR 1 460
3329 i E B BEEE B8 KA R AR 3 1200
3330 T A& WEHE TR RAT KR 3 1200
3331 BT BEEE B8 KA R AR 2 800
3332 4% BEHE 28 KA EAR 1 340
3333 KFL BEEE B8 KA R AR 2 920
3334 7K ot X BEEE B8 KA EAR 1 400
3335 & AT BEHE £4& KA EAR 1 400
3336 KA BEEE A& KA R AR 2 800
3337 A i BEHE 4 RAT KR 3 1020
3338 EXES BEHE £4& KA EAR 1 400




3339 TKAER BEHE £& KA R AR 2 680
3340 EEE BEHE £4& KA EAR 1 340
3341 FF BEEE £ KA R AR 1 340
3342 FHZ BEHEE £ KA EAR 2 800
3343 HEE BEHE £4& KA R AR 1 340
3344 XE= BEHE £4& KA R AR 2 680
3345 A BEHE £4& RAT KR 3 1020
3346 R4 BEHEE £ KA EAR 2 800
3347 e BEHE £4& KA R AR 1 460
3348 o 4 E BEHE £4& RAT KR 4 1600
3349 e BEHE £& KA R AR 1 340
3350 s BEHE £4& KA EAR 2 680
3351 e g BEEE A& KA R AR 4 1360
3352 F ¥ BEHE £& KA EAR 3 1200
3353 B4R BEHE £4& KA R AR 3 1200
3354 M X BEHE £4& KA R AR 5 1700
3355 2 F A BEHE 4 RAT KR 4 1600
3356 HH R BEHEE £ KA EAR 2 680
3357 FE5& BEEE A& KA R AR 1 400
3358 B BEHE £4& RAT KR 3 1020
3359 R A BEHE £& KA R AR 3 1020
3360 fNE BEHE £4& KA EAR 3 1020
3361 & 4| BEEE £ KA R AR 1 340
3362 & F ot BEHE £& KA EAR 3 1200
3363 * 4 BEHE £4& KA EAR 1 1360
3364 B BEHE £4& KA R AR 1 460
3365 s BEHE 4 RAT KR 1 340
3366 KA BEEE HE KA EAR 1 460




3367 e BEHE B KA R AR 2 680
3368 B BEHE BE KA EAR 2 680
3369 K Ak IR BEHE B KA R AR 2 680
3370 MR % BEHE BE KA EAR 1 340
3371 SR IE o WEHE HE KA R AR 4 1360
3372 A KRF BEHE B KA R AR 1 460
3373 7K A& AT WEHE HE RAT KR 1 400
3374 7K A BEHE BE KA EAR 4 1360
3375 7k 4 R BEHE B KA R AR 1 400
3376 7K 5K BEEE A KA R AR 1 400
3377 kAR BEHE HE KA R AR 1 400
3378 7K B BEHE BE KA EAR 4 1360
3379 b P BEEE HAE KA R AR 2 680
3380 WA BEEE HE KA EAR 4 1360
3381 K& BEHE HE KA R AR 1 340
3382 K AT WEHE HAE RAT KR 1 340
3383 K B BEHE BE RAT KR 1 400
3384 MR E BEEE HE KA EAR 1 400
3385 K E M BEHE HAeE KA R AR 2 800
3386 K ok BEHE B RAT KR 1 400
3387 e BEHE B KA R AR 1 400
3388 7K F AR BEHE BE KA EAR 1 1360
3389 BEL BEEE HAE KA R AR 5 1700
3390 FHZ BEHE BE KA EAR 3 1020
3391 k3T B BEHE HE KA EAR 4 1360
3392 AFH BEHE #HoF KA R AR 2 800
3393 B BEHE BT RAT KR 1 400
3394 7K X E BEHE HoF KA EAR 1 400




3395 [N BEHE HoF KA R AR 1 340
3396 A A BEHE HoF KA EAR 5 1700
3397 B R BEHE HoF KA R AR 2 800
3398 T RE BEHE HoF KA EAR 1 400
3399 B A BEHE HoF KA R AR 1 400
3400 TIFE BE A #or RAT KR 1 400
3401 ZIFE ¥ e Hor KA R AR 2 800
3402 b BEHE HoF KA EAR 1 340
3403 F¥IE BEEE BT RAT KR 2 680
3404 7K > BEHE #HoF RAT KR 2 800
3405 X\ & 5 BEHE HoF KA R AR 1 340
3406 i BEHE HoF KA EAR 2 680
3407 (ER A BEEE BT KA R AR 2 800
3408 X\ BA 5 BEHE HoF KA EAR 1 340
3409 T¥F BEHE HoF KA R AR 1 460
3410 kKEP BEHE #HoF KA R AR 2 680
3411 il BEHE #HoF RAT KR 5 1700
3412 B BEHE HoF KA EAR 1 400
3413 TEE BEEE BT KA R AR 2 800
3414 T ¥ e Hor KA R AR 2 800
3415 2 Jp BEHE HoF KA R AR 2 800
3416 ke X HEHE HoF KA EAR 1 460
3417 kKx2 BEEE BT KA R AR 1 400
3418 (k2N BEHE HoF KA EAR 1 400
3419 I = BEHE HoF KA EAR 3 1020
3420 VAR BEHE #HoF KA R AR 2 680
3421 Tort BEHE #HoF KA R AR 3 1020
3422 PO BEHE HoF KA EAR 1 400




3423 I fE BEHE HoF KA R AR 1 340
3424 FFH HEHE HoF KA EAR 1 340
3425 FIFE BEHEE Hr RAT KR 2 680
3426 X & 5 BEHE HoF KA EAR 1 400
3427 AEFH HEHE HoF KA R AR 1 400
3428 B BE A #or KA R AR 1 400
3429 7K 7k 2k BEHE #HoF KA R AR 1 400
3430 (AN LR W KA EAR 1 340
3431 4 1F i LA WL RAT KR 1 340
3432 PR % 4 FELE WL RAT KR 1 400
3433 # 1F it LR T KA R AR 3 1200
3434 2 8 LR WL KA EAR 4 1840
3435 M= R kL WL RAT KR 1 400
3436 FEE L WL KA EAR 1 340
3437 =g LR T KA R AR 3 1380
3438 ZEHT FEL4E WL RAT KR 1 400
3439 w"EZ LR WL KA R AR 1 460
3440 EFa L W KA EAR 1 400
3441 Tk X1 L W KA R AR 1 460
3442 2= A AL W KA R AR 2 800
3443 FyiE LR T KA R AR 3 1200
3444 X IFE FEILE WL KA EAR 2 800
3445 M X F L4 WL RAT KR 1 400
3446 M E L WL KA EAR 2 680
3447 B IF 7 FRAL4E T KA EAR 3 1020
3448 Wi % FEL4E WL RAT KR 2 800
3449 MTF LR TR RAT KR 1 400
3450 Ep e kLR WL KA EAR 2 800




3451 ER LR T KA R AR 3 1200
3452 FZ kL WL KA EAR 2 800
3453 & LA WL RAT KR 1 400
3454 E A LR W KA EAR 4 1600
3455 e FkLE WL KA R AR 2 680
3456 FEFX FEL4E WL RAT KR 2 800
3457 x| IF %% kL WL RAT KR 1 340
3458 ZHEE kLR WL KA EAR 1 340
3459 ey LA WL RAT KR 1 400
3460 AN kL WAL RAT KR 1 340
3461 ] LR WL KA R AR 4 1360
3462 KH = FAL4E W KA EAR 2 680
3463 I AR L4 WL RAT KR 2 680
3464 2 L WL KA EAR 2 800
3465 E 1Y LR T KA R AR 3 1200
3466 %K IE FRILE WL RAT KR 1 340
3467 Z 4l L WL RAT KR 4 1600
3468 BRXE kLR WL KA EAR 2 680
3469 MER L4 WL RAT KR 1 340
3470 o HE FE LR WL RAT KR 1 340
3471 2 % L W KA R AR 1 400
3472 BK K FEILE WL KA EAR 2 680
3473 &= R L4 WL RAT KR 1 400
3474 E=Kil L WL KA EAR 1 340
3475 e R FLE WL KA EAR 1 400
3476 I fp e FEL4E WL RAT KR 2 680
3477 %= OF 3t FOLE W KA R AR 2 680
3478 RIE B kLR WL KA EAR 1 400




3479 EHEY FELE WL KA R AR 1 400
3480 MEE FAL4E T KA EAR 2 680
3481 EESa LA WL RAT KR 1 340
3482 # L WAL KA EAR 2 680
3483 et FkLE WL KA R AR 2 800
3484 5= FEL4E WL RAT KR 1 340
3485 B kL WL RAT KR 1 400
3486 1 LR W KA EAR 1 400
3487 57 kL WL RATE R 1 340
3488 IF K FELE WL RAT KR 1 400
3489 F &R LR WL KA R AR 1 340
3490 XEK LR WL KA EAR 1 340
3491 ED SN L4 WL RAT KR 1 400
3492 M FF L W KA EAR 1 400
3493 M E FELE WL KA R AR 1 400
3494 RF I FALE EM RAT KR 1 340
3495 FEM FALE EM RAT KR 1 460
3496 = FkLE FH KA EAR 1 400
3497 B = Y FEALE EM RAT KR 1 400
3498 D% FALE EM RAT KR 1 340
3499 B HE FILE FH KA R AR 2 680
3500 FEAE FkLE FH KA EAR 1 400
3501 FREE FALE EM RAT KR 1 400
3502 EIS FALE EA KA KR 1 340
3503 F=% FILE FH KA EAR 1 400
3504 FEHR FALE EM RAT KR 1 400
3505 FHEE FALE EM RAT KR 1 340
3506 eyl FkLE FAH KA EAR 1 400




3507 FEE FLE FAH KA R AR 2 800
3508 ERLES FkLE FH KA EAR 1 400
3509 J& = R, FALE EM RAT KR 1 400
3510 BRE FLE FH KA EAR 1 340
3511 REH FLE EH KA R AR 1 460
3512 W F F LE EM KA R AR 1 340
3513 B FALE EM RAT KR 1 340
3514 x5 A FLE FH KA EAR 1 400
3515 TR FALE EM RAT KR 2 800
3516 X & FALE EM RAT KR 2 680
3517 e FILE FH KA R AR 1 400
3518 e =] FkLE FH KA EAR 1 400
3519 FHE FALE EM RAT KR 1 340
3520 TR kLE FH KA EAR 2 680
3521 I 7 FLE FAH KA R AR 2 680
3522 A E FALE EM RAT KR 1 340
3523 BEfE X FALE EM RAT KR 1 400
3524 ¥ 5 FLE FH KA EAR 1 340
3525 AT FEALE EM RAT KR 2 680
3526 EE AW AT FALE EM RAT KR 2 680
3527 F 3 E FILE FH KA R AR 2 680
3528 B R FkLE FH KA EAR 2 680
3529 EEA FALE EM RAT KR 2 680
3530 i FkLE FH KA EAR 1 340
3531 B E FLE EH KA EAR 2 680
3532 G FALE EM RAT KR 2 680
3533 F X5 FALE EM RAT KR 2 800
3534 3% A FLE FH KA EAR 2 680




3535 Bg4A FLE EH KA R AR 2 680
3536 T F A FkLE FH KA EAR 2 680
3537 EEL FALE EM RAT KR 1 340
3538 T kLE FH KA EAR 1 400
3539 3 RAEHE HE KA R AR 1 340
3540 2k fm B RACE B RAT KR 2 680
3541 i RAEHE PE KA R AR 1 340
3542 AR AE BREE HE KA EAR 5 1700
3543 Tz BHEE NG RAT KR 1 340
3544 F A RHEE NE RAT KR 3 1200
3545 F A BEE HE KA R AR 1 400
3546 iz RAEHE HE KA EAR 2 680
3547 5 RAEHE NE KA R AR 1 340
3548 ET R BEE HE KA EAR 2 680
3549 KA R RAEHE HE KA R AR 4 1600
3550 KA = RAEHE PE RAT KR 1 460
3551 KEF RAEHE NE KA R AR 1 340
3552 A BREE JE KA EAR 2 800
3553 7K E AT R NE KA R AR 2 680
3554 KA RACE B RAT KR 1 340
3555 X F BEE HE KA R AR 1 400
3556 A2 SR RAEHE JE KA EAR 3 1020
3557 &N G RAE B RAT KR 1 340
3558 Tk x X BEE JE KA EAR 1 340
3559 FHF RAEHE JE KA EAR 1 400
3560 R = BRHEE NE RAT KR 1 340
3561 M RAE B RAT KR 3 1020
3562 B BREE HE KA EAR 1 340




3563 F¥E B NE KA R AR 2 680
3564 B RAEHE HE KA EAR 1 340
3565 TR = BEE HE RAT KR 1 340
3566 7k X | BEE A8 KA EAR 3 1020
3567 F A% RAEHE HE KA R AR 2 680
3568 e RAEHE PE KA R AR 1 400
3569 RN RAE B RAT KR 1 340
3570 KR F BAEE NE KA EAR 1 340
3571 7R3 BHEE NG RAT KR 1 340
3572 Z RHEE NE RAT KR 2 680
3573 FHER REE H KA R AR 3 1020
3574 JEIE R RAEHE HT KA EAR 2 680
3575 R b A BRAEE FH KA R AR 4 1360
3576 RIEH RAEE = KA EAR 1 340
3577 KF & RAEHE H KA R AR 3 1020
3578 TS RAH F RAT KR 2 680
3579 =N BRAeH F RAT KR 1 340
3580 i B REE F KA EAR 3 1020
3581 A b K BRAE H) RAT KR 3 1020
3582 EFRE BRAEE FH KA R AR 2 680
3583 7RI K RiEE H KA R AR 1 340
3584 E 4 RAEHE HT KA EAR 1 340
3585 Tt RhE F RAT KR 1 340
3586 ¥EE RAEE = KA EAR 2 680
3587 R bl REHE F) KA EAR 1 340
3588 Bk R F RAT KR 6 2040
3589 FEH BRAeH F RAT KR 3 1020
3590 157K & RigE F KA EAR 2 680




3591 FHE RiE H KA R AR 3 1020
3592 ReFH RAEHE HT KA EAR 3 1020
3593 ik s RhH F RAT KR 1 340
3594 JE Jin 2% RAEE = KA EAR 1 340
3595 JE i RAEHE HT KA R AR 3 1020
3596 KEE R F RAT KR 3 1020
3597 FEH BRAH F RAT KR 3 1020
3598 M T RiEE F KA EAR 1 400
3599 BAE BRAEE H) RAT KR 4 1360
3600 EEEES BRheH F RAT KR 2 680
3601 FHE REE H KA R AR 3 1020
3602 R b= RAEHE HT KA EAR 4 1360
3603 =ER BRAEE FH KA R AR 4 1360
3604 ReF RAEE = KA EAR 4 1360
3605 E RAEHE H KA R AR 1 340
3606 RE® RAH F RAT KR 2 680
3607 e BRAEE FH KA R AR 2 680
3608 F X REE F KA EAR 3 1020
3609 JE I ## BRAE H) RAT KR 1 340
3610 2= XA EhE OKE RAT KR 1 400
3611 wHEZ BAEE kY KA R 2 680
3612 T4 % BRAEHE kY KA EAR 2 680
3613 JEREE BEHEE OKE RAT KR 2 800
3614 ERR BEE kG KA AR 3 1020
3615 kot F RAEHE kY KA EAR 2 800
3616 J& & R EhE OKE RAT KR 3 1020
3617 X~ EHE OKE RAT KR 2 680
3618 M X E BZEE Oy KA EAR 1 460




3619 GESS BZEE kY KA AR 3 1020
3620 B RAEHE kY KA & AR 3 1200
3621 A BRAEHE kY RAT KR 3 1020
3622 il BEE kG KA AR 3 1020
3623 RS RAEHE LY KA R AR 1 340
3624 iy EhHE OKE RAT KR 1 340
3625 =1F 5 2P OKE RAT KR 2 680
3626 FEE BEE kE KA EAR 2 680
3627 8 IF it BEHEE OKE RAT KR 2 680
3628 &5 T EE RAT KR 2 800
3629 B A& BEE kG KA AR 3 1200
3630 i3 RAEHE kY KA & AR 5 1700
3631 FHE P OKE RAT KR 1 340
3632 JE K AE BEE kG KA EAR 2 680
3633 2= Jim A RAEHE kY KA R AR 2 680
3634 BGES EE RAT KR 2 680
3635 =¥ P OKE RAT KR 1 340
3636 Exu BZEE kE KA EAR 1 460
3637 e BEHEE OKE RAT KR 2 680
3638 e BRAEE kY RAT KR 3 1020
3639 i RAaE Loy KA R AR 1 340
3640 ¥FE RAHE Ly KA EAR 1 460
3641 KF = BAE Ly RAT KR 2 680
3642 T e RAaE Loy KA EAR 2 680
3643 7B R RAHE Ly KA EAR 1 340
3644 K BAHE Ly KA R AR 2 680
3645 LHE Feq Lvy RAT KR 1 340
3646 KEE RAaE Loy KA EAR 3 1380




3647 t&® RAEE Loy KA R AR 2 680
3648 KEE RAHE Ly KA EAR 1 340
3649 J A Fieqg Lvy RAT KR 4 1360
3650 MR K RAaE Loy KA EAR 2 680
3651 A RAEE Loy KA R AR 1 340
3652 7K B Faeqg Loy RAT KR 3 1200
3653 & Jm Ak Fheq Lvy RAT KR 1 340
3654 R XC RAaE Loy KA EAR 4 1360
3655 XA B Ly KA R AR 4 1360
3656 TKIEE Bl Ly RAT KR 5 1700
3657 7k R HT RAaE Loy KA R AR 1 400
3658 A H RAHE Ly KA EAR 3 1020
3659 ik &% B Ly KA R AR 1 400
3660 X 5 R RAaE Loy KA EAR 3 1020
3661 T BRAHE Ly KA R AR 3 1020
3662 A BAHE Ly KA R AR 3 1200
3663 kR Bl Ly RAT KR 1 400
3664 KFE RAE Loy KA EAR 2 680
3665 Ji >R Faeq Loy RAT KR 3 1020
3666 ZIER Bl Lvy RAT KR 1 400
3667 WEZE RAaE Loy KA R AR 1 340
3668 H 415 RAHE Ly KA EAR 1 400
3669 FiE% Fieq Loy RAT KR 3 1020
3670 PR3 A RAaE Loy KA EAR 3 1020
3671 BRA& RAHE Ly KA EAR 1 400
3672 HEE Faeqg Loy RAT KR 1 400
3673 ¥ E Feq Lvy RAT KR 4 1600
3674 BEX RAaE Loy KA EAR 4 1360




3675 (g RAEE Loy KA R AR 4 1360
3676 18 X RAHE Ly KA EAR 1 340
3677 7k & Fieqg Lvy RAT KR 1 340
3678 A A RAaE Loy KA EAR 3 1020
3679 #H X RAEHE LYY KA R AR 2 920
3680 RE R BAHE Ly KA R AR 4 1360
3681 FeE AT ki RAT KR 1 340
3682 M R A kg KA EAR 4 1840
3683 7K 4 HEE ki RAT KR 1 460
3684 EORE AT ki RAT KR 1 340
3685 F XA At kg KA R AR 1 340
3686 B RE A8 kg KA EAR 2 680
3687 REE HEE hiE KA R AR 1 340
3688 X & A kg KA EAR 3 1020
3689 FEW A kg KA R AR 1 340
3690 e8] A8 ki RAT KR 1 340
3691 FIE#H AT ki RAT KR 1 340
3692 EXSe A8 kg KA EAR 1 340
3693 FIFA HETE ki RAT KR 1 340
3694 R 2 N AT ki RAT KR 1 400
3695 R % At kg KA R AR 4 1360
3696 K & At kg KA EAR 1 340
3697 = B R HETE ki RAT KR 1 340
3698 EES A kg KA EAR 4 1360
3699 /A=ES A8 kg KA EAR 2 800
3700 R HEE hiE KA R AR 1 340
3701 RF 2 A#HE &KX RAT KR 1 460
3702 FXE AE#E =X KA EAR 4 1360




3703 X B I A 'mx KA R AR 2 920
3704 7K A AEE BX KA EAR 1 340
3705 &% HEE &5 RAT KR 3 1020
3706 T H AE#E =X KA EAR 2 680
3707 e Ae#E 'mx KA R AR 2 800
3708 PRz F AHE X RAT KR 2 680
3709 Z= BB AEE &X RAT KR 1 340
3710 LSSk AEE BX KA EAR 2 680
3711 X R AEE &5 KA R AR 3 1200
3712 FFe AHEE &KX RAT KR 1 340
3713 EES AEE &% KA R AR 5 1700
3714 R F AEE BX KA EAR 1 460
3715 FE AHE &KX RAT KR 3 1020
3716 1 HE AEE BX KA EAR 2 680
3717 R84 AEE 'mx KA R AR 2 800
3718 XEHR AHE X RAT KR 4 1360
3719 BiEX AEE 'mx KA R AR 2 680
3720 TR A AEE BX KA EAR 2 680
3721 WRE AHE &KX RAT KR 2 680
3722 BoEFE AE#E 'mx KA R AR 2 680
3723 AN AeE 'mx KA R AR 1 340
3724 B AR AEE BX KA EAR 1 340
3725 x5 HEE &X KA R AR 1 340
3726 x| 3 4 AE#E =X KA EAR 1 400
3727 =H7 AEE &% KA EAR 1 340
3728 ks AHE X RAT KR 2 680
3729 7ok H T RE B KA R AR 5 1700
3730 R IFF T RE B KA EAR 1 340




3731 EES T RE B KA R AR 3 1020
3732 B AT #E T RE B KA EAR 2 680
3733 BiFA T RE mE RAT KR 5 1700
3734 X I3 T RE EE KA EAR 1 340
3735 Aty T RE EE KA R AR 2 680
3736 W E %% T RE B KA R AR 2 680
3737 7k X v RE B RAT KR 2 680
3738 KA X T RE B KA EAR 2 680
3739 T R IE T RE B RAT KR 4 1360
3740 fiesiid v RE B RAT KR 2 680
3741 Z FAl T RE EE KA R AR 2 680
3742 FHE T RE B KA EAR 3 1020
3743 T #% T RE B RAT KR 2 680
3744 Br FRE B KA EAR 1 340
3745 FTED T RE EE KA R AR 3 1020
3746 17 I 5% v RE B RAT KR 2 680
3747 KR E T RE B KA R AR 1 400
3748 #OF gt T RE B KA EAR 2 680
3749 7K T RE B KA R AR 2 680
3750 7B v RE B RAT KR 1 340
3751 # & ¥ RE B KA R AR 5 1700
3752 FAR T RE B KA EAR 1 340
3753 B 2k v RE B RAT KR 2 680
3754 X T RE EE KA EAR 2 680
3755 HE 7 T RE B KA EAR 1 340
3756 £ v RE B RAT KR 4 1360
3757 EXEES FRE B KA R AR 1 340
3758 F it XX T RE B KA EAR 3 1020




3759 7k 18 e T RE EE KA R AR 3 1020
3760 AR T RE B KA EAR 3 1020
3761 Tk A ¥ FRE B KA R AR 1 340
3762 F{ri T RE EE KA EAR 3 1020
3763 [ T RE EE KA R AR 2 680
3764 BT T RE mAE RAT KR 6 2040
3765 KE= v RE B KA R AR 1 340
3766 BT T RE B KA EAR 1 340
3767 S MEAT T RE B RAT KR 3 1020
3768 I >4 AX v RE B RAT KR 1 340
3769 "REFEY T RE EE KA R AR 1 400
3770 KR T RE B KA EAR 2 680
3771 ke v RE B RAT KR 1 340
3772 7 IF & T RE B KA EAR 2 800
3773 PR B T RE EE KA R AR 1 340
3774 R ARAE v RE B RAT KR 1 340
3775 AR % v RE B RAT KR 1 400
3776 KEF T RE B KA EAR 1 340
3777 KA T RE B KA R AR 2 920
3778 1 E v RE B RAT KR 3 1020
3779 7K fm A% T RE EE KA R AR 1 340
3780 ERE T RE B KA EAR 3 1020
3781 X % FRE B KA R AR 1 340
3782 A T RE EE KA EAR 1 340
3783 FHME T RE EE KA EAR 2 680
3784 B A X v RE B RAT KR 1 340
3785 &% T RE mAE RAT KR 2 680
3786 e Al T RE B KA EAR 2 680




3787 T T RE EE KA R AR 1 340
3788 A K T RE B KA EAR 1 1360
3789 7K = Al R M RAT KR 3 1200
3790 kR R KA EAR 2 680
3791 ] R EE KA R AR 1 340
3792 A 18 B v RE BHE RAT KR 2 680
3793 £ B R v RE BHE RAT KR 1 340
3794 i R EE KA EAR 1 340
3795 # 1F % v RE BHE RAT KR 1 340
3796 FHEZ v RE BHE RAT KR 2 800
3797 JE B X R KA R AR 1 400
3798 ik R EE KA EAR 3 1020
3799 ik v RE BHE RAT KR 1 340
3800 X F % R EE KA EAR 2 680
3801 H X 3 R KA R AR 1 340
3802 Z2EF HRE EHE KA R AR 1 340
3803 B 5t v RE BHE RAT KR 1 400
3804 S R EE KA EAR 2 680
3805 B # HRE EHE KA R AR 1 340
3806 [ TR EE RAT KR 1 340
3807 ZHZ R EE KA R AR 1 340
3808 FiE R EE KA EAR 1 340
3809 RS HRE EHE KA R AR 1 340
3810 R TR KA EAR 1 400
3811 KA R EE KA EAR 2 680
3812 bR HRE EHE KA R AR 1 340
3813 K AT v RE BHE RAT KR 1 340
3814 B T RE BHE KA EAR 1 340




3815 R R KA R AR 1 340
3816 At R EE KA EAR 1 340
3817 JE & & WTEHE T RAT KR 1 340
3818 KA REEE X KA EAR 2 680
3819 WEEES WTFEE FE KA R AR 1 340
3820 W EE RTEHE Fr RAT KR 2 680
3821 Bt 24 WTFEHRE FE KA R AR 1 400
3822 B A BWTFEE FE KA EAR 1 340
3823 B A7 AF R EHE T RAT KR 3 1020
3824 BT E WFEE TR RAT KR 2 680
3825 AR WTEHE X KA R AR 1 340
3826 KAEK WTrEE FE KA EAR 2 680
3827 R4 WTEHE T RAT KR 2 680
3828 7K BR % REEE FE KA EAR 1 340
3829 A& BARESE KT KA R AR 1 400
3830 nEEs bR EE KT RAT KR 3 1020
3831 ¥i32 BREE AF RAT KR 2 680
3832 & g i BARESE KF KA EAR 2 680
3833 M 5 AT bR EE K RAT KR 1 340
3834 X% BREE AF RAT KR 1 340
3835 r&s BARESE KF KA R AR 1 340
3836 A BARESE KF KA EAR 3 1020
3837 =R % b REE KT RAT KR 1 400
3838 HEE BARESE KF KA EAR 1 460
3839 JEX K BARESE KF KA EAR 1 460
3840 Jii T F bR K RAT KR 1 400
3841 Z X bR EE K RAT KR 2 680
3842 £k BARESE KF KA EAR 1 400




3843 ZIRZE BARESE KF KA R AR 1 340
3844 PR FE 4% BARESE KF KA EAR 4 1600
3845 KIEE BREE AF RAT KR 4 1360
3846 Evil i BARESE KF KA EAR 1 460
3847 WA A BARESE KF KA R AR 1 460
3848 X BREE AF RAT KR 1 400
3849 JE X4 bR EE K RAT KR 5 1700
3850 A 7 BARESE KF KA EAR 1 400
3851 A b REE KT KA R AR 2 800
3852 i BREE AF RAT KR 1 340
3853 e BARESE KF KA R AR 3 1020
3854 7k XA Wk % EE KA EAR 1 340
3855 K E = Whs EE RAT KR 3 1380
3856 ik EH A WS EE KA EAR 1 340
3857 7 E ks EE KA R AR 2 800
3858 7K I IE Whs B RATRAR 8 3200
3859 7K R Whs EE RAT KR 2 920
3860 KRFAE W% EE KA EAR 1 400
3861 R A Whs EE RAT KR 3 1020
3862 B X E Whs EE RAT KR 2 920
3863 KRIFAE W% EE KA R AR 1 400
3864 i Wk % EE KA EAR 2 800
3865 TK/NZE Whs EE RAT KR 1 340
3866 B WS EE KA EAR 2 800
3867 HER Wk % EE KA EAR 2 680
3868 R4 =hY HH RAT KR 1 400
3869 I o Bk =Y HH RAT KR 1 460
3870 i ZhY HH KA EAR 1 460




3871 ELRS ZHh% HH KA R AR 2 680
3872 a5 ZRhY HH KA EAR 1 340
3873 & T =Y HH RAT KR 1 460
3874 RER Zh% HH KA EAR 2 800
3875 Tk I 4 ZhY HH KA R AR 2 800
3876 X 5 ZhY HH RAT KR 1 340
3877 E ik ZhY HH KA R AR 2 800
3878 R Zh% HH KA EAR 1 400
3879 F¥EF =hY HH RAT KR 1 460
3880 B4 =hS e RAT KR 3 1380
3881 T2 5 =R b KA R AR 1 400
3882 e =hY b KA EAR 1 460
3883 S BB S FAE RATRAR 2 920
3884 A E BEL S g KA EAR 3 1200
3885 WEF BEL S FAE KA R AR 1 340
3886 = A GBS FiE RAT KR 3 1020
3887 B2 K BB S FAE RATEAR 1 400
3888 # I 3 BEL S g KA EAR 1 400
3889 X XCF BER S FiE RAT KR 2 920
3890 = FHE BB S FAE RATRAR 1 400
3891 FHEZ BEL S FAE KA R AR 3 1020
3892 WESS BEL S g KA EAR 1 460
3893 X SCE GBS FiE RAT KR 2 800
3894 gt = BEL S g KA EAR 3 1200
3895 X B BEL S g KA EAR 2 800
3896 A BB S FAE RATRAR 1 400
3897 =t = GBS FiE RAT KR 1 340
3898 X F K By FiE KA EAR 3 1200




3899 2 GBS G XAE KA R AR 2 680
3900 AR BEL S g KA EAR 1 400
3901 K BB S FAE RAT KR 2 680
3902 =X HE BEL S g KA EAR 1 400
3903 e BEL S g KA R AR 2 800
3904 W e 75 BB S FiE RAT KR 2 680
3905 Zm R BB S FAE RAT KR 3 1020
3906 A/NE BEL S g KA EAR 1 400
3907 BIEKR BB S FiE RAT KR 1 340
3908 = FFE BB S FAE RAT KR 1 340
3909 HED Vil KA R AR 1 400
3910 e BEL S g KA EAR 2 800
3911 BRI & BB S FAE RAT KR 3 1200
3912 I BEL S g KA EAR 2 800
3913 7K I R BEL S FAE KA R AR 1 400
3914 B IF ¥ BB S FiE KA R AR 1 400
3915 FLoRk BB S FAE RAT KR 2 680
3916 7k F BEL S g KA EAR 1 340
3917 ¥ BER S FiE RAT KR 1 400
3918 = A 1F VRS RAT KR 1 340
3919 x| X BH BEL S FAE KA R AR 1 400
3920 T BEL S g KA EAR 1 400
3921 PR FE BB S FAE RAT KR 1 340
3922 7K 28 X BEL S g KA EAR 1 400
3923 K By FiE KA EAR 1 400
3924 BT BB S FAE RAT KR 2 680
3925 x| b 4 BN S FAE KA R AR 1 340
3926 EPEN D EE S RAHE KA EAR 1 340




3927 FE5 EE S RAHE KA R AR 1 340
3928 EER D EE S RAHE KA EAR 1 340
3929 A AL LREE S MAE RAT KR 2 680
3930 FRES L EES L& KA EAR 1 400
3931 kKFZ L EES L& KA R AR 2 800
3932 e LEEy L& KA AR 2 680
3933 WEZ OEEs Lk RAT KR 1 400
3934 R e E D EES L& KA EAR 1 400
3935 EA gy L& KA R AR 2 680
3936 KA LrEiEs L RATE AR 2 800
3937 YME LEES L& KA R AR 1 340
3938 DWHEZ DEES L1 KA EAR 1 400
3939 hER gy L& KA R AR 2 800
3940 & XCF D EES L& KA EAR 2 680
3941 X XA L EES L& KA R AR 2 800
3942 FHE gy L& KA R AR 1 400
3943 KA OEEs Lk RATE R 1 340
3944 I 4w BE DEES L& KA EAR 2 800
3945 Af E AT gy L& KA R AR 2 800
3946 TEIF LrEiE s L KA R AR 1 400
3947 M L EES L& KA R AR 1 400
3948 FH K LEES L& KA EAR 2 800
3949 ey SEiEy L& RATRAR 2 680
3950 = E A DEES L& KA EAR 2 800
3951 x| IF %, L EES L& KA EAR 2 800
3952 J R & LEiEy LiE RAT KR 2 920
3953 K A6 4 OEEs Lk RATE R 1 400
3954 T%H D EES L& KA EAR 2 800




3955 X 2 LEES L& KA R AR 2 680
3956 KEX DEES L& KA EAR 1 400
3957 JE AR D RES L& KA R AR 1 400
3958 I 5 L EES L& KA EAR 1 400
3959 H g % L EES L& KA R AR 1 400
3960 S LEEy L& KA AR 1 400
3961 5 gy L& KA AR 2 800
3962 EKE D EES L& KA EAR 2 680
3963 H B % LREs L RAT KR 2 680
3964 IE % gy L& KA R AR 1 400
3965 =BT LEES L& KA R AR 2 680
3966 T84 D EES L& KA EAR 1 340
3967 K DRiEy L& RATRAR 3 1200
3968 A5 & AR D EES L& KA EAR 1 400
3969 R E L EES L& KA R AR 2 680
3970 W E 5 DRES L1 KA R AR 1 400
3971 7K X R OEEs Lk RATE R 1 340
3972 KEE DEES L& KA EAR 1 400
3973 kEH gy L& KA R AR 1 400
3974 7K T Al LrEiE s L KA R AR 1 400
3975 FEZE L EES L& KA R AR 4 1360
3976 ER A NEs 1% KA EAR 1 340
3977 HEE NEs 1% KA R AR 2 920
3978 AR NEs 1% KA EAR 1 400
3979 BRAE NEs 1% KA EAR 1 400
3980 F 55 NE S TE RAT KR 3 1200
3981 KA NES ITE RAT KR 1 340
3982 EES NEs 1% KA EAR 2 920




3983

680

3984

460

3985

920

3986

340

3987

800

3988

340

3989

1200

3990

800

3991

REFEE

340

3992

7K 40 T

460

3993

e

400

3994

REX

920

3995

R Bt FH

680

3996

1200

3997

BT

1600

3998

R X

680

3999

FE

1380

4000

e

400

4001

RAH

680

4002

T

1600

4003

R B

1200

4004

K AT

400

4005

TR

920

4006

S3%

340

4007

K IE X

400

4008

gk E

340

4009

wER

340

4010

K g

(GO EE el Rl el AR e EGORN RESN I NG IN l [OCRN § G IESN KSR § NG R BEGIE el EE el [N EOCRN Bl Wl E GOl el BN

1200




4011

680

4012

KAl 3

400

4013

FA A

400

4014

B X

340

4015

5 8E

400

4016

KL

340

4017

Rz

680

4018

REE

1360

4019

A 2 L

680

4020

E=-IAVA
B /N

800

4021

FRAE

400

4022

KA

1020

4023

FH=

400

4024

R %

1200

4025

Ak rE

400

4026

REH

800

4027

=¥

400

4028

R T

400

4029

REA

800

4030

|

400

4031

7K 40

400

4032

e

400

4033

B H ¥

1360

4034

I A1

800

4035

KAER

400

4036

i 26 AX

400

4037

F Al

1200

4038

RE#

DW= =N === === ]wWw W=D I === =N

800




4039 Tk AF NEs 1% KA R AR 1 340
4040 X & NE S Th&E KA EAR 3 1380
4041 *EHF NE S IxE KA R AR 1 340
4042 FHK WNES Th&E KA EAR 1 340
4043 G EA WNE S Th&E KA R AR 1 340
4044 HR AT AX NE S TR%E RAT KR 1 400
4045 A H A& NE S Ih%E KA R AR 1 400
4046 = MNES Ih&E KA EAR 1 340
4047 (AWES NE S K% KA R AR 1 340
4048 TR R NE S Ix%E RAT KR 1 340
4049 REA NE S Th&E KA R AR 1 460
4050 T A A NES Th&E KA EAR 1 400
4051 el NE S Ix%E KA R AR 1 340
4052 KA NES Th&E KA EAR 1 400
4053 2K WNE S Th&E KA R AR 1 340
4054 =L NE S IxE RAT KR 1 400
4055 A 3% NE S IRE KA R AR 1 400
4056 # IEAX MNES Th&E KA EAR 1 400
4057 F AR NEEEEY S RAT KR 1 400
4058 YCES 5% % RERKNZ2 KA R AR 3 1200
4059 AR X 5% % RMERNZ2 KA R AR 1 340
4060 Z R ik 5% % RMERNZ2 KA EAR 2 680
4061 Y E 5% RMERHZS RAT KR 2 800
4062 FEFH 5% % RMERNZ2 KA EAR 2 680
4063 A IE# 5% % RMERNZ2 KA EAR 1 400
4064 EAwn 5% % RMERKNZ2 KA R AR 2 680
4065 F AL 5% % RMERNZ2 KA R AR 2 680
4066 KA 5% % RMERNZ2 KA EAR 1 340




4067 Rk A 5% % RMERNZ2 KA R AR 2 800
4068 e 5% % RMERNZ2 KA EAR 3 1020
4069 FRZ 5% RMERHZS RAT KR 1 400
4070 FH A 5% % RMERNZ2 KA EAR 1 460
4071 FFE 5% % RMERNZ2 KA R AR 1 400
4072 TR 5% RERHZS RAT KR 4 1360
4073 MK E 5% % RMERNZ2 KA R AR 2 680
4074 RA A 5% % RMERNZ2 KA EAR 1 400
4075 B 5% RMERHZS KA R AR 1 460
4076 2 )l BX 4% RERHZS RAT KR 2 680
4077 A E 5% % RMERNZ2 KA R AR 2 680
4078 FHK 5% % RMERNZ2 KA EAR 2 800
4079 AR K 5% % RMERNZZ KA R AR 2 800
4080 Rt 5% % RMERNZ2 KA EAR 1 340
4081 23 I 5% % RMERNZ2 KA R AR 2 680
4082 NES 5% RERHZS KA R AR 1 400
4083 X WA, Bx 4% RMERHZS RAT KR 1 340
4084 it 5% % RMERNZ2 KA EAR 1 400
4085 B AT 5% RMERHZS RAT KR 3 1380
4086 EGRi 5% % RERKNZ2 KA R AR 1 460
4087 B A& 5% % RMERNZ2 KA R AR 1 400
4088 THE 5% % RMERNZ2 KA EAR 1 400
4089 7K A8 A 5% RMERHZS RAT KR 1 340
4090 =5 H 5% % ZXiANZES KA EAR 2 680
4091 %A 5% % ZXANZES KA EAR 1 400
4092 A 5% —FHANZES KA R AR 2 800
4093 AHEM BEXS —XaANZ4L RAT KR 1 400
4094 A 5% % ZxiaANZES KA EAR 1 400




4095 e 5% % ZXANZES KA R AR 1 340
4096 7K A X 5EX % ZXANZES KA EAR 1 460
4097 T FF IR 5% —FHANZES KA R AR 2 800
4098 =X 5% % ZXiANZE2 KA EAR 1 400
4099 B\ & 5% % ZXANZES KA R AR 1 400
4100 T4 5% —FHANZES KA R AR 1 400
4101 = i [F 5% —FZHANZES KA R AR 2 800
4102 T ¥ 5% % ZXiANZE2 KA EAR 1 340
4103 IR 5% —FZHANZES KA R AR 3 1020
4104 K E KA ERE HERNES KA R AR 2 800
4105 X XA EhE HERES KA R AR 3 1380
4106 XK A HRE BEANES KA EAR 1 400
4107 e BRE BEEANZES RAT KR 2 800
4108 R 2 B HERNES KA EAR 2 680
4109 X i HRE ERANES KA R AR 1 340
4110 TIEM ERE HEARNES KA R AR 2 680
4111 £ 4 EhE HERNES KA R AR 1 400
4112 K N % HERE EENES KA EAR 2 680
4113 HEE HEEE BRANZES KA R AR 2 800
4114 X[ Fa ERE HEARNES KA R AR 1 340
4115 43t 5 HERE EENES KA R AR 2 920
4116 E£ER HRE BEANES KA EAR 1 400
4117 7 B HERZES KA R AR 2 800
4118 B R HERNZES KA EAR 1 400
4119 xR E 77 HRE BERANES KA EAR 1 400
4120 B ERE HERNES KA R AR 2 680
4121 AT ERhE HERNES KA R AR 1 460
4122 ot R ERNES KA EAR 3 1380




4123 X E = HERE EENES KA R AR 2 920
4124 7K X AR HRE BERANES KA EAR 3 1020
4125 At BRE BEEANZES RAT KR 4 1600
4126 Z A & B HERNES KA EAR 1 340
4127 MR 5 HEE BERANZS KA R AR 1 400
4128 K Tk BRE ERANEL RAT KR 1 460
4129 R+ BRE BEEANES RAT KR 1 460
4130 k=K HERE EENES KA EAR 1 400
4131 R I BRE BEEANES RAT KR 1 400
4132 =KE BRE EEANEL RAT KR 2 800
4133 AR EhE ERNES KA R AR 2 680
4134 R K HRE BEANES KA EAR 2 680
4135 i BRE BEEANZES RAT KR 3 1380
4136 ZEE BhE BEENZES KA EAR 2 800
4137 EPANI HRE ERANES KA R AR 3 1020
4138 KFE R BRE EANEL RAT KR 2 800
4139 ZHEX EhE BEEANES KA R AR 3 1380
4140 xR B Au HERE EENES KA EAR 2 680
4141 7k 7 BRE BEEANES RAT KR 1 400
4142 = EE BRE BEEANEL RAT KR 1 400
4143 B R ERNES KA R AR 3 1020
4144 M e HRE BEANES KA EAR 2 680
4145 L3 BRE BEEANZES RAT KR 1 340
4146 RS BhE BEENZES KA EAR 1 400
4147 B =g HRE BERANES KA EAR 1 400
4148 AR BRE BEANEL RAT KR 3 1200
4149 X[ AE F+ EhE BEEANES KA R AR 3 1020
4150 Y%= HERE EENES KA EAR 1 400




4151 B &4 R ERNES KA R AR 2 680
4152 x| I & HRE BERANES KA EAR 1 340
4153 K EhE BERANES KA R AR 2 800
4154 AR A B HERNES KA EAR 1 400
4155 FEAAS HRE BERANES KA R AR 1 400
4156 = A ERANES KA R AR 1 400
4157 AR AR BRE BEEANES RAT KR 3 1380
4158 X B & R ERENES KA EAR 2 680
4159 HEH B HERZES KA R AR 4 1600
4160 ZE & A ERANES KA R AR 1 400
4161 ] EhE ERNES KA R AR 2 800
4162 kS HRE BEANES KA EAR 2 680
4163 =AM EhE BERANES KA R AR 4 1360
4164 FAEFH Bl AEL B KA EAR 1 460
4165 7 EH FlLfrE A EL B KA R AR 1 460
4166 T2 Bl A EL B RAT KR 1 460
4167 I K Bl A EL B RAT KR 1 460
4168 D Bl AEL B KA EAR 1 460
4169 Z[EE Bl AEL B RAT KR 1 460
4170 J& W 1B Bl A EL B RAT KR 1 460
4171 Fxz Bl EL B KA R AR 1 460
4172 mAa Bl AEL B KA EAR 1 460
4173 ESEd Bl AEL B RAT KR 1 460
4174 X X FF FlLEEAEL R KA EAR 1 460
4175 e FlLfrE A EL B KA EAR 1 460
4176 g Bl A EL B RAT KR 1 460
4177 ke = Bl A EL B RAT KR 1 460
4178 E D Bl AEL B KA EAR 1 460




4179 # R BE Bl AEL B KA R AR 1 460
4180 Tk A8 45 Bl AEL B KA EAR 1 460
4181 MR A Bl AEL B RAT KR 1 460
4182 7 E & Bl AEL B KA EAR 1 460
4183 EEE FlLfE A EL B KA R AR 1 460
4184 B AR Bl A EL B RAT KR 1 460
4185 T3 Bl AEL B RAT KR 1 460
4186 ZhE Bl AEL B KA EAR 1 460
4187 kR Bl AEL B RAT KR 1 460
4188 Mok E Bl A EL B RAT KR 1 460
4189 # IE A% Bl AEL B KA R AR 1 460
4190 7K IE A FlLfEAEL B KA EAR 1 460
4191 A Bl AEL B RAT KR 1 460
4192 HEE Bl AEL B KA EAR 1 460
4193 # IF 48 FlLfrE A EL B KA R AR 1 460
4194 HiE = FlLEEAEL R RAT KR 1 460
4195 7k IF &b Bl A EL B RAT KR 1 460
4196 7K B Bl AEL B KA EAR 1 460
4197 INE T Bl AEL B RAT KR 1 460
4198 = % Bl A EL B RAT KR 1 460
4199 R Bl EL B KA R AR 1 460
4200 B & Bl AEL B KA EAR 1 460
4201 B A= FLEEAEL R RAT KR 1 460
4202 EhaEs Bl AEL B KA EAR 1 460
4203 &5 FlLfrE A EL B KA EAR 1 460
4204 &I FlLEEAEL R RAT KR 1 460
4205 =g Bl A EL B RAT KR 1 460
4206 FEH Bl AEL B KA EAR 1 460




4207 EN.E3 Bl AEL B KA R AR 1 460
4208 kK KR FlLEEAEL R KA EAR 1 460
4209 FHE Bl AEL B RAT KR 1 460
4210 7k IF 4 Bl AEL R KA EAR 1 460
4211 e = FlLfE A EL B KA R AR 1 460
4212 % IF & Bl A EL B RAT KR 1 460
4213 E Bl AEL B RAT KR 1 460
4214 B XA Bl AEL B KA EAR 1 460
4215 B AR Bl AEL B RAT KR 1 460
4216 L8 Bl A EL B RAT KR 1 460
4217 ] A Bl AEL R KA R AR 1 460
4218 # 1 FlLfEAEL B KA EAR 1 460
4219 e Bl AEL B RAT KR 1 460
4220 ZFH A Bl AEL B KA EAR 1 460
4221 RH FlLfrE A EL B KA R AR 1 460
4222 KAE FlLEEAEL R KA R AR 1 460
4223 it Bl A EL B RAT KR 1 460
4224 x| £ ¥ Bl AEL B KA EAR 1 460
4225 & LK Bl AEL B RAT KR 1 460
4226 T 518 Bl A EL B RAT KR 1 460
4227 Epe Bl EL B KA R AR 1 460
4228 BRIk # FlLHEAEL R KA EAR 1 460
4229 % FLEEAEL R KA R AR 1 460
4230 ik Bl AEL B KA EAR 1 460
4231 T =i FlLfrE A EL B KA EAR 1 460
4232 e FlLEEAEL R KA R AR 1 460
4233 EXPS Bl A EL B RAT KR 1 460
4234 F R Bl AEL B KA EAR 1 460




4235 EE&S Bl AEL B KA R AR 1 460
4236 HE= FlLEEAEL R KA EAR 1 460
4237 FHFF Bl AEL B RAT KR 1 460
4238 REZ Bl AEL B KA EAR 1 460
4239 KB FlLEEAEL R KA R AR 1 460
4240 7K Z AL Bl A EL B RAT KR 1 460
4241 74 % FLEEAEL R KA R AR 1 460
4242 7k BH Bl AEL B KA EAR 1 460
4243 el Bl AEL B RAT KR 1 460
4244 EHE Bl A EL B RAT KR 1 460
4245 FHE Bl AEL B KA R AR 1 460
4246 Tz FlLfEAEL B KA EAR 1 460
4247 INF FLEEAEL R KA R AR 1 460
4248 = E48 Bl AEL B KA EAR 1 460
4249 EAE FlLEEAEL R KA R AR 1 460
4250 o1 X Bl A EL B RAT KR 1 460
4251 EA N Bl A EL B RAT KR 1 460
4252 & E Bl AEL R KA EAR 1 460
4253 FAK Bl AEL B RAT KR 1 460
4254 & 7R Bl A EL B RAT KR 1 460
4255 X IE Al Bl EL B KA R AR 1 460
4256 ks FlLHEAEL R KA EAR 1 460
4257 7K /NG Bl AEL B RAT KR 1 460
4258 KRS Bl AEL B KA EAR 1 460
4259 7K M FlLEEAEL R KA EAR 1 460
4260 7K = Bl A EL B RAT KR 1 460
4261 K EEH Bl A EL B RAT KR 1 460
4262 FLH Bl AEL B KA EAR 1 460




4263 At Bl AEL B KA R AR 1 460
4264 =B E Bl AEL B KA EAR 1 460
4265 Ei3 Bl AEL B RAT KR 1 460
4266 lEasa Bl AEL B KA EAR 1 460
4267 ik FlLfE A EL B KA R AR 1 460
4268 X 5 Bl A EL B RAT KR 1 460
4269 M & A Bl AEL B RAT KR 1 460
4270 B e Bl AEL B KA EAR 1 460
4271 e Bl AEL B RAT KR 1 460
4272 I fn 5 Bl A EL B RAT KR 1 460
4273 i Bl AEL B KA R AR 1 460
4274 WARFE FlLfEAEL B KA EAR 1 460
4275 BE Bl AEL B RAT KR 1 460
4276 #a Bl AEL B KA EAR 1 460
4277 747 FlLfrE A EL B KA R AR 1 460
4278 X A A Bl A EL B RAT KR 1 460
4279 K HT Bl A EL B RAT KR 1 460
4280 BhEF Bl AEL B KA EAR 1 460
4281 BRI Bl AEL B RAT KR 1 460
4282 B ALK Bl A EL B RAT KR 1 460
4283 ey Bl EL B KA R AR 1 460
4284 papus Bl AEL B KA EAR 1 460
4285 K 7 Ak Bl AEL B RAT KR 1 460
4286 et Bl AEL B KA EAR 1 460
4287 7K 3% 3 FlLfrE A EL B KA EAR 1 460
4288 BT Bl A EL B RAT KR 1 460
4289 & LK Bl A EL B RAT KR 1 460
4290 B Bl AEL B KA EAR 1 460




4291 = IR Bl AEL B KA R AR 1 460
4292 A AT Bl AEL B KA EAR 1 460
4293 PR R Bl AEL B RAT KR 1 460
4294 X 17 R Bl AEL B KA EAR 1 460
4295 e FlLfE A EL B KA R AR 1 460
4296 AR Bl A EL B RAT KR 1 460
4297 iR Bl AEL B RAT KR 1 460
4298 5 F A Bl AEL B KA EAR 1 460
4299 =i E Bl AEL B RAT KR 1 460
4300 &k Bl A EL B RAT KR 1 460
4301 B A Bl AEL B KA R AR 1 460
4302 = RE FlLfEAEL B KA EAR 1 460
4303 KR Bl AEL B RAT KR 1 460
4304 A= Bl AEL B KA EAR 1 460
4305 B = #F FlLfrE A EL B KA R AR 1 460
4306 X)) 2 B Bl A EL B RAT KR 1 460
4307 FELE Bl A EL B RAT KR 1 460
4308 HE Bl AEL B KA EAR 1 460
4309 EEDS Bl AEL B RAT KR 1 460
4310 FRY Bl A EL B RAT KR 1 460
4311 T¥E Bl EL B KA R AR 1 460
4312 R K B Bl AEL B KA EAR 1 460
4313 B R Bl AEL B RAT KR 1 460
4314 PR 2 AL, Bl AEL B KA EAR 1 460
4315 I X FlLfrE A EL B KA EAR 1 460
4316 # I ¥ FlLEEAEL R KA R AR 1 460
4317 K E Bl A EL B RAT KR 1 460
4318 B Bl AEL B KA EAR 1 460




4319 JE fm R Bl AEL B KA R AR 1 460
4320 i Bl AEL B KA EAR 2 920
4321 GEES Bl AEL B RAT KR 1 460
4322 TIE Bl AEL B KA EAR 1 460
4323 rE FlLEEAEL R KA R AR 1 460
4324 = fE 3 Bl A EL B RAT KR 1 460
4325 ZHhR Bl AEL B RAT KR 1 460
4326 ot L KE KA EAR 2 680
4327 LD AL K E RAT KR 3 1380
4328 Y& X AL K E RAT KR 4 1840
4329 B L KE KA R AR 2 920
4330 R A RLE KE KA EAR 2 680
4331 Bk AL K E RAT KR 1 340
4332 7K Bt L KE KA EAR 2 920
4333 HEE L KE KA R AR 1 340
4334 BAEE AL K E RAT KR 1 400
4335 A& FILE KE RAT KR 2 680
4336 A RLE KE KA EAR 1 340
4337 A A FILE KE KA R AR 1 340
4338 A E FLE KE RAT KR 1 340
4339 BAKZ *LE KE KA R AR 1 340
4340 KB L KE KA EAR 3 1020
4341 R4 & FILE KE RATRAR 1 340
4342 B K L KE KA EAR 1 460
4343 TEZ LE KE KA EAR 1 460
4344 PR = AL K E RAT KR 1 460
4345 BEH AL K E RAT KR 2 680
4346 € E L KE KA EAR 1 340




4347 PR B = L KE KA R AR 3 1200
4348 =3 AL KE KA EAR 1 340
4349 7 HF FILE KE RAT KR 1 340
4350 # I I AL KE KA EAR 2 680
4351 R E LE KE KA R AR 1 1840
4352 A AL K E RAT KR 2 800
4353 e FILE KE RATRAR 1 400
4354 i RLE KE KA EAR 1 340
4355 =B AL K E RAT KR 2 680
4356 B X E FLE KE RAT KR 2 680
4357 7k 38 HLE KE KA R AR 1 340
4358 E e L KE KA EAR 3 1200
4359 F % L KE KA R AR 1 340
4360 EXE RLE KE KA EAR 1 400
4361 R Bt LE KE KA R AR 1 340
4362 R A AL K E RAT KR 2 680
4363 R AL K E RAT KR 2 680
4364 FHF FLE KE KA EAR 3 1020
4365 FA&A ILE KE RAT KR 2 680
4366 eSS FLE KE KA R AR 1 340
4367 BEA L KE KA R AR 1 340
4368 R L KE KA EAR 1 340
4369 A A AL K E RAT KR 1 340
4370 2 L KE KA EAR 1 340
4371 /N3 LE KE KA EAR 1 340
4372 X G5 FILE KE RATRAR 2 680
4373 Rer AL K E RAT KR 1 340
4374 R g RLE KE KA EAR 2 680




4375 3 *LE KE KA R AR 1 340
4376 K& 7 AL KE KA EAR 1 400
4377 AR AL K E RAT KR 1 400
4378 k5 RILE KE KA EAR 1 340
4379 BRI L KE KA R AR 3 1020
4380 R 2 % AL K E RAT KR 4 1360
4381 Y EE FALE S RAT KR 3 1200
4382 R FkLE S KA EAR 1 400
4383 2 kLA M RAT KR 1 400
4384 MR F AL SR RAT KR 2 800
4385 ES3 kLA KA R AR 1 400
4386 EDS *kLE A KA EAR 1 460
4387 F 7 ALE SR RAT KR 1 460
4388 KF R FkLE S KA AR 3 1200
4389 e kLE A KA R AR 1 400
4390 X /N4 TR SR RAT KR 2 800
4391 X H FALE S RAT KR 2 680
4392 2 FkLE S KA EAR 2 680
4393 FHE ALE S RAT KR 2 680
4394 &= E AL SR RAT KR 2 680
4395 B FALE KA R AR 1 340
4396 e X % *LE A KA EAR 1 460
4397 A ALE SR RAT KR 1 400
4398 ITA K kLA S KA EAR 2 800
4399 & 72 B FkLE A KA EAR 2 920
4400 R B TR SR RAT KR 1 340
4401 7k BR 1g kL M RAT KR 1 400
4402 i FkLE S KA EAR 1 400




4403 £ o8 Tk LE KA R AR 1 400
4404 Bk *LE A KA EAR 1 400
4405 =7 ALE SR RAT KR 1 400
4406 TIEE FkLE S KA EAR 1 400
4407 FHEE FkLE A KA R AR 1 400
4408 B0 TR SR RAT KR 3 1200
4409 KEE kL KA R AR 1 400
4410 8 K FkLE S KA EAR 1 400
4411 A 7 gk, ALE SR RAT KR 3 1200
4412 Eo8% AEE T4 RAT KR 1 340
4413 ZE K H#E S KA R AR 1 340
4414 F HRR AeE Su KA & AR 3 1020
4415 PUES AEE T4 RAT KR 1 340
4416 FHHE AeE Su KA EAR 3 1380
4417 ¥R AeE Su KA R AR 1 340
4418 TREE AEE T4 RAT KR 1 340
4419 F=% AEE T4 RAT KR 1 340
4420 J T A8 T4 KA EAR 1 340
4421 fiagid AEE T4 RAT KR 4 1360
4422 55 10 B AEE T4 RAT KR 1 340
4423 1 B fh AeE Su KA R AR 1 400
4424 EasAn A8 T4 KA EAR 1 340
4425 KR AEE T4 RAT KR 2 680
4426 TKAR 2T HtTE T4 KA EAR 1 340
4427 KEH AeE Su KA EAR 1 400
4428 T ¥ A#E mE RAT KR 1 340
4429 ¥ & K AEHE A% KA R AR 2 680
4430 KEF AeE fH% KA EAR 1 460




4431 Evi AEE fH% KA R AR 1 460
4432 kIR AtE f% KA EAR 1 460
4433 7K N R A#E HE RAT KR 2 800
4434 RF = HEE mE KA EAR 1 340
4435 EaA AtE fE KA AR 3 1020
4436 FIEE A#E HE RAT KR 2 680
4437 ZJE W A#TE HE RAT KR 1 400
4438 EVR AeE fHE KA EAR 1 340
4439 KA AEHE fM% KA R AR 1 340
4440 kAL AEHE A% KA R AR 2 680
4441 P T RE RS KA R AR 1 340
4442 [ RE R KA EAR 1 340
4443 N T v RE EH RAT KR 1 340
4444 HAEA RE R KA EAR 1 460
4445 e S A RS KA R AR 1 340
4446 F ¥ RE EH RAT KR 1 340
4447 W 1F B v RE EH RAT KR 1 400
4448 KEE RE R KA EAR 1 400
4449 Tk &% v RE EH RAT KR 1 340
4450 A FA FREE R RAT KR 1 340
4451 Evill— o RE RS KA R AR 1 400
4452 FitE RE R KA EAR 2 800
4453 ERES v RE EH RAT KR 1 340
4454 ok IF 48 RE R KA EAR 1 340
4455 7K 2 R A R KA EAR 1 340
4456 JE X4 ¥ RE EH RAT KR 2 680
4457 Tk X v RE EH RAT KR 2 800
4458 W IEAT RE R KA EAR 2 680




4459 M IF HRE AR KA R AR 2 680
4460 e HRE RERE KA EAR 1 340
4461 e5Z HRE ZEE KA R AR 1 400
4462 KFR HRE AR KA EAR 1 400
4463 i~ T RE RRE KA R AR 1 340
4464 R FRE TRE RAT KR 1 400
4465 T E HRE ZERE KA R AR 2 800
4466 ZHEE HRE RERE KA EAR 2 680
4467 A HRE ZERE KA R AR 2 680
4468 2K HRE ZEE KA R AR 2 680
4469 7k A X T RE AR KA R AR 1 340
4470 B HRE AR KA EAR 1 340
4471 KB FRE REE KA R AR 2 680
4472 F AR HRE AR KA EAR 1 340
4473 B HRE REE KA R AR 2 680
4474 B R HRE ZEE KA R AR 1 460
4475 TEF HREE ZEE KA R AR 1 340
4476 FHE HRE AR KA EAR 2 680
4477 Vi o] HRE ZERE KA R AR 2 800
4478 B E B HRE ZEE KA R AR 4 1360
4479 L HRE AR KA R AR 5 1700
4480 B HRE RERE KA EAR 1 340
4481 FEL HREE ZEE KA R AR 1 400
4482 T K HRE AR KA EAR 1 400
4483 FF¥X HRE RERE KA EAR 2 680
4484 Tk 1A 4% HRE ZEE KA R AR 1 340
4485 e HRE ZERE KA R AR 3 1020
4486 EFi HRE RERE KA EAR 4 1360




4487 7k K A HRE AR KA R AR 1 400
4488 FhH Wk S Mk KA EAR 1 400
4489 2= I ks ik RAT KR 2 920
4490 B A4 Wk S Ik KA EAR 2 920
4491 e WS Mk KA R AR 1 400
4492 W IF G kS Nk RAT KR 2 800
4493 7k IF 25 WE S Nk KA R AR 1 340
4494 REZ Wk S Ik KA EAR 1 400
4495 FHE ks Nk RAT KR 1 340
4496 R EE RS Nk KA R AR 2 800
4497 Y WS Mk KA R AR 1 340
4498 WA= Wk S Nk KA EAR 1 460
4499 F K= W% Lk RAT KR 1 400
4500 R A WS Nk KA EAR 2 680
4501 M= WS Mk KA R AR 3 1020
4502 F1=3F| ks ik RAT KR 1 400
4503 FIEA Wr s Nk RAT KR 1 400
4504 i Wk S Nk KA EAR 1 340
4505 TR AL ks Nk RAT KR 1 400
4506 M HF Wr s Nk RAT KR 1 400
4507 fANA Wk S Mk KA R AR 1 340
4508 #EOXF Wk S Mk KA EAR 1 340
4509 = /i 1 ks Nk RAT KR 1 340
4510 *IEfE Wk S Nk KA EAR 2 680
4511 FHE Wk S Nk KA EAR 2 800
4512 B ARG kS Nk RAT KR 1 400
4513 JA K g¢ WS Nk RAT KR 1 340
4514 1 K RS Nk KA KR 1 460




4515 =Xt Wk S Mk KA R AR 2 680
4516 FHE Wk S Mk KA EAR 5 2000
4517 FLoF ks ik RAT KR 3 1200
4518 HAH Wk % g KA EAR 1 400
4519 #ERE Wk % i KA R AR 2 680
4520 oS WS ik RAT KR 2 680
4521 H AT W% W& RAT KR 2 680
4522 G WS HiE KA EAR 1 340
4523 zkH WS ik RAT KR 2 680
4524 x| &4 W% HiE RAT KR 2 680
4525 M AAT Wk % g KA R AR 4 1360
4526 ke WS HiE KA EAR 1 400
4527 4% WS HiE KA R AR 1 340
4528 AR Wk % g KA EAR 2 800
4529 P ki Wk % i KA R AR 1 400
4530 BER WS ik KA R AR 2 800
4531 T4 W% wE RAT KR 2 800
4532 Y ET Wk % i KA EAR 1 400
4533 K AT WS ik KA R AR 1 400
4534 X 27 5 WS ik RAT KR 2 800
4535 EES WS W& KA R AR 1 400
4536 FHER Nk % #iE KA EAR 1 400
4537 T HRF WS ik KA R AR 1 460
4538 AR Wk % g KA EAR 1 400
4539 F A WS & KA EAR 1 460
4540 AT WS ik RAT KR 1 340
4541 H oA WS ik KA R AR 2 920
4542 X[ E R WS HiE KA EAR 1 400




4543 A Wk % i KA R AR 1 340
4544 E P WS HiE KA EAR 2 680
4545 = WS HiE KA R AR 2 680
4546 FLE Wk % g KA EAR 2 680
4547 KT WS & KA R AR 5 1700
4548 R F WS it KA R AR 1 400
4549 FH= WS ik RAT KR 2 680
4550 =/ R WS HiE KA EAR 2 800
4551 i WS ik KA R AR 3 1380
4552 15 7 W% HiE RAT KR 1 400
4553 B WS W& KA R AR 1 340
4554 ket WS HiE KA EAR 1 340
4555 A EE WS HiE KA R AR 1 340
4556 H A& WS HiE KA EAR 1 400
4557 IR WS & KA R AR 2 800
4558 =k #E WS it KA R AR 2 680
4559 TG W% wE RAT KR 2 800
4560 T Wk % i KA EAR 1 340
4561 FEW WS ik RAT KR 2 680
4562 =Pk oA W% W& RAT KR 2 680
4563 H Wk % i KA R AR 2 680
4564 WA b WS HiE KA EAR 2 680
4565 M * 7 WS ik RAT KR 1 340
4566 Bt Wk % g KA EAR 1 400
4567 WA HE VT WS & KA EAR 4 1360
4568 =R & WS ik RAT KR 1 400
4569 # IE V& W% wiE RAT KR 1 340
4570 7 B K Wk % i KA EAR 3 1020




4571 eI/ Wk % i KA R AR 2 680
4572 EEE Wk s AR KA EAR 2 800
4573 H & *x % RAT KR 1 340
4574 FEF Wk s R KA EAR 1 400
4575 B2 Wk s R KA R AR 1 400
4576 M= 5 ks AR RAT KR 2 920
4577 B A & % RAT KR 1 460
4578 Bt R Wk IR KA EAR 1 400
4579 KAZ= W% TR RAT KR 2 800
4580 HE & ks AR RAT KR 2 920
4581 B H# Wk s R KA R AR 2 920
4582 Lk Wk s R KA & AR 3 1380
4583 HEZ WS TR RAT KR 1 400
4584 Bt Wk s R KA EAR 1 400
4585 W & 1 Wk s R KA R AR 4 1840
4586 EXi:2i WS TR RAT KR 1 400
4587 Fh % RAT KR 2 800
4588 K AE A Wk s R KA EAR 2 680
4589 EAE 4 % RAT KR 2 680
4590 FPIE R ks AR RAT KR 2 800
4591 Rd Wk s R KA R AR 1 340
4592 il Wk TR KA EAR 1 400
4593 WESS % RAT KR 1 400
4594 R WS R KA EAR 1 400
4595 FHE Wk s R KA EAR 1 340
4596 FEX WS TR RAT KR 1 400
4597 KE = % RAT KR 1 400
4598 E R Wk s R KA EAR 1 340




4599 KA & Wk s R KA R AR 2 800
4600 [l Wk s AR KA EAR 1 400
4601 B WS TR KA R AR 1 400
4602 ki kS TR KA EAR 1 400
4603 FiRE Wk s R KA R AR 1 400
4604 i = ks K RAT KR 1 400
4605 JEl A WS TR KA R AR 1 340
4606 F T Wk S AR KA EAR 1 400
4607 &= X kS AR RAT KR 2 680
4608 2 it WS R RAT KR 1 400
4609 JGJ1 R 1 RS R KA R AR 1 340
4610 2 Wk S AR KA EAR 1 340
4611 =4 gk RS FR RAT KR 2 920
4612 At RS R KA EAR 1 340
4613 AL WS R KA R AR 3 1020
4614 % Jn 7 WS R RAT KR 3 1020
4615 1 I HT RS R RAT KR 1 460
4616 2R RS AR KA EAR 1 340
4617 FE WS AR RAT KR 3 1380
4618 ELES WS R RAT KR 1 340
4619 % T RS R KA R AR 1 340
4620 Ex WH S AR KA EAR 2 680
4621 B 1F A WS AR RAT KR 1 340
4622 ZA AL RS R KA EAR 1 400
4623 L k2 kS FE KA EAR 2 680
4624 X T A WS R RAT KR 1 340
4625 H &~ RS FR RAT KR 1 340
4626 BN RS AR KA EAR 1 400




4627 A IEAE WS FR KA AR 3 1380
4628 & e kS FE KA EAR 2 920
4629 B4R kS FR RAT KR 1 340
4630 = WA RS R KA EAR 1 460
4631 BT Wk S AR KA R AR 1 400
4632 BLIF & RS R RAT KR 2 920
4633 7K 4 R WS AR RAT KR 4 1360
4634 T EF K S R KA EAR 1 340
4635 ot WS AR KA R AR 1 400
4636 Jijl 32 FF WS R RAT KR 1 340
4637 5 4 K S R KA R AR 2 800
4638 FEE Wk S AR KA EAR 1 340
4639 15 2% WS AR RAT KR 1 340
4640 KEE Wk S AR KA EAR 1 340
4641 X\ 1 f4 Wk S AR KA R AR 2 680
4642 ZkE WS R RAT KR 1 400
4643 A WS AR RAT KR 2 800
4644 AKZ RS AR KA EAR 1 400
4645 THE WS AR RAT KR 1 340
4646 RAEAE RS FHR RAT KR 1 400
4647 138 4 Wk S AR KA R AR 4 1360
4648 AR Wk S AR KA EAR 1 460
4649 H E & WS AR RAT KR 1 400
4650 MHEx NE S FE KA EAR 1 400
4651 7k & B WS FR KA EAR 1 400
4652 ZIF X WS R RAT KR 2 680
4653 kB RS FR RAT KR 1 400
4654 I 4 RS R KA EAR 1 400




4655 x| & 4 WS FR KA R AR 1 460
4656 R A RS AR KA EAR 3 1020
4657 ¥ >4 B WS AR RAT KR 3 1020
4658 Z=F= FEE S W BR KA KR 1 340
4659 e Vil KA R AR 1 340
4660 HHE BER S BB RAT KR 2 920
4661 W H BER S BB KA R AR 1 340
4662 R A5 Vil KA EAR 1 340
4663 W BER S 7 BB RAT KR 1 460
4664 MEE BER S BB RAT KR 1 340
4665 B Vil KA R AR 1 340
4666 e Vil KA EAR 1 340
4667 FEE BER S 7 BB RAT KR 1 340
4668 = Vil KA EAR 2 800
4669 kK EFE Vil KA R AR 1 340
4670 EX3 BER S 7 BB RAT KR 1 340
4671 Ealanyid BER S BB RAT KR 1 340
4672 ERERI ViR KA KR 1 340
4673 M= BER S 7 BB RAT KR 2 680
4674 J5 P AK, BER S BB RAT KR 2 680
4675 M7= B8 S BB KA R AR 1 340
4676 &4t 5F Vil KA EAR 1 340
4677 i ViR RAT KR 2 680
4678 ok 41 3 Vil KA EAR 2 800
4679 WA Vil KA EAR 1 340
4680 iR ViR RAT KR 1 340
4681 V¥ BER S 7 BB RAT KR 1 400
4682 7k 4 4k Vil KA EAR 1 340




4683 iR Vil KA R AR 1 340
4684 7K B AX BB S RK KA EAR 1 340
4685 REAE B S =ZXK RAT KR 2 680
4686 = B ZK KA EAR 1 340
4687 E PO B S RK KA R AR 1 340
4688 i £ = B S ZXK RAT KR 2 680
4689 = IF 3 B S =ZK RAT KR 1 340
4690 T E % B S RK KA EAR 1 340
4691 FFE B ZXK RAT KR 1 340
4692 3 B S ZXK RAT KR 2 680
4693 2 K, B S RK KA R AR 3 1020
4694 =B B S RK KA EAR 2 800
4695 RIF% B S =K RAT KR 2 800
4696 #H IF VR KA EAR 1 340
4697 2 FAL B ZK KA R AR 2 680
4698 =2EF B S ZXK RAT KR 1 400
4699 ZIF1f B S =ZXK RAT KR 1 340
4700 2= VE R KA EAR 1 340
4701 # L B S =RXK RAT KR 1 400
4702 WEFH B S ZK RAT KR 1 400
4703 HE= VE T KA R 1 340
4704 2 BB S RK KA EAR 1 400
4705 &7 B S =K RAT KR 1 460
4706 EE B S =K KA EAR 1 460
4707 AFHE B S RK KA EAR 1 340
4708 = & B S ZXK RAT KR 1 400
4709 =t B S RK KA R AR 2 680
4710 MEF B S RK KA EAR 2 680




4711 & e B ZK KA R AR 1 340
4712 % IF#% BB S RK KA EAR 1 400
4713 i B S =ZXK RAT KR 1 340
4714 = E B S RK KA EAR 1 340
4715 Rk VE T R AT R 2 680
4716 =IFEFH B S ZXK RAT KR 1 340
4717 M R B S =ZK RAT KR 2 680
4718 ZIFR B S RK KA EAR 1 340
4719 BEY B ZXK RAT KR 2 680
4720 = Jin A B S ZXK RAT KR 5 1700
4721 FEZ A DEES dk KA R AR 1 460
4722 R DEES Ek KA EAR 1 400
4723 oL RS #ERk RAT KR 1 400
4724 PR A M DREES @R KA EAR 2 800
4725 T DEES EE KA R AR 1 340
4726 7K F i LEES AR KA R AR 2 800
4727 AR RS #ERk RAT KR 1 400
4728 XA DREES R KA EAR 1 340
4729 K& LRy ER RAT KR 2 800
4730 KEFAH RS #ER RAT KR 2 680
4731 EEE:S LEES EE KA R AR 2 680
4732 FRZ DREES R KA EAR 1 340
4733 JA A RS ERk RAT KR 2 680
4734 F=xHh DREES ER KA EAR 1 460
4735 S LEES EE KA EAR 1 400
4736 ERES LEES AR KA R AR 2 920
4737 R 2% I RS #Ek RAT KR 1 400
4738 K X H DREES EE KA EAR 2 800




4739 R E A DEES Ak KA R AR 2 680
4740 & DEES Ek KA EAR 1 340
4741 JAE X LRy #ERk RAT KR 1 400
4742 BAh e DREES Ek KA EAR 1 400
4743 TEH DEES Ak KA R AR 2 800
4744 LN LRy ER RAT KR 3 1020
4745 G 77 AL LR s #ERk RAT KR 1 340
4746 aRiE DREES ER KA EAR 2 920
4747 X Ao R RS ERr RAT KR 4 1360
4748 A X LEES AR KA R AR 1 400
4749 LR DEES dk KA R AR 1 400
4750 (b4 DEES Ek KA EAR 3 1020
4751 EH = EEs Bk RAT KR 2 680
4752 7k F X DREES Bk KA EAR 2 800
4753 LAEX DEES EE KA R AR 4 1360
4754 & 7K LRy ER RAT KR 1 400
4755 FEL RS #ERk RAT KR 3 1020
4756 B DREES R KA EAR 4 1600
4757 7K ¥ 1E LEEs AR KA R AR 2 800
4758 -l RS #ER RAT KR 1 400
4759 BRX LEES EE KA R AR 2 680
4760 VS DREES Ek KA EAR 2 680
4761 &= 1F ¥ RS ERk RAT KR 3 1020
4762 KE S DREES Ek KA EAR 4 1360
4763 K F DEES Bk KA EAR 1 400
4764 7k A X LRy ER RAT KR 1 400
4765 F oA STREES ER RAT KR 1 460
4766 BB DEES Ek KA EAR 3 1020




4767 B DEES Ak KA R AR 2 800
4768 K F X DEES Ek KA EAR 1 460
4769 FER LRy #ERk RAT KR 3 1020
4770 T3 MNE S EFW KA EAR 1 340
4771 7K AT WE S EFW KA R AR 1 340
4772 RE 171 %% NES BEF RAT KR 5 2000
4773 Lx4 WE S BEFW KA R AR 1 340
ATT74 KR ME S EF KA EAR 1 340
4775 KE= NES BEF RAT KR 1 400
4776 FIR NES B RAT KR 2 800
AT77 AE B WE S EFW KA R AR 1 400
4778 X HE WNE S EFW KA EAR 2 800
4779 XRAT WE S BEF KA R AR 2 680
4780 KANE WEz ZFL KA EAR 1 400
4781 Bk A WE S EFW KA R AR 2 800
4782 ki WE S BEF KA R AR 1 400
4783 FHEZ NE S B RAT KR 1 400
4784 *BE MNES EFW KA EAR 2 800
4785 ] NES BEF KA R AR 3 1200
4786 KEAL NES B RAT KR 3 1020
4787 oK IF ¢ WE S EFW KA R AR 3 1200
4788 ZM= MNE S EF KA EAR 1 400
4789 KRR NE S BEF RAT KR 1 340
4790 FE M MNES EFW KA EAR 3 1020
4791 X Al % NE S EFW KA EAR 1 340
4792 Kb e NE S BEF RAT KR 1 340
4793 % EE WE S BEFW KA R AR 2 800
4794 7K 3t B MNE S EF KA EAR 1 400




4795 T F F WE S EFW KA R AR 1 400
4796 7K 1t i MNE S EF KA EAR 3 1020
4797 =B X NE S BEF RAT KR 2 680
4798 7 &7 MNE S EFW KA EAR 2 800
4799 KR Z WE S EFW KA R AR 3 1200
4800 HEIE WE S BEFl RAT KR 2 800
4801 PR NE S B RAT KR 4 1360
4802 Tk F X ME S EF KA EAR 1 340
4803 KL FlLs ARANES KA R AR 3 1200
4804 EhHR FLs ARANES RAT KR 1 340
4805 RIEZ FLs ARAZES KA R AR 2 800
4806 7K F FLs ARANZES KA EAR 2 800
4807 7k 77 #A FLs ARANES KA R AR 1 400
4808 2 IF B& FLs ARAZES KA EAR 1 400
4809 BER FLs ARAZES KA R AR 2 680
4810 &K & FLy aRAZES RAT KR 1 340
4811 £ 5] B FLy AR ZER RAT KR 2 680
4812 Tt 77 FLs ARAZES KA EAR 1 400
4813 T FLy AR ZES RAT KR 2 680
4814 KR E FLy AR ZER RAT KR 2 680
4815 EEAR FLs ARAZES KA R AR 1 400
4816 i FLs ARAZES KA EAR 1 340
4817 FIFEX FLy AR ZES RAT KR 1 340
4818 T X FLs ARAZES KA EAR 2 800
4819 Tk aE FLs ARANZES KA EAR 2 800
4820 5= FLy ARANZES RAT KR 4 1600
4821 KA FLy AR ZER RAT KR 2 800
4822 I * FLs ARAZES KA EAR 2 800




4823 JE fim FLs ARAZES KA R AR 2 680
4824 =Tt FLs ARANZES KA EAR 1 340
4825 BERE FlLs ARNESL RAT KR 1 340
4826 L4 FLs ARAZES KA EAR 2 800
4827 FHE FLs ARANZES KA R AR 1 340
4828 = FLy ARAER RAT KR 3 1200
4829 e FLy AR ZER RAT KR 1 400
4830 Z E R, FLs ARAZES KA EAR 3 1200
4831 L 9t A FLy ARAZES RAT KR 2 680
4832 K\ 2 FLs ARANES KA R AR 1 400
4833 B FLs ARAZES KA R AR 1 400
4834 # I % FLs ARANZES KA EAR 4 1600
4835 2R F FLs ARANES KA R AR 1 460
4836 KAk Z FLs ARAZES KA EAR 1 340
4837 T4 FLs ARAZES KA R AR 4 1600
4838 AR A FLs ARANES KA R AR 2 800
4839 K SCER FLy AR ZER RAT KR 4 1600
4840 EXE FLs ARAZES KA EAR 4 1600
4841 a4 FLy AR ZES KA R AR 1 340
4842 2R FLs ARANES KA R AR 1 340
4843 THE FLs ARAZES KA R AR 2 680
4844 7K FLs ARAZES KA EAR 2 680
4845 KA R FLy AR ZES RAT KR 2 800
4846 ER = FLs ARAZES KA EAR 1 340
4847 iR FLs ARANZES KA EAR 2 680
4848 R FLy ARANZES RAT KR 2 680
4849 [ FLy AR ZER RAT KR 1 340
4850 ExXE FLs ARAZES KA EAR 2 680




4851 IR Ty ARANES KA R AR 1 340
4852 X % B FLs ARANZES KA EAR 3 1200
4853 a2 FLy AR ZES RAT KR 2 800
4854 K77 R FLs ARAZES KA EAR 2 800
4855 TR FLs ARANZES KA R AR 2 800
4856 ity FLy ARAER RAT KR 2 800
4857 X 7 B FLy AR ZER RAT KR 2 800
4858 ST FLs ARAZES KA EAR 2 800
4859 FATF FLy ARAZES RAT KR 1 400
4860 o R FLy AR ZER RAT KR 1 400
4861 K = % FLs ARAZES KA R AR 2 800
4862 & RAX FLs ARANZES KA EAR 2 800
4863 X FLy AR ZES RAT KR 1 400
4864 FHF FLs ARAZES KA EAR 4 1600
4865 7k 1t &b FLs ARAZES KA R AR 3 1020
4866 X B & XS BEENES RAT KR 2 800
4867 AN XS BEEAZES RAT KR 3 1200
4868 AE T 4 LE S ELETS KA EAR 3 1020
4869 = F 1§ X% BEFRZES KA R AR 1 400
4870 T i LES LN RAT KR 2 920
4871 aEME 5% % 58N ZE4 KA R AR 1 340
4872 H¥Es LE SR ELETS KA EAR 1 340
4873 aE XS BEFRZES KA R AR 1 400
4874 wEK 5% % 5% ZE4 KA EAR 1 460
4875 7K F X 5% % 58 ZE4 KA EAR 2 800
4876 HEAE XS BEENZES RAT KR 1 400
4877 LE XS BEEAZES RAT KR 1 340
4878 #tE K 5% % 5N ZE4 KA EAR 2 800




4879 ARG 5% % 5N ZE4 KA R AR 1 400
4880 B 5% % 5N ZE4 KA EAR 1 400
4881 FH & XS BEFAZES RAT KR 5 1700
4882 7K # 5% % 5xRZE4 KA EAR 3 1200
4883 EES HEE NENZL KA R AR 1 400
4884 K BrE NenZEes RAT KR 1 460
4885 BRI ErhE NWERZE2 KA R AR 1 340
4886 B3 B NENZE2 KA EAR 3 1020
4887 2= P B, BrE NenZEs KA R AR 1 460
4888 KA A ErhE NERZE2 KA R AR 1 400
4889 R ERhE NENZE2 KA R AR 1 400
4890 # IR HEE NENZ4S KA EAR 2 920
4891 EHEHE EhE NERZE2 KA R AR 1 460
4892 B B NENZ2 KA EAR 1 460
4893 WK F HEE NENZL KA R AR 2 800
4894 EOH ErE NERZE2 KA R AR 1 460
4895 EZS BrE NernZEs RAT KR 2 680
4896 KT E B NENZE2 KA EAR 1 400
4897 EZS BrE NenZEs RAT KR 2 680
4898 TAE= BrhE NERZE2 KA R AR 1 400
4899 WE = ERhE NENZES KA R AR 1 400
4900 R HEE NENZ4S KA EAR 1 400
4901 & R AT BrE NenZEs RAT KR 4 1360
4902 7K EhE 2ETHZS KA EAR 2 920
4903 X % HEE ZETHZS KA EAR 1 400
4904 At = BhE ZETHZS RAT KR 1 340
4905 TEE EhE EETHZESL KA R AR 2 920
4906 F A EhE 2ETHZS KA EAR 2 800




4907 5 UK EhE 2ETHRZS KA R AR 2 920
4908 RE R HEE 2ETHZS KA EAR 3 1200
4909 e BhE ZETHZS RAT KR 4 1840
4910 XA EhE 2ETHZS KA EAR 1 400
4911 M IE HEE ZETHZS KA R AR 1 400
4912 ES BhE ZETHZS RAT KR 1 400
4913 BX 7K X, BhE ZETHZS RAT KR 1 340
4914 i EhE 2ETHZS KA EAR 1 400
4915 ] B ZETHZS RAT KR 1 400
4916 EER BhE ZETHZ2 RAT KR 3 1200
4917 B EhE 2ETHRZS KA R AR 3 1200
4918 * NE HEE 2ETHZS KA EAR 1 460
4919 B e BhE ZETHZS RAT KR 2 800
4920 £ A EhE 2ETHZS KA EAR 2 800
4921 ye Fo A HEE 2ETHZS KA R AR 1 400
4922 M L A ER Rl RAT KR 1 400
4923 e LB A ER R RAT KR 4 1360
4924 T ¥ BEHE BEX KA EAR 3 1200
4925 K m A BEEE BR KA R AR 1 340
4926 A WEHE ER RAT KR 4 1360
4927 KR IE BEHE BX KA R AR 1 460
4928 MR X BEHE BX KA & AR 3 1200
4929 X E BEEE BR KA R AR 4 1360
4930 7k K &b BEHE BX KA EAR 2 680
4931 Tk AR BEEE BEX KA EAR 1 400
4932 AR BEEE BER KA R AR 2 680
4933 F A% BEHE ER RAT KR 1 400
4934 AR BEHE BX KA EAR 2 800




4935 F{RAH BEHE BX KA R AR 2 920
4936 EXE BEHE BX KA EAR 2 680
4937 7K AR WEHE ER RAT KR 3 1020
4938 PR AT BEHE BX KA EAR 2 680
4939 X A= 5 BEHE BEX KA R AR 2 800
4940 R R BEEE BR KA R AR 2 680
4941 Tk E A BEHE ER RAT KR 1 400
4942 L BEHE BX KA EAR 2 680
4943 KA = BEHEE BE RAT KR 1 340
4944 X B WEHE ER RAT KR 1 340
4945 R EAM BEHE BX KA R AR 2 920
4946 fNEE:S BEHE BEX KA EAR 1 400
4947 [ 1E BEEE BR KA R AR 3 1020
4948 KEZ BEHE BX KA EAR 1 460
4949 E= BEHE BX KA R AR 1 340
4950 SR WEHE ER RAT KR 2 800
4951 X BEHE ER RAT KR 1 400
4952 K IF ¥ BEHE BEX KA EAR 1 340
4953 RN BEEE BR KA R AR 1 460
4954 ZER WEHE ER RAT KR 1 400
4955 ZHRE BEHE BX KA R AR 2 800
4956 kKX = BEHE BEX KA EAR 1 460
4957 7k it L BEEE BR KA R AR 1 400
4958 A BEHE BX KA EAR 2 920
4959 I A3k BEHE BEXR KA EAR 1 460
4960 )% BEEE BER KA R AR 2 920
4961 K F BEHE ER RAT KR 1 340
4962 KA BEHE BX KA EAR 1 400




4963 Tk & BEHE BEXR KA R AR 4 1360
4964 i3 BEEE BX KA EAR 2 800
4965 K A& BEEE BER KA R AR 1 400
4966 7k IF ST BEHE BX KA EAR 3 1200
4967 K EE BEHE BEX KA R AR 1 340
4968 T BEEE BR KA R AR 2 800
4969 A A BEHE ER RAT KR 2 680
4970 A BEHE BEXR KA EAR 2 800
4971 T BWEEE BR KA R AR 1 400
4972 FraA WEHE ER RAT KR 2 800
4973 PRAT B BEHE BX KA R AR 3 1020
4974 T IE 3 BEHE BEX KA EAR 1 340
4975 R i BEEE BR KA R AR 1 400
4976 BN BEHE BX KA EAR 3 1020
4977 IR B A BEEE BEX KA R AR 4 1360
4978 CAEDN BEEE BER KA R AR 1 340
4979 K EE BEHE ER RAT KR 6 2040
4980 7K X E BEHE 5% KA EAR 2 800
4981 2 i AR BEHEE 5% KA R AR 2 800
4982 AR BEHE 5% KA R AR 1 400
4983 7k A R BEHE 5% KA R AR 1 400
4984 i BEEE BF% KA EAR 2 800
4985 KPE BEEE 8% KA R AR 3 1020
4986 X HE BEHE 8% KA EAR 2 800
4987 = AR¥ BEHEE 5% KA EAR 4 1600
4988 KX = BEHEE 5% KA R AR 2 800
4989 FET BEEE 8% KA R AR 3 1200
4990 £ i BH BEHE 5% KA EAR 4 1360




4991 Ak BEHEE 8L KA R AR 1 460
4992 EIF4 BEEE BF% KA EAR 4 1840
4993 Tk & BEEE 8% KA R AR 2 800
4994 £ 4 T BEHE 8% KA EAR 3 1200
4995 EHF BEHE 5% KA R AR 3 1200
4996 W = BEREE 8% KA R AR 3 1200
4997 RE R BEEE 8% KA R AR 3 1200
4998 & BEHE 8% KA EAR 3 1200
4999 7K M T BEEE 8% KA R AR 1 400
5000 2 F AL BEHE 5% KA R AR 1 340
5001 Tk Fn % BEHE 5% KA R AR 1 460
5002 ERET BEEE BF% KA EAR 1 340
5003 HReE BEEE 8% KA R AR 1 340
5004 A BEHE 8% KA EAR 2 800
5005 X BEHE 5% KA R AR 5 1700
5006 e BEHEE 8% KA R AR 2 800
5007 ViR BEHE 5% KA R AR 2 800
5008 = EE BEHE 5% KA EAR 2 800
5009 MK AE BEEE 8% KA R AR 1 400
5010 [ BEHE 5% KA R AR 2 800
5011 f A= BEHEE 8L KA R AR 2 800
5012 £ XAl BEHE 5% KA EAR 3 1200
5013 k¥ BEHEE 5% KA R AR 2 800
5014 A A BEHEE 8L KA EAR 2 800
5015 o IE# BEHEE 5% KA EAR 2 800
5016 FH= BEHEE 5% KA R AR 3 1020
5017 e BEEE 8% KA R AR 2 680
5018 =IF 1 BEHE 5% KA EAR 1 400




5019 T EE BEHE 5% KA R AR 1 460
5020 KFE BEEE BF% KA EAR 1 400
5021 K BEEE 8% KA R AR 1 460
5022 S BEHE KK KA EAR 2 800
5023 &N & BEHE KK KA R AR 2 680
5024 M= BEHEE KX RAT KR 2 680
5025 7K F A BEFHE K RAT KR 2 680
5026 7K ¥ R BEHE KX KA EAR 3 1020
5027 KEF BEEE KA RAT KR 1 340
5028 18 5% BEHE K RAT KR 1 340
5029 7K K IE BEHE KX KA R AR 2 680
5030 S BEHE KK KA EAR 1 340
5031 £ XX BEHE KA KA R AR 2 680
5032 e BEHE KX KA EAR 2 680
5033 X IE BEHE KK KA R AR 1 400
5034 X AT BEHEE KX RAT KR 4 1360
5035 3k BEFHE KT RAT KR 1 340
5036 2 XE L KE KA EAR 1 400
5037 KEZE FLE KE RAT KR 1 460
5038 R E FEALE KE RAT KR 2 680
5039 R FE g FRILE KE KA R AR 2 680
5040 M X L KE KA EAR 1 400
5041 REFEH FLE KE KA R AR 2 680
5042 A F FLE KE KA EAR 2 680
5043 Z X H FRLE KE KA EAR 1 340
5044 A= FLE KE RAT KR 2 680
5045 AT FLE KE KA R AR 3 1020
5046 FEF L KE KA EAR 2 800




5047 FTHE FLE KE KA R AR 2 680
5048 iRt X3t L KE KA EAR 3 1200
5049 FH= RLE KE RAT KR 1 340
5050 Z % FLE KE KA EAR 1 400
5051 BT kLE AR KA R AR 1 400
5052 x| K4 HEALE KE RAT KR 1 340
5053 MBS FRLE KE KA R AR 1 340
5054 AR FLE KE KA EAR 1 340
5055 R4 FELE K FE RAT KR 1 340
5056 >t FILE KE RAT KR 3 1020
5057 2SS FLE KE KA R AR 1 340
5058 RE L KE KA EAR 2 800
5059 X b= FEALE KE RAT KR 1 340
5060 WEZ FLE KE KA EAR 2 680
5061 TKAEAT FLE AR KA R AR 1 340
5062 & B HEALE KE RAT KR 1 460
5063 A = FEALE KE RAT KR 1 340
5064 WE 5 L KE KA EAR 1 460
5065 R AR FELE K FE RAT KR 2 680
5066 AT f 4% FLE KE KA R AR 2 800
5067 AHRE FLE KE KA R AR 1 400
5068 BRI F L KE KA EAR 1 340
5069 R FEALE KE RAT KR 1 340
5070 R E T FLE KE KA EAR 1 340
5071 RRE FRLE KE KA EAR 1 340
5072 HE SR FLE KE KA R AR 1 340
5073 ZEE FEALE KE RAT KR 1 340
5074 B kLE kE KA EAR 1 340




5075 =k kLE KE KA R AR 2 680
5076 =B L KE KA EAR 1 400
5077 B X RLE KE KA R AR 1 340
5078 T = FLE KE KA EAR 1 340
5079 FAEA FLE KE KA R AR 1 340
5080 A K AT HEALE KE RAT KR 1 340
5081 XEE FRLE KE RAT KR 1 340
5082 iz B A L KE KA EAR 1 460
5083 MEE LR )T Rk RAT KR 1 460
5084 BRIEE FELAE )T Rk RAT KR 1 340
5085 = FROL4E E Bk KA R AR 1 400
5086 RFE FROLE E Bk KA EAR 2 680
5087 B EA LR )T Rk RAT KR 1 340
5088 F At LR A Bk KA EAR 2 800
5089 AKX FROL4E UE Bk KA R AR 1 400
5090 Exit FRLE )T Rk KA R AR 1 340
5091 FEAL LA )T Rk RAT KR 2 680
5092 ot fE PR E Bk KA EAR 3 1200
5093 RFE LR )T Rk RAT KR 1 400
5094 AR PR )3 Bk RAT KR 4 1600
5095 R FROLE E Bk KA R AR 3 1200
5096 L2 FROLE A Bk KA EAR 1 400
5097 K= LR )F Bk RAT KR 1 400
5098 FE X LR A Bk KA EAR 2 920
5099 7K B 2% FROLE E Bk KA EAR 2 920
5100 Al FELAE )T Rk RAT KR 2 920
5101 = LR )T Rk RAT KR 1 400
5102 M EAL PO E Bk KA EAR 5 2000




5103 EXIES FROLE E Bk KA R AR 4 1360
5104 FH¥ RO A Bk KA EAR 4 1360
5105 FER LR )T Rk RAT KR 2 680
5106 KA A FROLE E Bk KA EAR 1 460
5107 ED PR E Bk KA R AR 1 400
5108 B R F FRLE )T Rk KA R AR 1 340
5109 E LR F Bk KA R AR 1 340
5110 R EE TR E Bk KA EAR 3 1020
5111 KAEF LR )T Rk RAT KR 2 680
5112 KAE FRLE )T Rk RAT KR 2 800
5113 7K ot X FELE )T Rk KA R AR 2 680
5114 * FROLE E Bk KA EAR 1 460
5115 A XA LR )F Bk KA R AR 1 400
5116 KE LR A Bk KA EAR 1 400
5117 Tk EE FROL4E UE Bk KA R AR 1 400
5118 i FRLE )T Rk RAT KR 1 460
5119 TE= LR UE Bk RAT KR 3 1020
5120 N PR E Bk KA EAR 1 340
5121 F = LR )T Rk KA R AR 1 400
5122 e FOLE TRk RAT KR 3 1020
5123 KA LR )T Rk KA R AR 1 340
5124 BRE FROLE A Bk KA EAR 2 800
5125 B % RAHE e RAT KR 1 400
5126 X I RALE ey KA EAR 3 1020
5127 R K AR R ek KA EAR 1 400
5128 R E R RALHE e KA R AR 1 460
5129 R4 % RAHE e KA R AR 1 400
5130 R D fa RALE g KA EAR 1 460




5131 E e RALE g KA R AR 3 1200
5132 Tz R e KA EAR 1 340
5133 FA= EE RAT KR 1 340
5134 T ¥ RALG ey KA EAR 1 340
5135 g ¥ E R e KA R AR 5 1700
5136 A4 AE RALHE e RAT KR 1 340
5137 KA A RALE e RAT KR 2 800
5138 B RALE g KA EAR 1 340
5139 AR EE RAT KR 1 340
5140 M > RALHE e RAT KR 2 680
5141 R RALE g KA R AR 1 340
5142 FHF R e KA EAR 1 340
5143 B R EE RAT KR 4 1360
5144 B RALG vy KA EAR 2 680
5145 A= R ek KA R AR 1 340
5146 TR RALHE e RAT KR 3 1020
5147 M X H RALH v RAT KR 2 680
5148 E¥R RALE g KA EAR 1 340
5149 FIFAE EE RAT KR 2 680
5150 T ¥ & HEE 6% RAT KR 2 800
5151 W ER HEE BE KA R AR 1 340
5152 AFE HfE 6% KA EAR 2 920
5153 E R HfE 6% RAT KR 1 340
5154 MR E HEE %% KA EAR 2 800
5155 K % H#HE E% KA EAR 1 340
5156 KE = HEE % RAT KR 2 680
5157 & AR HfE 6% RAT KR 6 2400
5158 X R HEE BE KA EAR 1 400




5159 TKAEF HEE BE KA R AR 1 340
5160 BA AEE % KA & AR 3 1380
5161 REIE 75 AETE K% RAT KR 1 340
5162 7K & A HEHE h% KA EAR 2 920
5163 TkFHE HEE 6% KA R AR 4 1600
5164 F A5 AEE KL RAT KR 1 340
5165 ESS A#E KL RAT KR 3 1380
5166 7K 2l HEHE h% KA EAR 1 340
5167 EEE A#TE KL RAT KR 1 340
5168 * B XK A#E BE RAT KR 1 400
5169 F At HEHE h% KA R AR 1 340
5170 REY HEE 6% KA EAR 2 680
5171 BN AETE KL RAT KR 1 460
5172 AR HEE %% KA AR 3 1020
5173 X IF BY HEHE E% KA R AR 1 340
5174 HEEF AEE KL RAT KR 3 1380
5175 7k XM A#E KL RAT KR 1 340
5176 AR HEHE h% KA EAR 1 340
5177 EE2 AETE KL RAT KR 1 340
5178 7K 7 X HEE 6% RAT KR 1 340
5179 KF = HEE BE KA R AR 1 340
5180 FLH HfE 6% KA EAR 1 340
5181 T ¥ 5 HfE 6% RAT KR 1 340
5182 7K 3% 3 HEHE h% KA EAR 1 340
5183 R HEE 6% KA EAR 1 460
5184 RISE 8 6% RAT KR 3 1020
5185 KRR HfE 6% RAT KR 4 1360
5186 FXE HEE BE KA EAR 1 400




5187 & HEE BE KA AR 3 1020
5188 B AH TR AEE % KA & AR 3 1020
5189 R R AETE K% RAT KR 1 340
5190 FEX HEE %% KA AR 7 2380
5191 F B R A KET KA R AR 1 340
5192 R FRE KiET KA R AR 2 680
5193 ZHE HREE KET KA R AR 1 340
5194 [ R KET KA EAR 2 680
5195 FEE HREE ABT RAT KR 1 340
5196 25 1% v REE KET RAT KR 1 400
5197 SR A AT o R KT KA R AR 2 680
5198 F e e KET KA EAR 3 1020
5199 K IE % v RE KET RAT KR 1 340
5200 F 1 REE KET KA EAR 1 340
5201 # I & T RE KET KA R AR 1 340
5202 x| IF % v RE KT RAT KR 1 340
5203 =254 T RE KT RAT KR 3 1020
5204 ek A KET KA EAR 2 680
5205 R FREE KT RAT KR 1 340
5206 HEE FREE KIET KA R AR 1 340
5207 B A AX H R KT KA R AR 1 340
5208 KA R e KET KA EAR 1 340
5209 x| IF % FRE KT RAT KR 1 340
5210 Z o It REE KET KA EAR 1 340
5211 FHER T RE KET KA EAR 1 340
5212 = E v RE KT RAT KR 1 340
5213 A IF ¥ HREE ABT KA R AR 1 460
5214 M R HREE KT KA EAR 1 340




5215 17 FF o R KT KA R AR 1 340
5216 LAY e KET KA EAR 1 340
5217 PRt E HREE ABT RAT KR 1 400
5218 1% REE KET KA EAR 1 340
5219 (Easiz A KET KA R AR 1 340
5220 SR HREE KET RAT KR 1 340
5221 RN v RE KET RAT KR 1 340
5222 = ¥ REE KRBT KA EAR 1 340
5223 B v RE KT RAT KR 1 340
5224 SHE v RE KET RAT KR 1 340
5225 e R R KA R AR 1 400
5226 K AE RE R KA EAR 1 340
5227 [y v RE % RAT KR 2 680
5228 FH T RE R KA EAR 1 340
5229 Z T RE R KA R AR 1 340
5230 IEE ¥ RE % RAT KR 1 340
5231 % FRE RAT KR 1 340
5232 A ¥ RE E% KA EAR 4 1360
5233 5% 7m B FRE % RAT KR 2 800
5234 AT R RE R KA R AR 1 340
5235 £ I £ R R KA R AR 2 680
5236 R IF 75 A R KA EAR 1 340
5237 ik FRE RAT KR 2 680
5238 ERZ ¥ RE E% KA EAR 1 340
5239 FHEE HRE KA EAR 2 680
5240 ME A RE R KA R AR 1 340
5241 & AR T RE RAT KR 3 1020
5242 JE BT T RE R KA EAR 1 340




5243 REE o R R KA R AR 1 340
5244 iz RE R KA EAR 1 340
5245 7K St ¥ RE % RAT KR 1 340
5246 HE = T RE R KA EAR 1 340
5247 S E T RE KA R AR 2 680
5248 el ¥ RE % RAT KR 2 680
5249 7 IE % ¥ RE % RAT KR 1 340
5250 M3 HRE R KA EAR 1 340
5251 Bl FRE % RAT KR 1 340
5252 FHZ ¥ RE % RAT KR 1 460
5253 MEE R R KA R AR 1 340
5254 F i RE R KA EAR 3 1020
5255  F A RE R KA R AR 1 340
5256 Fg2 T RE R KA EAR 1 340
5257 7K & ¥ RE E% KA R AR 2 680
5258 ekl RE R KA R AR 1 340
5259 = FH X ¥ RE % RAT KR 1 340
5260 RS T RE R KA EAR 1 340
5261 KFHE FRE % RAT KR 1 340
5262 Z /N ¥ RE % RAT KR 1 340
5263 EEES R R KA R AR 1 340
5264 &2 ¥ RE F% KA EAR 1 340
5265 EX DS FRE RAT KR 1 460
5266 FHE T RE R KA EAR 1 340
5267 =E% HRE KA EAR 1 340
5268 g F e BWTEHE BH RAT KR 2 800
5269 MFEE BWTEHE B RAT KR 1 400
5270 FHA® BTFEE RH KA EAR 2 800




5271 Rk BTFEE RH KA R AR 3 1200
5272 B RE BWEFESE B KA EAR 2 800
5273 e RTFEE BRE RAT KR 2 920
5274 7k {4 WEEE RH KA EAR 1 400
5275 BHEZ BWTFEE B KA R AR 2 920
5276 B3 WTEHE BH RAT KR 2 800
5277 I m 5% BWTEHE B RAT KR 1 400
5278 B K BTFEE RH KA EAR 1 400
5279 5 X A BT EE R RAT KR 1 400
5280 7K X AR WFEE RE RAT KR 2 800
5281 [iiiES BTFEE RH KA R AR 1 400
5282 A& WTFEE B KA EAR 2 920
5283 (EREX2 RFEE RE RAT KR 3 1200
5284 KEZ WEEE RH KA EAR 4 1600
5285 e WTFEE B KA R AR 1 460
5286 R i BTEHE BH RAT KR 4 1840
5287 F R X BTEHE BH RAT KR 1 400
5288 & X% BTFEE RH KA EAR 1 340
5289 EAE BFEE R RAT KR 1 400
5290 R WTFEH RH KA R AR 1 400
5291 KEE WTFEE R KA R AR 1 400
5292 FHE BTFEE A KA EAR 1 460
5293 K= BFIEE A KA R AR 1 460
5294 AL RFIEE FA KA EAR 2 920
5295 B ob#E WTFEE A KA EAR 1 460
5296 &S BTEE A KA R AR 2 920
5297 KRR BT EE A RAT KR 2 920
5298 JUE &S BWTFEE A KA EAR 1 460




5299 A AL X BTFEE A KA R AR 2 920
5300 7K X BTFEE A KA EAR 1 460
5301 i BTFEH A KA R AR 1 340
5302 M Bl VE RFIEE A KA EAR 2 920
5303 KB BTFEE A KA R AR 1 460
5304 WA = BT EE FA RAT KR 1 400
5305 7K A & W EAE A KA R AR 1 460
5306 B ¥ WTFEE A KA EAR 1 460
5307 K E BFIEE A RAT KR 2 800
5308 2= L H BT EE A RAT KR 1 400
5309 JiE BTFEE A KA R AR 1 400
5310 TIE# BTFEE A KA EAR 1 460
5311 ] BTEE A RAT KR 1 460
5312 REA = WFIEE A KA EAR 1 400
5313 i BRTFEE A KA R AR 3 1020
5314 i W EAE A KA R AR 2 920
5315 mHE BTEE A RAT KR 3 1200
5316 KA E BB A KA EAR 1 340
5317 X j % BRTEE A KA R AR 1 340
5318 i 4 1R W EAE A KA R AR 2 920
5319 A% A BTFEE A KA R AR 1 460
5320 EKHE BTFEE AFH KA EAR 1 400
5321 & & WTFEHE AFH KA R AR 1 400
5322 x| IF R WFEE AFRH KA EAR 1 400
5323 =% BFEE AFH KA EAR 1 340
5324 ZHZ BTFIEE AFRH RAT KR 1 400
5325 EDS BFIEE AR RAT KR 1 400
5326 EHER BFEE AFH KA EAR 1 400




5327 X\ 48 A&, BFEE AFH KA R AR 2 800
5328 x| IF & BTFEE AFRH KA EAR 1 400
5329 R BTFEE AFH KA R AR 2 800
5330 Ak % WEEE AFRH KA EAR 1 400
5331 E Al BTFEE AFH KA R AR 2 920
5332 FHE BTFIEE ARH RAT KR 2 800
5333 s BFIEE AR RAT KR 2 920
5334 E BFEE AR KA EAR 1 400
5335 EHRE BTFIEE AR RAT KR 1 460
5336 Z R X BFIEE AR RAT KR 3 1380
5337 B BFEE AFH KA R AR 2 920
5338 ¥ B4 BFEE AFH KA EAR 1 400
5339 I BTFEHE AFH KA R AR 1 460
5340 BAER BB AFRH KA EAR 1 400
5341 X 48 7 BFEE AFRH KA R AR 1 400
5342 S BTFEHE AFH KA R AR 1 400
5343 5 WTFEE AFH KA R AR 1 400
5344 ER S BTFEE AFH KA EAR 1 400
5345 %KW BT EHE AFH KA R AR 1 460
5346 s BFIEE AFRH RAT KR 1 400
5347 FHRFE BFEE AFRH KA R AR 1 400
5348 X\ 44 BTFEE AFH KA EAR 1 400
5349 X 4 X BTFIEE AR RAT KR 2 800
5350 TN WFEE AFRH KA EAR 1 400
5351 2% BFEE AFH KA EAR 1 400
5352 PR E 4R BTFIEE AFRH RAT KR 1 400
5353 Fe&Z BTFEE AFH KA R AR 1 400
5354 Rt G BFEE AFH KA EAR 1 400




5355 AEF BFEE AFH KA R AR 1 400
5356 IR AR BTFEE AFRH KA EAR 2 680
5357 x| IF 3% TFIEE AR RAT KR 5 1700
5358 X\ B BARBEE A KA EAR 1 400
5359 XA 5RESE FAa KA AR 3 1020
5360 £ % B BREE A RAT KR 3 1200
5361 = % ¥ B REE FAT KA R AR 1 400
5362 HER BRESE FiA KA & AR 3 1200
5363 PR A B RAEE FAT KA R AR 1 340
5364 x| T A BREE Fat RAT KR 2 680
5365 ek BARBEE A KA R AR 2 680
5366 XIEER BARESE A KA EAR 3 1020
5367 e AN BREE A RAT KR 2 680
5368 THE BABEE FiA KA EAR 2 680
5369 A BRBEE A KA R AR 1 340
5370 Y= A B R IEAE H A RAT KR 1 340
5371 hE 4 BARESE A KA R AR 2 680
5372 & HE BRESE A KA EAR 1 400
5373 EN BREE Ha RAT KR 4 1600
5374 XAEAT BARESE A KA R AR 3 1020
5375 EDIDS B REE A KA R AR 2 800
5376 e BAREE A KA & AR 3 1020
5377 1 7K 5 BREE A RAT KR 1 400
5378 kExE BABE A KA EAR 1 340
5379 it BARESE FiAa KA EAR 3 1200
5380 P 41 B B REE AT RAT KR 1 400
5381 ROt # WS R KA R AR 1 400
5382 17 At Wk % RK KA EAR 1 460




5383 7 B K Wk % RK KA R AR 1 460
5384 HL AL Wk % RK KA EAR 2 920
5385 KA ks EAX RAT KR 1 400
5386 MRZ Wk % RK KA EAR 2 680
5387 e Wk % RK KA R AR 3 1020
5388 JE 33 WS R KA R AR 1 400
5389 F ks EAX RAT KR 2 680
5390 O XX Wk % RK KA EAR 1 340
5391 HAM ks B RAT KR 4 1840
5392 b ks R RAT KR 1 340
5393 FAA Wk % RK KA R AR 1 460
5394 EURE Wk % RK KA EAR 2 800
5395 KR ks EAX RAT KR 1 340
5396 =z Wk % RK KA EAR 1 340
5397 AR Wk % R KA R AR 1 340
5398 Y ks R RAT KR 1 340
5399 A E ks EAX RAT KR 2 800
5400 A A Wk % RK KA EAR 1 400
5401 A ks B RAT KR 1 400
5402 et E WS R KA R AR 1 340
5403 Z R4 Wk % RK KA R AR 2 680
5404 EESS Wk % RK KA EAR 2 680
5405 ERES ks EAX RAT KR 1 400
5406 X EH Wk % RK KA EAR 1 400
5407 R R Wk % R KA EAR 1 400
5408 Ak ks R RAT KR 1 460
5409 BUL & ks R RAT KR 1 400
5410 T 445 ks B KA EAR 2 800




5411 WETE Wk % RK KA R AR 1 400
5412 X /N Wk % RK KA EAR 1 340
5413 XK= ks EAX RAT KR 1 400
5414 KA Wk % RK KA EAR 1 340
5415 HRIEAE Wk % RK KA R AR 1 400
5416 Fakde ks R RAT KR 1 400
5417 7K 15k ks EAX RAT KR 2 800
5418 FER Wk % RK KA EAR 2 680
5419 il Al ks B RAT KR 3 1020
5420 ERE ks R RAT KR 2 680
5421 A Wk % RK KA R AR 1 400
5422 1A 4 Wk % RK KA EAR 1 340
5423 T A W s EEE RAT KR 1 400
5424 KEFE Wk 5 8 KA EAR 3 1380
5425 wEF Wk 5 8 KA R AR 1 400
5426 EMFT Wk s EEE RAT KR 3 1020
5427 FHFE Wk s 8 RAT KR 1 400
5428 =k Wk 5 8 KA EAR 4 1360
5429 KFA WS EuE RAT KR 1 400
5430 k¥ & Wk s EHE RAT KR 1 400
5431 RAE Wk 5 58 KA R AR 2 800
5432 H )IF WS 8 KA EAR 1 400
5433 Z1ZH W s EEE RAT KR 1 340
5434 B W5 8 KA EAR 2 680
5435 Tt Wk 5 8 KA EAR 3 1020
5436 Z R Bk WS E8E RAT KR 1 340
5437 FI—x WS EE KA R AR 1 400
5438 5 A Wk 5 8 KA EAR 1 400




5439 MRk 1 Wk 5 8 KA R AR 1 400
5440 BEE WS 8 KA EAR 3 1020
5441 B K E Wk s EEE RAT KR 1 400
5442 FEMH Wk 5 8 KA EAR 2 680
5443 A I Wk 5 8 KA R AR 3 1020
5444 B OF 4 Wk s EEE RAT KR 3 1200
5445 F AT Wk s 8 RAT KR 1 340
5446 FEE W5 8 KA EAR 1 340
5447 EXCES Wk s 8 RAT KR 1 400
5448 %ig %R il RAT KR 1 400
5449 B k% AT KA R AR 1 340
5450 K35 5 YA Sl KA EAR 1 460
5451 TKAZ AL s #AF RAT KR 1 400
5452 kEFE WS AT KA EAR 1 340
5453 KR W% AT KA R AR 1 400
5454 FHY WS WAF RAT KR 1 400
5455 TRE W% #WAF RAT KR 1 400
5456 e AR Ciiil KA EAR 1 400
5457 A ik 4t s #AF RAT KR 1 340
5458 EFAR YA il KA R AR 1 400
5459 7K ot A k% AT KA R AR 2 800
5460 B R AE AR Sl KA EAR 3 1380
5461 4k s #WAF RAT KR 1 340
5462 b W% AT KA EAR 1 340
5463 1% YR Sl KA EAR 1 400
5464 kKD WS AT RAT KR 1 400
5465 7K g e WS #WAF RAT KR 1 400
5466 [T B AR Ciiil KA EAR 1 400




5467 7K IE B k% AT KA R AR 1 400
5468 7t R AR Sl KA EAR 1 400
5469 =5 s #AF RAT KR 1 340
5470 KRAE W% AT KA EAR 1 340
5471 7k it VAR Ciiil KA R AR 1 400
5472 KAR Y &iibin KA R AR 1 340
5473 7k B 4 W% #WAF RAT KR 1 400
5474 7K 3E A, AR Ciiil KA EAR 1 400
5475 7K B s AT RAT KR 3 1020
5476 7K 5 YA il KA R AR 2 920
5477 IEA k% AT KA R AR 1 340
5478 FrE YA Sl KA EAR 1 400
5479 TKAE % YA Ciibin KA R AR 5 2000
5480 w KA WS AT KA EAR 3 1020
5481 7K RAX W% AT KA R AR 2 680
5482 T EE =k Y Bh RAT KR 2 680
5483 K =y FE RAT KR 1 460
5484 7K Ak B =h s WE KA EAR 1 460
5485 PhEF =y FE RAT KR 1 400
5486 7k XA =h4 WE KA R AR 1 460
5487 M X% =h s WE KA R AR 1 400
5488 KFE =h s WE KA EAR 1 340
5489 T IF7E =y FE RAT KR 1 340
5490 B gk =Rh s WE KA EAR 1 400
5491 7k x4 =h s WE KA EAR 1 340
5492 %k IFB LREs DRE RAT KR 2 800
5493 FHF LRy DEE RAT KR 1 400
5494 EDIES DEES DRE KA EAR 1 460




5495 EE X DEES DREE KA R AR 2 680
5496 K EH DEES DREE KA EAR 1 400
5497 I LEES DREE KA R AR 1 460
5498 A DEES DREE KA EAR 1 460
5499 I m o DEES DREE KA R AR 1 400
5500 4 JE LEES DREE KA R AR 2 680
5501 ML LRy DEE RAT KR 2 680
5502 BEE DEES DRE KA EAR 2 920
5503 i LREs DEE RAT KR 2 680
5504 H 08 LRy DRE RAT KR 2 800
5505 I LREES DRE KA R AR 1 400
5506 FHR DEES DREE KA EAR 1 400
5507 4t LRy DEE RAT KR 1 400
5508 A E 5 DEES DRE KA EAR 1 340
5509 H 7T = LREES DRE KA R AR 2 800
5510 B &8 LRy DEE RAT KR 2 680
5511 H X 5 LRy DEE RAT KR 1 340
5512 INFERE DEES DRE KA EAR 1 340
5513 KEFHE LEEs DEE KA R AR 2 680
5514 R LRy DREE RAT KR 1 340
5515 I dm ok DEES DRE KA R AR 2 800
5516 T A DEES DREE KA EAR 2 800
5517 IR LREs DEE RAT KR 1 460
5518 KRIEH DEES DRE KA EAR 1 340
5519 KK DEES DRE KA EAR 2 800
5520 HEE LREs DRE RAT KR 1 340
5521 KL E LRy DEE RAT KR 1 340
5522 F X E DEES DRE KA EAR 3 1020




5523 S DEES DREE KA R AR 1 340
5524 Sy DEES DREE KA EAR 1 400
5525 KR A LEES DREE KA R AR 2 680
5526 WNEE DEES DREE KA EAR 2 800
5527 H = 35 DEES DREE KA R AR 1 340
5528 = LRy DEE RAT KR 1 400
5529 244 LEES DREE KA R AR 1 400
5530 CESS DEES DRE KA EAR 1 400
5531 SR B LREs DEE RAT KR 2 800
5532 i LRy DRE KA R AR 2 680
5533 CERS DEES DREE KA R AR 2 800
5534 KIE A DEES DREE KA EAR 1 400
5535 THE LRy DEE RAT KR 1 400
5536 AR DEES DRE KA EAR 1 400
5537 4 1 LREES DRE KA R AR 1 1360
5538 EVikia LEES DREE KA R AR 4 1360
5539 4 [E Rt LRy DEE RAT KR 1 400
5540 H T & DREES TRE KA EAR 4 1360
5541 B g It LEEs DEE RAT KR 3 1020
5542 T T LRy DREE RAT KR 2 680
5543 e DEES DRE KA R AR 1 400
5544 M E DEES DREE KA EAR 2 680
5545 FHFE LREs DEE RAT KR 1 340
5546 ok 21 Ji DEES DRE KA EAR 1 400
5547 A DEES DRE KA EAR 1 400
5548 TR LREs DRE RAT KR 2 800
5549 FH= NEs F£H# RAT KR 1 400
5550 7k ot AL NES FH# KA EAR 2 800




0591

H/N=

400

5552

FEF

400

5553

K I %

400

5554

K&

340

09595

NS

800

5556

KA K

400

5557

KA

400

5558

Kt

1200

5559

= AT

340

5560

R A

680

5561

Je B M

400

5562

TR

340

5563

A

400

5564

= EX

340

5565

400

5566

A

680

5567

AR

340

5568

AR

400

5569

G i $

1360

5570

E AT

400

0571

7K 31|

400

5572

R &

340

5573

PR F

400

5574

7%

400

9575

Y=E3

400

5576

Bk IF 7t

800

5577

KA Z

400

5578

S

N I= N ====l==ls—==IND=====IN == =N ===

800




5579

K

680

5580

I 8%

800

5581

FHHE

400

5582

B FA

1020

5583

TEH

400

5584

X 4 It

400

5585

AR AR

800

5586

Bk 12

400

5587

ZER

400

5588

FrR

400

5589

A

680

5590

R

800

5591

1200

5592

KX E

400

5593

AEES

1200

5594

400

5595

AKE

400

5596

A

400

5597

Z i -

680

5598

Z U

800

5599

FAL

680

5600

AN

340

5601

i

400

5602

R

400

5603

BKIE 3%

400

5604

i

400

5605

a7

1360

5606

FIFH

— IS ===~ ==~ wIN N === =~ w |~ | |

400




5607

~H

800

5608

~H

800

5609

A

1200

5610

~H

400

5611

~H

800

5612

A

400

5613

A

340

5614

~H

2040

5615

I

1360

5616

FIK

400

5617

I

680

5618

I

400

5619

FIK

340

5620

I

1600

5621

I

1200

5622

FIK

1380

5623

FIK

400

5624

I

460

5625

I

1380

5626

FIK

800

5627

I

1840

5628

I

680

5629

FIK

680

5630

I

400

5631

I

920

5632

FIK

800

5633

FIK

340

5634

I

DO~~~ IRINDRI IS~~~ Do I

920




5635

RA AR

1020

5636

RA AR

800

5637

KA RAR

340

5638

RA AR

340

5639

RA AR

340

5640

AR

680

5641

KA RAR

340

5642

RA AR

400

5643

KA RAR

400

5644

AR

340

5645

RA K AR

400

5646

BA AR

340

5647

KA RAR

340

5648

RA AR

1200

5649

RA AR

800

5650

AR

400

5651

KA RAR

400

5652

RA AR

340

5653

KA RAR

400

5654

AR

680

5655

RA K AR

1700

5656

RA AR

340

5657

KA RAR

340

5658

RA AR

340

5659

RA AR

400

5660

AR

680

5661

KA RAR

400

5662

RA AR

— =N = === oD === =N = === = = =N == Do o

340




5663 REM WE S F KA R AR 1 400
5664 MAFEE WE S F KA EAR 1 340
5665 RF A INEEA RAT KR 1 400
5666 Ak K NEEAN KA EAR 1 340
5667 - WE S F KA R AR 1 400
5668 JA EAX N RAT KR 1 340
5669 THE NE S FW RAT KR 2 800
5670 ExY WE S FM KA EAR 2 680
5671 M % NE S FW KA R AR 2 680
5672 = EAL WE S 5 RAT KR 1 400
5673 R WE S F KA R AR 1 400
5674 s WE S F KA EAR 1 400
5675 = EA# WE S FW KA R AR 1 340
5676 A% ME S FH KA EAR 1 400
5677 A WE S F KA R AR 4 1600
5678 B A WE S FW KA R AR 1 400
5679 4R 2% WE S FH KA R AR 1 340
5680 W BB TF WE S FM KA EAR 1 400
5681 AL WE S FW KA R AR 1 400
5682 X NE S W RAT KR 2 680
5683 B WE S F KA R AR 1 340
5684 RS FLs EEHZE2 KA EAR 1 400
5685 (Baiz FlLy EERE2 KA R AR 2 800
5686 ZIE FLs EEHZE2 KA EAR 2 800
5687 ¥ R FLs EENZE2 KA EAR 3 1200
5688 % FLy EERE2 KA R AR 2 800
5689 H % % FLy £ENZES RAT KR 2 680
5690 JE & B FLs EENZE2 KA EAR 2 800




5691 K FLs EENZE2 KA R AR 2 800
5692 FEM FLs EEHZE2 KA EAR 3 1200
5693 & & FLy £ENZES RAT KR 2 800
5694 wIES FLs EENZE2 KA EAR 2 800
5695 ERLE FLs EENZE2 KA R AR 3 1200
5696 T K A& FLy £ENER RAT KR 2 800
5697 e FLy £ENZES RAT KR 2 800
5698 e FLs EEHZE2 KA EAR 1 400
5699 B FLy £ENZER KA R AR 1 400
5700 KT FLy £ENER KA R AR 1 400
5701 a2 %% FLs EENZE2 KA R AR 2 800
5702 ARE FLs EENZE2 KA EAR 2 800
5703 2 i 17 FLy £ENZES RAT KR 1 460
5704 RIK FLs EENZE2 KA EAR 1 400
5705 7K %k FLs EENZE2 KA R AR 2 680
5706 XD FLy £ENER KA R AR 2 800
5707 KA FLy £ENZER KA R AR 1 400
5708 KA E FLs EENHZE2 KA EAR 1 340
5709 KK FLy £ERZES KA R AR 2 680
5710 A FlLy EERE2 KA R AR 1 400
5711 BRER FLs EENZE2 KA R AR 4 1360
5712 25 F FLs EEHZE2 KA EAR 2 920
5713 B = FLy £ENZES RAT KR 2 920
5714 YRS Fhy AEREL KA EAR 2 800
5715 Mk E FLs EENZE2 KA EAR 2 800
5716 B E FLy £ENER RAT KR 2 800
5717 X [E X FLy £ENZES RAT KR 2 800
5718 HE FLs EENZE2 KA EAR 3 1200




5719 B#Z FLs EENZE2 KA R AR 1 400
5720 JE 48 FLs EEHZE2 KA EAR 2 800
5721 7K IF Ak FLy EERE2 KA R AR 2 800
5722 i = 1%, FLs EENZE2 KA EAR 2 680
5723 XA = FLs EENZE2 KA R AR 2 680
5724 R E K FLy £ENER RAT KR 2 680
5725 HEAE FLy EERE2 KA R AR 2 800
5726 A T 48 FLs EEHZE2 KA EAR 1 400
5727 = B g FlLy EERES KA R AR 2 800
5728 O A FLy EERE2 KA R AR 2 800
5729 FHE® FLs EENZE2 KA R AR 1 340
5730 &= FLs EENZE2 KA EAR 1 400
5731 e FLy £ENZES RAT KR 2 800
5732 ta & FLs EENZE2 KA EAR 2 800
5733 RIEA FLs EENZE2 KA R AR 2 680
5734 x| E & FLy £ENER RAT KR 2 800
5735 R EH FLy £ENZER RAT KR 3 1200
5736 # I AL FLs EENHZE2 KA EAR 2 800
5737 R KH FLy EERES KA R AR 2 800
5738 AR FlLy EERE2 KA R AR 1 400
5739 FRF FLs EENZE2 KA R AR 1 400
5740 JE A8 FLs EEHZE2 KA EAR 2 680
5741 KA 77 FLy £ENZES KA R AR 2 680
5742 KRR FLs EEHZE2 KA EAR 1 400
5743 BIFR FLs EENZE2 KA EAR 2 800
5744 A= FLy £ENER KA R AR 2 800
5745 B & FLy EERZEL KA R AR 2 800
5746 kIR = FLs EENZE2 KA EAR 2 680




5747 EH= FLs EENZE2 KA R AR 2 800
5748 KA FLs EEHZE2 KA EAR 2 800
5749 Z K FLy £ENZES RAT KR 2 800
5750 FTHH FLs EENZE2 KA EAR 2 680
5751 Ee2 FLs EENZE2 KA R AR 2 800
5752 oPia FLy £ENER KA R AR 2 800
5753 B¥ = FLy EERE2 KA R AR 1 400
5754 I I FLs EEHZE2 KA EAR 1 400
5755 EI FlLy EERES KA R AR 4 1360
5756 K E FLy £ENER RAT KR 4 1360
5757 7k & T FLs RENZES KA R AR 3 1200
5758 k=1 FLs RENZES KA EAR 1 340
5759 B FLy RERNZES RAT KR 2 800
5760 BEZ FLs RENZES KA EAR 1 400
5761 LA FLs RENZES KA R AR 2 680
5762 B OF R FLy RERNZER RAT KR 2 680
5763 AT = FLy RERNZES RAT KR 2 680
5764 Z 1) FLs RENZE2 KA EAR 2 680
5765 F R FLy RERZES RAT KR 1 340
5766 e ia FLy FERZES KA R AR 2 680
5767 K= FLs RENZES KA R AR 2 680
5768 K E N FLs RENZES KA EAR 2 800
5769 E&E FLy FERZES KA R AR 2 680
5770 LA FLs RENZES KA EAR 1 340
5771 2 FLs RENZES KA EAR 2 800
5772 AR FLy RERNZES RAT KR 1 400
5773 REF FLy KFERZES KA R AR 2 800
5774 EER FLs RENZE2 KA EAR 3 1380




5775 TKE K FLs RENZES KA R AR 2 680
5776 PR & FLs RENZES KA EAR 1 400
5777 B FLy RERNZES RAT KR 2 680
5778 EaE FLs RENZES KA EAR 2 680
5779 ff [ FLs RENZES KA R AR 2 800
5780 X A FlLy FERZES KA R AR 2 800
5781 R & FLy RERZES KA R AR 2 680
5782 W XR FLs RERNZES KA EAR 2 800
5783 T A FLy RERZES RAT KR 1 400
5784 LT FLy RERNZES RAT KR 2 800
5785 Ee FLs RENZES KA R AR 1 400
5786 HeOF % FLs RENZES KA EAR 2 680
5787 e FLy FERZES KA R AR 1 400
5788 ZHE FLs RENZES KA EAR 1 340
5789 HHE R HEE BEFHZS KA R AR 1 400
5790 o3tz %+ BhE BEFHZES KA R AR 1 400
5791 X[ = F EhE BEFHZS KA R AR 1 400
5792 k= EhE BEFHRZS KA EAR 1 400
5793 RN EhE BEFHZES KA R AR 3 1200
5794 RKTE BhE BEFHZES KA R AR 4 1840
5795 BIKIK EhE BEFHZS KA R AR 5 1700
5796 i 2% X HEE BEFHZS KA EAR 1 400
5797 K X BrhE BEFHZ2 RAT KR 3 1200
5798 R EhE BEFHZS KA EAR 1 400
5799 TER HEE BEFHZS KA EAR 1 400
5800 w5 BhE BEFHZES KA R AR 2 920
5801 i E T EhE BEFHZS KA R AR 1 400
5802 BRI E BhE BEFHRZS KA EAR 2 680




5803 i T B BhE BEFHZS KA R AR 1 460
5804 RK K HEE BEFHZS KA EAR 2 680
5805 ZBR= EhE BEFHZS KA R AR 1 400
5806 B = EhE BEFHZS KA EAR 1 400
5807 A F HEE BEFHZS KA R AR 1 400
5808 R AT BrE BEFHZ2 RAT KR 1 340
5809 L & BrhE BEFHZ2 RAT KR 1 400
5810 B F BhE BEFHRZS KA EAR 2 920
5811 A FHE BrE BEFHHZ2 RAT KR 4 1600
5812 R K BrE BEFHHZ2 RAT KR 1 400
5813 R LT BhE BEFHZS KA R AR 2 800
5814 il HEE BEFHZS KA EAR 1 400
5815 BRI T BrhE BEFHHZ2 RAT KR 1 400
5816 B = EhE BEFHRZS KA EAR 1 400
5817 AT H HEE BEFHZS KA R AR 1 400
5818 N BrE BEFHZ2 KA R AR 1 340
5819 AT BhE 2ENZE2 KA R AR 1 460
5820 TR = EhiE EENZ2 KA EAR 1 400
5821 #FIFF BhE eENZES RAT KR 2 800
5822 T5E EhE CERE2 KA R AR 3 1200
5823 % EhiE EENES KA R AR 3 1020
5824 5 & Ak HEE CENZS KA EAR 1 340
5825 LER B eENZES KA R AR 2 800
5826 #E/\ EhE EENEZ2 KA EAR 2 800
5827 # TRl HEE CENZS KA EAR 1 400
5828 7K F 4 B eENZER KA R AR 1 400
5829 e BhE eENZER KA R AR 3 1380
5830 1455 EhE EENE2 KA EAR 1 400




5831 e EhiE CENE2 KA R AR 4 1600
5832 B HIE HEE CENZ S KA EAR 1 340
5833 R E SEHE & RAT KR 1 400
5834 NEA SEAE B KA EAR 1 340
5835 R SEEE 8 KA R AR 2 800
5836 Ay SEHE RAT KR 2 800
5837 EER SEEE 47 RAT KR 1 340
5838 &M SEHE B KA EAR 1 340
5839 M E SEHE & RAT KR 1 340
5840 A2 SEEE A RAT KR 1 400
5841 Z SEEE B KA R AR 1 340
5842 Tk 4 SEHE A KA EAR 2 680
5843 & i SEHE & RAT KR 2 680
5844 A SEEE A KA EAR 1 340
5845 X T SEEE 8 KA R AR 4 1600
5846 FER SEHE & RAT KR 2 800
5847 M AR SEHE A7 RAT KR 1 400
5848 KHEE SEHE B KA EAR 1 400
5849 B 4 SEHE & RAT KR 2 800
5850 £ 18 Rl gzl HE RAT KR 1 340
5851 F EA FlLEE gzl HE KA R AR 1 340
5852 HREHT X Rl hEL HE KA EAR 1 340
5853 J& & FlLrEApEL HE RAT KR 5 1700
5854 A FlLETEAEL EF KA EAR 3 1200
5855 JA =& FlLfEEEL EF KA EAR 2 920
5856 &= X RlLTEAEL X KA R AR 1 340
5857 R FlLEEAEL X KA R AR 1 340
5858 1 FlLETEAEL EF KA EAR 1 340




5859 W Rl AEL EF KA R AR 2 680
5860 e FlLEFE,EL EF KA EAR 1 340
5861 R X RlLEEAEL X KA R AR 2 680
5862 A AR FlLETEAEL EF KA EAR 3 1200
5863 E S FlLfEEL EF KA R AR 1 400
5864 B A RlLBTEAEL X KA R AR 1 400
5865 SRE FlLEEAEL X KA R AR 1 340
5866 A FlLETEAEL EF KA EAR 3 1020
5867 HE = RlLEEAEL X KA R AR 4 1360
5868 R4 RlLBTEAEL X KA R AR 1 400
5869 e FlLETEAEL EF KA R AR 3 1200
5870 ZAEE RlLETEhEL EF KA EAR 3 1020
5871 A 38 RlLEEAEL X KA R AR 1 340
5872 A RlLEAENL EF KA EAR 1 340
5873 HFEA RlLEEAEL EF KA R AR 4 1360
5874 ERE RlLBTEAEL X KA R AR 3 1020
5875 x| = % FlLEEAEL X KA R AR 1 340
5876 FRZ Rl AENl EF KA EAR 1 340
5877 FF RlLEEAEL X KA R AR 1 340
5878 HFRRK RlLETEAEL X KA R AR 1 400
5879 ZEHE FlLETEAEL EF KA R AR 3 1020
5880 1T H FlLEFEEL EF KA EAR 1 400
5881 B4 FAG N RAT KR 2 680
5882 B BALg A KA AR 5 2300
5883 15 75 RAEE A KA EAR 1 340
5884 A X B N RAT KR 2 680
5885 HIFEFH FAg A RAT KR 1 400
5886 e B A KA EAR 2 680




5887 F X fE RAE A KA AR 3 1200
5888 by RAEE A KA EAR 2 680
5889 o 2] RAEqE A RAT KR 3 1020
5890 # A BAg A KA EAR 2 680
5891 WSS BALHE LA KA R AR 2 680
5892 BRI RALHE RAT KR 1 340
5893 XN RS B RAT KR 3 1200
5894 FEAR B A KA EAR 2 680
5895 o o FAGE LA RAT KR 3 1020
5896 PR R FAg N RAT KR 3 1020
5897 2 3t B A KA R AR 2 680
5898 TE RAEE A KA EAR 1 340
5899 =R EE FAG LA RAT KR 2 680
5900 A K BAg A KA EAR 1 340
5901 AEFE R2EE TR KA R AR 2 800
5902 Tk R BRAELE PR RAT KR 3 1020
5903 eI RAEE IR RAT KR 3 1020
5904 k& L FR KA EAR 1 460
5905 B R R BRAEE IR RAT KR 1 340
5906 2= I A EhE R RAT KR 3 1020
5907 1T A L R KA R AR 2 800
5908 Fit R2EE TR KA EAR 1 400
5909 I IE % EhE R RAT KR 2 680
5910 R & BAEHE FR KA EAR 1 400
5911 FHE R2EE R KA EAR 2 800
5912 EY.&is EhE FR RAT KR 4 1360
5913 B3N EhE R RAT KR 4 1600
5914 kT EHEYE TR KA EAR 1 340




5915 BAt® L FR KA R AR 2 680
5916 B X R2EE TR KA & AR 3 1200
5917 A BRAEE IR RAT KR 1 400
5918 3 L K KA EAR 1 460
5919 ZF % REE R KA R AR 1 460
5920 & EhE R RAT KR 4 1360
5921 LHE EhE FR RAT KR 4 1360
5922 Mt A BAEHE FR KA & AR 3 1020
5923 KEA BRAEE IR RAT KR 2 680
5924 1t 1IF V& EhE R RAT KR 2 680
5925 A= L FR KA AR 3 1020
5926 b= R2EE TR KA EAR 2 800
5927 PREd = 2hE R RAT KR 1 340
5928 HEE BAEHE FR KA EAR 2 680
5929 INE# R2EE TR KA R AR 2 680
5930 EHEE EhE R RAT KR 1 340
5931 EE RAEE IR RAT KR 1 340
5932 e L FR KA AR 3 1020
5933 1 F 1 BRAEE IR RAT KR 1 340
5934 F4 R EhE R RAT KR 1 400
5935 = 4R B Wik KA R AR 4 1360
5936 FFE RAEH Mg KA EAR 1 340
5937 T ¥k RAE iR RAT KR 2 800
5938 HFEHK RALE Hg KA EAR 3 1020
5939 XA A RAEE Hif KA EAR 2 680
5940 RAF R Wik RAT KR 2 680
5941 kG RALE Wik RAT KR 2 680
5942 EXE RALE R KA EAR 2 800




5943 R IEFF RAE Hg KA R AR 5 1700
5944 BN 7T BALHE MR KA EAR 2 680
5945 A AL RAE iR RAT KR 4 1360
5946 X E BAHE Wik KA EAR 1 340
5947 x| IF BY RAHE #g KA R AR 2 680
5948 T4 T Ry Wik RAT KR 3 1200
5949 K IF & RACE Wik RAT KR 2 680
5950 M IE & RALE kg KA EAR 2 800
5951 X IF R R Wik RAT KR 2 680
5952 FTIFEH B Wik RAT KR 1 340
5953 ED & RAE Hg KA R AR 1 400
5954 X EE RAEHE Hg KA EAR 2 680
5955 EYES RAE iR RAT KR 1 340
5956 FRHE BAHE Wik KA EAR 2 680
5957 EE® RAEE Mg KA R AR 1 340
5958 FARE RACHE IR RAT KR 1 340
5959 ES R RAHE R KA R AR 2 680
5960 kI RALE Hg KA EAR 1 400
5961 Pk [ B RALE R KA R AR 1 400
5962 M IE ¥ B Wik RAT KR 2 680
5963 M R IE RALE Hg KA R AR 2 680
5964 kN E RAEHE Hg KA EAR 1 340
5965 X KB RAE iR RAT KR 2 680
5966 B E K B Wik KA EAR 2 680
5967 3 IF 3% RAHE #g KA EAR 3 1020
5968 FEX R Wik RAT KR 3 1020
5969 7k IF 25 P RE H % RAT KR 1 400
5970 7K JiE HRE % KA EAR 1 340




5971 kX & HRE F% KA R AR 2 800
5972 FEA HRE % KA EAR 1 400
5973 Tk F A P RE $ % KA R AR 1 400
5974 7K 5 HRE % KA EAR 1 340
5975 X E HRE % KA R AR 2 680
5976 ZE b RE H 5 KA R AR 2 800
5977 2 A P RE $ % KA R AR 1 400
5978 ¥R A HRE % KA EAR 1 340
5979 7, F B FRE $ 5 KA R AR 2 680
5980 = [EE FRE B 5 KA R AR 2 800
5981 ek HRE F% KA R AR 1 340
5982 WA AR HRE % KA EAR 1 340
5983 B FRE % KA R AR 1 400
5984 7K X H HRE % KA EAR 1 400
5985 FER FRE H 5 KA AR 1 400
5986 M7= FRE % KA R AR 1 400
5987 JE 33 P RE $ % KA R AR 1 400
5988 * 1B FRE H 5 KA AR 1 400
5989 2B P RE $ 5 KA R AR 1 400
5990 W F FRE B 5 KA R AR 1 400
5991 FEZ FRE H 5 KA AR 1 400
5992 FRE FRE 5 KA AR 1 340
5993 & 1@ FRE $ 5 KA R AR 1 340
5994 7K X HRE % KA EAR 1 340
5995 KX FH HRE F% KA EAR 1 340
5996 2 4t FRE B 5 KA R AR 1 400
5997 X P RE H % KA R AR 1 340
5998 EX HRE % KA AR 3 1020




5999 BRI WTEEE XE KA R AR 1 1840
6000 KA WTFEE XRE KA EAR 1 400
6001 RIS R EHE KR RAT KR 1 460
6002 Elis WEEE KR KA EAR 1 400
6003 23 WTFEE XRE KA R AR 2 920
6004 AR WFEE KR RAT KR 2 920
6005 X B F RTEHE KR KA R AR 2 800
6006 BB WTEE XRE KA EAR 1 400
6007 x| IF 4R RTFEE KR RAT KR 3 1200
6008 KB X WTEHE KR RAT KR 3 1200
6009 Tk X E WTEE XRE KA R AR 1 400
6010 [ e WTFEE XE KA EAR 1 460
6011 KF = RTFEE KR RAT KR 2 800
6012 Eibuoil] W EE KR KA EAR 1 400
6013 i WTEEE XRE KA R AR 2 920
6014 BF 2 4k WFEE KR RAT KR 1 460
6015 X AF WTEHE KR RAT KR 1 400
6016 & XK WTEE XRE KA EAR 2 920
6017 FnE WTEHE KR RAT KR 1 400
6018 T ol Uy RTEHE KR RAT KR 1 400
6019 TUEZ WTEEE KR KA R AR 1 460
6020 W IF 35 WTFEE XRE KA EAR 1 400
6021 XA F WTEHE KR RAT KR 1 400
6022 X W EE AR KA EAR 5 2000
6023 s WTEEE XRE KA EAR 1 400
6024 & F & RTEHE KR RAT KR 1 400
6025 KE A& RTEHE KR KA R AR 1 400
6026 & fn WTEE XRE KA EAR 3 1020




6027 RE A BFEE 2R KA R AR 1 340
6028 R e i BFEE 25 KA EAR 1 340
6029 e BFIEE YARMA RAT KR 3 1380
6030 kEZ BFIEE AR KA EAR 1 400
6031 FTHEE BFEE 2R M KA R AR 1 400
6032 R E BFIEE CRMA RAT KR 1 460
6033 o &3 BFIEE CRMA RAT KR 1 400
6034 K E 4 BFEE 2SR KA EAR 1 460
6035 KA S BFIEE PERMA RAT KR 2 680
6036 KA B BFIEE YERMA KA R AR 2 920
6037 X B % BFEE A2 KA R AR 1 340
6038 EAH A BFEE 25 KA EAR 1 400
6039 X 4 BFIEE YARMA RAT KR 1 340
6040 AR BFIEE AR KA EAR 2 800
6041 EA K BFEE 2R KA R AR 2 800
6042 XA BFIEE YRMA RAT KR 1 400
6043 LEZ BFIEE PRMA RAT KR 1 340
6044 EER BFEE 25 KA EAR 1 400
6045 7K E A BFIEE PRMA RAT KR 1 400
6046 PR 4R BFIEE YERMA RAT KR 1 400
6047 KF = BFEE AR M KA R AR 2 680
6048 TR BFEE 25 KA EAR 1 400
6049 FAEF BFIEE CRMA RAT KR 4 1600
6050 M X ¥ RFIEE AR KA EAR 3 1200
6051 F KX BFEE 2R KA EAR 3 1200
6052 FF L BFIEE YRMA KA R AR 1 340
6053 £ BFEE R KA R AR 1 400
6054 X[ BB BFEE 25 KA EAR 1 400




6055 %%i%% BFEE 2R KA R AR 2 680
6056 KR BFEE 25 KA EAR 2 800
6057 Mi/\ R R RAT KR 1 400
6058 7k & A BFIEE AR KA EAR 1 400
6059 %&X% BFEE 2R M KA R AR 3 1200
6060 T R BFIEE CRMA RAT KR 1 400
6061 EX BFEE 2R KA R AR 1 460
6062 X AR BFEE 2SR KA EAR 1 400
6063 = BFIEE PERMA RAT KR 3 1020
6064 =IF= BFIEE YERMA RAT KR 1 400
6065 £ )7t BFEE A2 KA R AR 1 400
6066 K FE BFEE 25 KA EAR 2 800
6067 X% = BFEE 2R KA R AR 2 680
6068 GIvES BFIEE AR KA EAR 1 340
6069 EXE BFEE 2R KA R AR 1 340
6070 ok 4G WFIEE BT T RAT KR 5 2300
6071 7K 3 A WTFEH EITT KA R AR 2 920
6072 BRiE ¥ WTFEE EITT KA AR 3 1200
6073 KPR TIEE BT T RAT KR 1 400
6074 EEF WFIEE BT T RAT KR 2 800
6075 LA WTFEE EITT KA R AR 1 340
6076 7k %7 LAREE R KA EAR 4 1360
6077 & L b REE R RAT KR 5 2000
6078 KRS LAREE R KA EAR 3 1200
6079 Tk A LAREE R KA EAR 1 340
6080 X EE e RAT KR 4 1360
6081 EXID e e RAT KR 1 400
6082 e LAREE R KA EAR 4 1360




6083 Tk E B LAREE R KA R AR 1 400
6084 XXe LAREE R KA EAR 2 680
6085 ikt e e RAT KR 1 460
6086 KL E LARESE R KA EAR 2 680
6087 BRA 5 LAREE R KA R AR 1 400
6088 ERizhat bREE EE KA R AR 2 680
6089 7K IF & LREE 2L RAT KR 2 800
6090 TEA LAREE R KA EAR 3 1200
6091 x4 bREE e KA R AR 3 1020
6092 Ay e RAT KR 5 2000
6093 CFE A BARESE R KA R AR 1 400
6094 ERES LAREE R KA EAR 1 400
6095 k=4 bREE R RAT KR 1 400
6096 iR LARESE R KA EAR 1 400
6097 wE = LAREE R KA R AR 1 400
6098 7k 1F K LREE 2L RAT KR 3 1200
6099 =¥ ARAI LREE 2L RAT KR 3 1200
6100 E2 LAREE R KA EAR 1 400
6101 e bREE R KA R AR 1 400
6102 T2 e RAT KR 3 1200
6103 EHE BAREE R KA R AR 4 1360
6104 F R4 LAREE R KA EAR 3 1020
6105 7K A& R BAREE BE KA R AR 3 1200
6106 kil LAREE R KA EAR 4 1360
6107 1= 5 A LAREE R KA EAR 4 1360
6108 TR LREE 2L RAT KR 1 340
6109 LA 4 LREE 2L RAT KR 1 340
6110 Tk 4k LAREE R KA EAR 1 400




6111 % LREE i KA R AR 4 1360
6112 T A% LREE 2L KA EAR 4 1360
6113 7K IF 4% e e RAT KR 2 800
6114 Bl LARESE R KA EAR 3 1020
6115 i LAREE R KA R AR 1 340
6116 B3k I RAT KR 1 340
6117 R LREE 2R -—HERKEZ S RAT KR 1 400
6118 & E LAREE ¢ -_HEXEZ S KA EAR 4 1360
6119 ikt LREE 2 -—HEREZ S RAT KR 1 460
6120 &N LAREE ¢ _HEKXEZ S KA R AR 3 1200
6121 R = LREE ¢ _HEXEZ S KA R AR 3 1020
6122 b XF LREE A -—HEXEZ S KA EAR 4 1600
6123 e LEREE W -—HREZ S RAT KR 2 920
6124 EFM LREE A -—HEXEZ S KA EAR 2 680
6125 BIET LRBE 24— HREZS KA R AR 3 1020
6126 J 3 5 LAREE ¢ _HEKXEZ S RAT KR 3 1380
6127 i LAREE e _HXEZ S RAT KR 5 1700
6128 FARE LAREE ¢ _HEEZ S KA EAR 2 680
6129 BT A LREE 2 -—HEREZ S KA R AR 2 800
6130 ED LREE 2 -—HEREZ S KA R AR 1 340
6131 ERE LREE ¢ HEKXEZ S KA R AR 1 340
6132 #OLR LAREE ¢ _HEXEZ S KA EAR 2 680
6133 ITES LAREE ¢ _HKXEZ S RAT KR 6 2040
6134 &R R LREE ¢ -_HEXEZ S KA EAR 3 1020
6135 BT LRBE 24— HREZS KA EAR 3 1020
6136 & K F LREE 2 -—_HEREZ S KA R AR 2 680
6137 &I LAREE 2 -—HERKEZ S RAT KR 2 680
6138 A8 E F7 LAREE ¢ -_HEXEZ S KA EAR 2 680




6139 # R LREE ¢ _HEXEZ S KA R AR 1 340
6140 AR LAREE 2 _HEXEZ S KA EAR 2 680
6141 BT LAREE 2 -—HEREZ S RAT KR 2 680
6142 gl LEREE A -_HEREZ S KA EAR 2 680
6143 AED LAREE A -_HEREZ S KA R AR 2 680
6144 Fimx BREE 2 -—_HEXEZ S RAT KR 2 680
6145 Rk LREE 2R -—HERKEZ S KA R AR 1 340
6146 FRZE LEREE 4 -—HREZS KA EAR 3 1020
6147 FTEE LREE 2 -—HEREZ S KA R AR 1 400
6148 X ® LREE 2 -—_HEREZ S KA R AR 1 400
6149 & A LRBEE 24— HREZS KA R AR 3 1020
6150 B E H LAREE ¢ _HEEZ S KA EAR 1 340
6151 KFH LAREE 2 -—HEREZ S KA R AR 2 680
6152 HAEE LREE A -—HEXEZ S KA EAR 1 340
6153 AR LREE 2 -_HEXEZ S KA R AR 2 680
6154 K EH BREE 2 -—_HEREZ S KA R AR 2 680
6155 K fE LAREE e _HXEZ S RAT KR 4 1360
6156 7K WS K7 KA EAR 3 1200
6157 AR WS K7 KA R AR 4 1360
6158 = RE Wws AR RATRAR 4 1600
6159 e WS K7 KA R AR 1 460
6160 M oA WHSs AR KA EAR 1 460
6161 FHEEF WrSs AR RAT KR 1 340
6162 FHE WHY AR KA EAR 2 800
6163 FEE WS K7 KA EAR 3 1020
6164 HEE WS KR KA R AR 1 400
6165 [ vaica s AR RAT KR 1 460
6166 EAE WS K7 KA EAR 2 920




6167 H R WS K7 KA R AR 5 1700
6168 FHE WS K7 KA EAR 3 1380
6169 7K 35 A WS AR RAT KR 1 400
6170 X X# WS K7 KA EAR 2 680
6171 X 4R AE WHSs AR KA R AR 1 340
6172 X A% WS K7 KA R AR 2 800
6173 ek s AR RATRAR 1 460
6174 N WS K7 KA EAR 1 400
6175 B E A& WS K7 KA R AR 1 340
6176 k¥ E Wws AR RATRAR 1 400
6177 2 %55 RS AR KA R AR 1 340
6178 X2 B WS KA KA EAR 1 340
6179 (RECAT Wrs AR RAT KR 1 400
6180 72X WS K7 KA EAR 4 1600
6181 ] WS K7 KA R AR 2 680
6182 7K SR =h% A RATRAR 1 400
6183 515 3% =h % Al RAT KR 2 800
6184 Fx#E k% A KA EAR 1 340
6185 EEEL =h% A RAT KR 2 800
6186 Gl =H% FH RAT KR 1 340
6187 M X H =h % #Hl KA R AR 1 400
6188 ¥ fn 4% =h % #H KA EAR 2 800
6189 Tk A K =k % Fl RAT KR 1 460
6190 Z 3 L =h % #Hl KA EAR 2 680
6191 = 4 4§ =h % #H KA EAR 1 400
6192 M F =Hh% #HW RAT KR 1 400
6193 AN =k % Fl RAT KR 1 400
6194 FHE =h % #H KA KR 3 1200




6195 1 T =h % #Hl KA R AR 1 400
6196 & IRY BER S AE KA EAR 2 680
6197 7K A VR RAT KR 2 680
6198 ITAXE ViE Rk KA EAR 2 920
6199 JE &AL BER S AEAE KA R AR 2 680
6200 XK 7 VR RAT KR 2 920
6201 & XY BER S A RAT KR 1 340
6202 EAR BER S HEAE KA EAR 1 340
6203 ARG BER S HAE RAT KR 1 340
6204 i BER S A RAT KR 3 1200
6205 FAHEW BER S A KA R AR 2 800
6206 K E BER S HAE KA EAR 1 400
6207 e FES S ke RAT KR 1 400
6208 =7 = ViE Rk KA EAR 1 340
6209 i A B BER S EAE KA R AR 2 800
6210 k3 ERS YEAE RAT KR 1 340
6211 B %is ERS daAE RAT KR 1 340
6212 X\ 5] By EE KA EAR 2 800
6213 el By BE RAT KR 1 340
6214 2= 75 ~f B EE RATE AR 1 400
6215 M X A BEL S EE KA R AR 2 680
6216 ZiEE BEL S EE KA EAR 2 680
6217 ERee S VR RAT KR 1 340
6218 TKoE B S EE KA EAR 1 340
6219 REE BEL S EE KA EAR 2 680
6220 K F By EE KA R AR 2 680
6221 R Z Ry EE RAT KR 2 680
6222 MRE BB S EE KA EAR 1 460




6223 7K ¥ 18 BEL S EE KA R AR 2 800
6224 Tk it BEL S EE KA EAR 2 800
6225 B BER Y BE RAT KR 4 1840
6226 M BB S EE KA EAR 2 680
6227 M E BEL S EE KA R AR 1 340
6228 7KL By BE RAT KR 4 1600
6229 e By EE KA R AR 1 400
6230 i By EE KA EAR 2 680
6231 &[0 % BER Y BE RAT KR 2 680
6232 AIE By EE KA R AR 1 340
6233 kb BEL S EE KA R AR 1 400
6234 BAZE BEL S EE KA EAR 1 400
6235 EEF By BE RAT KR 1 400
6236 *ATT B S EE KA EAR 1 340
6237 1B BEL S EE KA R AR 1 340
6238 e By BE RAT KR 1 340
6239 = F By EE KA R AR 2 680
6240 F ok B S EE KA EAR 2 680
6241 7K ot AR By EE KA R AR 2 680
6242 7k 5% B B EE KA R AR 3 1020
6243 F XA BEL S EE KA R AR 2 800
6244 F X BEL S EE KA EAR 2 680
6245 7k £ I By BE RAT KR 3 1020
6246 FH¥ B S EE KA EAR 2 800
6247 LR By EE KA EAR 1 400
6248 JE 4k & VE RAT KR 2 800
6249 XS Bty EE KA R AR 1 340
6250 7K E B BB S EE KA EAR 1 340




6251 FXF BEL S EE KA R AR 2 680
6252 A BEL S EE KA EAR 1 340
6253 ERLS BER Y BE RATRAR 1 340
6254 FEHH%E BB S EE KA AR 3 1200
6255 ek BEL S EE KA AR 5 1700
6256 FRZ By BE RAT KR 3 1020
6257 e By EE RATE R 1 400
6258 24K B S EE KA EAR 4 1360
6259 w0 F 4 BB S B X RAT KR 4 1600
6260 XA BEF S X KA R AR 1 400
6261 X & X BB S X KA R AR 1 400
6262 FIEFE BEL S X KA EAR 3 1200
6263 TEZ BEL S X KA R AR 1 400
6264 & [E 5% BB S X KA EAR 1 400
6265 BX R BB S X KA R AR 2 800
6266 T# VE IS RAT KR 1 400
6267 TKEA VE IS RAT KR 3 1380
6268 Al BEL S X KA EAR 5 2000
6269 e BB S B X RAT KR 2 680
6270 R ViE IS RAT KR 3 1200
6271 BF= BB S X KA R AR 3 1200
6272 RHEZ BEL S X KA EAR 2 920
6273 e VE IS RAT KR 2 800
6274 R IF £ BEL S X KA EAR 1 340
6275 XX BB S X KA EAR 2 680
6276 2= 3% A ViE RPN RAT KR 1 340
6277 AR VE IS RAT KR 1 400
6278 F X F BEL S X KA EAR 1 400




6279 # 5L BB S X KA R AR 3 1200
6280 WER BEL S X KA EAR 1 400
6281 e BEL S X KA R AR 1 340
6282 7K R BB S X KA EAR 2 680
6283 BT E BB S B KA R AR 1 400
6284 7k B R VE IS RAT KR 2 680
6285 2 AR & VE IS RAT KR 2 680
6286 £ 153 BB S X KA EAR 2 680
6287 &R E BB S B X RAT KR 4 1600
6288 ED il BEF S X KA R AR 2 680
6289 % ¥ BB S X KA R AR 2 680
6290 RE IF 45 BEL S X KA EAR 2 680
6291 A E VE IS RAT KR 2 680
6292 e BB S X KA EAR 1 340
6293 FH 5 BB S X KA R AR 4 1360
6294 e BEE S X KA R AR 2 680
6295 {7 I 5 VE IS RAT KR 2 680
6296 7K BE B ViR KA EAR 1 340
6297 RS BB S Hat RAT KR 1 340
6298 TR I o BER S Hat RAT KR 2 800
6299 iVl ViR KA R AR 1 400
6300 R ViR KA EAR 2 680
6301 B IR Vi KA R AR 1 400
6302 fiadis BB S HH KA EAR 1 400
6303 XA BB S HH KA EAR 1 340
6304 & 1F ¥ BER S Hat RAT KR 1 340
6305 RS BER S Hat RAT KR 2 680
6306 VS BB S HH KA EAR 2 920




6307 i ViR KA R AR 2 680
6308 R XX ViR KA EAR 1 400
6309 B3 Vi SR RAT KR 2 680
6310 ERCE il ViR KA EAR 2 680
6311 T RE BEL S HE KA R AR 1 400
6312 IR BER S Hat RAT KR 1 340
6313 I A # BB S Hat RAT KR 3 1020
6314 AL A ViR KA EAR 1 340
6315 KA s BER S Hat RAT KR 1 400
6316 R F ViSRS RAT KR 3 1020
6317 TEAE ViR KA R AR 1 400
6318 AT ViR KA EAR 1 340
6319 7K 2% Vi SR RAT KR 2 800
6320 KR ViR KA EAR 1 400
6321 HEAE ViR R AT R 1 340
6322 ER BER S Hat RAT KR 1 340
6323 IR BB S T RAT KR 1 340
6324 oK iz = ViR KA EAR 1 340
6325 FE= BB S Hat KA R AR 2 680
6326 i BER S Hat RAT KR 1 340
6327 = ViR KA R AR 1 340
6328 & V& X ViR KA EAR 1 340
6329 Fx¥ Vi SR RAT KR 2 680
6330 BT = BB S HH KA EAR 1 340
6331 =N ViR KA EAR 1 340
6332 TR ViSRS RAT KR 1 340
6333 KEA BB S T RAT KR 1 340
6334 X 2% ViR KA EAR 1 1360




6335 XA L ViR KA R AR 1 340
6336 H %= BEL S HH KA EAR 2 680
6337 i BER S Hat KA R AR 1 340
6338 FRZE Fiby FHNES KA EAR 2 800
6339 T X HH Fhy FHNES KA R AR 5 2300
6340 i T FlLs FENEL RAT KR 2 680
6341 FAE FLy FHNES KA R AR 1 400
6342 FIFiAX Filby FHNES KA EAR 2 800
6343 F & FLy FHNES KA R AR 5 2000
6344 XEF FLy FHNES RAT KR 1 400
6345 PR IF 48 Fhy FHNES KA R AR 2 800
6346 Gl FLs FHNZES KA EAR 3 1200
6347 Tk Ty FHANES KA R AR 3 1200
6348 KK FH FLy FHNES KA EAR 2 800
6349 (RPANE FLhy FHNES KA R AR 2 800
6350 TR FLy FHNES RAT KR 3 1200
6351 FH= FlLg FHENESL RAT KR 2 800
6352 FeK Fhs FHNZES KA EAR 1 400
6353 i FLy FHNES KA R AR 2 800
6354 FHE FLy FHNES KA R AR 2 800
6355 /7 A Ty FHNES KA R AR 2 800
6356 2 FLhy FHNES KA EAR 2 800
6357 He it FLy FHNES KA R AR 2 800
6358 FXA FLs FHNES KA EAR 2 800
6359 I X Fhy FHNES KA EAR 2 680
6360 FR%E FLy FHNES RAT KR 2 800
6361 e FlLy FHNES KA R AR 2 800
6362 e FLy FHNES KA EAR 2 800




6363 ES 3 Ty FHNES KA R AR 1 400
6364 kil FLy FHNES KA EAR 4 1600
6365 FHE Ty FENEL RAT KR 1 400
6366 7 R FLs FHNZES KA EAR 2 800
6367 I A Ty FHANES KA R AR 1 400
6368 H W FLy FHNES RAT KR 3 1200
6369 R G FlLg FHENESL RAT KR 3 1200
6370 N Filby FHNES KA EAR 2 800
6371 HEZ FLy FHNES KA R AR 6 2400
6372 X 35 FLy FHNES RAT KR 1 400
6373 B XA FLs FHNZES KA R AR 3 1200
6374 FEZ Fiby FHNES KA EAR 2 800
6375 & Ty FENESL RAT KR 3 1200
6376 e FLs FHNZES KA EAR 3 1200
6377 ERiile FLhy FHNES KA R AR 2 800
6378 T2 A FlLs FHENEL RAT KR 1 340
6379 XA FlLg FHENESL RAT KR 1 340
6380 P Fhy FHNES KA EAR 2 800
6381 7k it & BRE AKANRZESL KA R AR 2 680
6382 ERRE! BRE KAKARZESL KA R AR 3 1200
6383 F K HERE KKANES KA R AR 4 1360
6384 KA HEE AKIHRZS KA EAR 2 680
6385 EY IF & BRE KAKARZESL KA R AR 1 460
6386 =K HERE KKANES KA EAR 2 680
6387 EAE HEE AKIHZS KA EAR 1 460
6388 K 1 BRE KAKARZEL KA R AR 1 400
6389 KA R BRE KAKARZES KA R AR 4 1360
6390 T2 HERE KKANES KA EAR 2 680




6391 x| 1 4 BRE KAKHARZS KA R AR 2 680
6392 FHZ HEE AKIHRZS KA EAR 3 1200
6393 BIE# BRE AKk#ARZS RAT KR 3 1020
6394 D= BRE KAKHARZS KA EAR 1 340
6395 K E HEE AKIHRZS KA R AR 2 920
6396 b BRE AKARZS RAT KR 2 800
6397 B IFVE BRE AKkARZS RAT KR 1 460
6398 F=EfF BRE AKHRZS KA EAR 1 340
6399 HE= BRE AKk#ARZS RAT KR 4 1360
6400 Bt BRE AKk#ARZ2S RAT KR 3 1020
6401 KA BRE KAKHHRZS KA R AR 2 680
6402 FXF HEE AKIHRZS KA EAR 2 680
6403 TH 5 BRE AKk#ARZS RAT KR 2 920
6404 FEKX BRE KAKHARZS KA EAR 2 680
6405 S HEE AKIHRZS KA R AR 1 460
6406 Jifl IF 77 BRAE AKARZS RAT KR 2 680
6407 =R E BRE KAKHARZES RAT KR 2 680
6408 =5\ BRE KAKIARZS KA EAR 1 400
6409 e 5 BRE AKANRZESL KA R AR 2 680
6410 &= g-F BRE AKk#ARZ2 RAT KR 1 460
6411 e BRE KAKHARZS KA R AR 2 680
6412 AT HEE AKIHRZS KA EAR 1 400
6413 = BRE AKk#ARZS RAT KR 1 340
6414 F ER BRE KAKHARZS KA EAR 3 1020
6415 K E HEE AKIHZS KA EAR 3 1200
6416 = g5 BRE AK#ARZ2S RAT KR 1 460
6417 ZE% BRE AKkARZS RAT KR 3 1020
6418 REZ BRE AKIARZS KA EAR 1 460




6419 T &% BRE KAKHARZS KA R AR 1 400
6420 T F HEE AKIHRZS KA EAR 1 340
6421 3 WA, BRE AKk#ARZS RAT KR 2 680
6422 XA BRE KAKHARZS KA EAR 2 800
6423 K EA HEE AKIHRZS KA R AR 2 800
6424 AR AT BRE AKARZS RAT KR 2 680
6425 £l BRE AKkARZS RAT KR 1 400
6426 K2 BRE AKHRZS KA EAR 2 680
6427 FEK BRE AKk#ARZS RAT KR 2 800
6428 K K AL BRE AKk#ARZ2S RAT KR 1 340
6429 F 02 BRE KAKHHRZS KA R AR 1 400
6430 X\ it & HEE AKIHRZS KA EAR 1 400
6431 BEATR BRE AKk#ARZS RAT KR 1 400
6432 17 [ 4R BRE KAKHARZS KA EAR 4 1360
6433 B %k HEE URFHZS KA R AR 4 1840
6434 i BrE URFEHZ2 RAT KR 1 460
6435 M AR BrE URFERHZ2 RAT KR 2 800
6436 iE=Fa BhE URFHRZS KA EAR 2 800
6437 i BrhE URFERHZ2 RAT KR 1 400
6438 [ BrE URFEHZ 2 RAT KR 1 400
6439 kER BhE URFRZS KA R AR 1 400
6440 i HEE URFHRZS KA EAR 2 800
6441 AL e URFERHZ2 RAT KR 1 460
6442 MARE BhE URFHRZS KA EAR 1 400
6443 EXit HEE URFHZS KA EAR 1 400
6444 & IF %, BrE URFERHZ2 RAT KR 1 460
6445 NS BrE URFERHZ2 RAT KR 3 1200
6446 MR BhE URFRZS KA EAR 4 1840




6447 WAL BhE URFRZS KA R AR 2 920
6448 &k E HEE URFHZS KA EAR 2 800
6449 HEE EhE URFHZES KA R AR 3 1380
6450 A BhE URFHRZS KA EAR 2 920
6451 P RGE HEE URFHZS KA R AR 1 460
6452 EAT = BrE URFEHZ2 RAT KR 1 400
6453 M AT BrE URFERHZ2 RAT KR 1 400
6454 % B3 BhE URFHRZS KA EAR 4 1600
6455 M KA BrhE URFERHZ2 RAT KR 1 400
6456 x| 4 BrE URFERHZ2 RAT KR 2 920
6457 b i BhE URFRZS KA R AR 3 1200
6458 RN SEE £1E KA EAR 1 340
6459 KA SEhE £1E RAT KR 1 400
6460 = SEE £1E KA EAR 1 400
6461 EeZ SEGE £1E KA R AR 3 1200
6462 Z=1F K SEME £E RAT KR 2 680
6463 o X SEME £ RAT KR 1 400
6464 x| 44 SEHY £ KA EAR 2 800
6465 . F AR SEAE 215 RAT KR 2 800
6466 HER EEME b RAT KR 1 340
6467 EFAR SEAE A KA R AR 2 800
6468 el SEME A KA EAR 1 400
6469 e SEHE b RAT KR 1 400
6470 KEE SEAE A KA EAR 1 340
6471 Y SEAE A KA EAR 2 680
6472 F A EEME b RAT KR 1 340
6473 I g SEHE b RAT KR 2 680
6474 Tk E & SEEE <4b KA EAR 3 1200




6475 INIEE SEEE b KA R AR 3 1020
6476 ik EEGE A KA EAR 1 400
6477 T SEHE b RAT KR 1 340
6478 ¥ B EEEE A KA EAR 2 680
6479 = EF EEEE N A KA R AR 1 400
6480 A EEME b RAT KR 1 400
6481 ¥ B SEHE b RAT KR 1 340
6482 FFH EEEE A KA EAR 1 340
6483 ¥ EEAE A RAT KR 1 340
6484 EXCES EEME b RAT KR 1 400
6485 =T SEAE A KA R AR 1 460
6486 A SEAE A KA EAR 2 800
6487 R SEHE b RAT KR 1 400
6488 il RFIEE KT KA EAR 2 920
6489 e Flhs BARNZES KA R AR 1 400
6490 AN 5% % mEAZS KA R AR 1 400
6491 W EFE WS ThiE KA R AR 1 400
6492 B4R WS HhiE KA EAR 1 400
6493 AXF FlLs xRN ES KA R AR 1 400
6494 Bt FiLy b ER RAT KR 2 680
6495 FE A A 5% 4 fAZ2 KA & AR 3 1200
6496 G fm Ak DEES HIK KA EAR 1 400
6497 A A R OHE RAT KR 1 340
6498 WHEE Wk S A KA EAR 1 340
6499 FREE Flhy FWRNES KA EAR 1 400
6500 FEF 5% % TwRAZES KA R AR 1 340
6501 KB AE#E 'mx RAT KR 1 340
6502 KitE FLs ARAZES KA EAR 2 800




6503 T XK FLs ARAZES KA R AR 2 680
6504 & 4T FLs ARANZES KA EAR 4 1600
6505 B KE FLs ARANES KA R AR 1 400
6506 X A kLE kE KA EAR 2 680
6507 EES FLE KE KA R AR 1 340
6508 [ Ay FlLs RENEL RAT KR 1 340
6509 2 A2 A FlLg FHENESL RAT KR 1 400
A1t 11018 4145360




